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B.2 EERREHF—E
B.2.1 7779 bhK—R

FET® ID X 19954E 5 BICKME2FTHARNEL ZICDTEDD, ZRNEFNOREIZ LS ED
VR—-bMESHEDOZ L,

mEE | ID | B8 || #&REF | D | EE

QA1 g |J270 || QC1 i |J270

QA2 h | J270 || QC2 r | J270

QB1 i | J270 || QD1 p | J270

QB2 g | J270 || QD2 t | J270

WamES | FERER () | EHE

R3 10.1 & B 57 IR
WaEEs | EBER () | EHE HEEE | EEER (Q) | BHE
RA1 10.0 ®BEEEH || RC1 10.2 & )8 B IR
RA2 200.3k &BREEI || RC2 200.3k & B B IR
RA3 200.9k &BREES || RC3 200.8k &8 B RIS
RA4 200.2k EBEIEES || RC4 201.7k & )8 B IEH AL
RA5 5.11k & B RIEEH || RCH 5.12k &8 B I
RAG 5.13k &8 SR || RC6 5.11k &8 BRI
RA7 10.2 ®BIEEH || RCT 10.2 & )8 S IR
RAS 10.2 &8 IEIEP || RCS 10.2 &8 BRI
RB1 10.2 & B IR || RD1 10.2 &8 B I
RB2 201.4k ®BIEEH || RD2 200.5k & )8 B IR
RB3 201.5k & B RIEEH || RD3 200.9k & )8 S IR
RB4 200.9k ®BEIEES || RD4 201.8k & )8 B IR
RB5 5.12k ®BIEEH || RD5 5.12k & )8 S IR
RB6 5.10k B IEES || RD6 5.12k & )8 B IEH AL
RB7 10.2 &8RP || RD7 10.3 & B B IR
RBS 10.2 &8 P || RDS 10.2 &8 B RIS

W T | HEER (F) | BE (WE)

C1 1.0p BEgtS3Ivy

C2 10u 22 R (35V)
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e | EEBER (F) | BE (WE) B |EBER (F) | BE (WE)
CA1 | 1.0u HMEEZ IV || CCl|1.0p AR
CA2 | 1.0u HMEEZ IV || CC2|1.00 HBEESIvY
CA3 | 10u 22 &) (35V) || CC3 | 10p & 2R (35V)
CA4 | 1.0p HMERS IV || CC4 | 1.0u HEESIvY
CA5 | 1.0p HMEESIvY || CCh|1.0p BEge>3Iv7”
CAG | 10u 22 &)V (35V) || CC6 | 10p & 2B (35V)
CAT | 10u A2 EI(35V) || CCT | 10p 2R ) (35V)
CA8 | 1.0p HMEES IV || CC8 | 1.01 BEESIvY
CA9 CcC9

CB1 | 1.0u HMEEZ IV || CD1|1.0p HBEESIvY
CB2 | 1.0u HMEEZIv Y || CD2 | 1.0p HBEESIvY
CB3 | 10p &2 &) (35V) || CD3 | 10p 22 R (35V)
CB4 | 1.0u HMEEZ IV || CD4 | 1.0p HBEESIvY
CB5 | 1.0u HMEES IV || CD5 | 1.0u HBEEZIvY
CB6 | 10p &2 &) (35V) || CD6 | 10p 22 R (35V)
CBT7 | 10p &2 &) (35V) || CDT7 | 10p 2R (35V)
CB8 | 1.0u HEES IV || CDS | 1.0u HEESIvY
CBY | - - CD9 | - -
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B.2.2 TJYUF7UTJKR—FR

WmBE | EEER () | EHE WEmEE | FERER (Q) | EHE

R1 R33 -

R2 R34 99.8 & )8 S IR
R3 R35 239.9 & B B IR
R4 R36 10.1 & 8 B IR
R5 1.003k &8 IEIEH || R37 0.560k &8 BRI
R6 1.001k &BREES || R3S 160.6 &8 BRI
R7 - R39 240.5 &8 BRI
RS 1.007k & B RIEES || R40 3.006k &8 BRI
R9 0.821k &R IEEP || R41 1.002k & )8 S IR
R10 9.99k &8 R IEEH || R42 0 -

R11 240.4k &8 IEEH || R43 1.006k & )8 S IR
R12 1.000k &8 IEIEH || R44 0.569k & 8 B IR
R13 159.5 &8 IEIP || R45 159.7 &8 BRI
R14 1.004k &8 IEEH || R46 5k A 2 H T

R15 1.002k &8 R IEIEP || R47 10.0 &8 BRI
R16 0.562k & B R IEIEH || R48

R17 1.298k &8 R IEES || R49

R18 10.01k & B REES || R50

R19 - R51

R20 1.003k & BB IEEH || R52

R21 1.000k & B EIEEH || Rb3

R22 239.5 & B RIEEH || R4

R23 - R55

R24 1.003k &8 IEEH || R56

R25 0.566k &8 RIEET || R57

R26 159.5 &8 RIEES || R5S

R27 240.2 &8 RIEES || RH9

R28 0.560k & B REES || R60

R29 159.7 &8 P || R61

R30 - R62

R31 1.005k & B RIEET || R63

R32 0
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WmBE | EEER () | EHE HEmBE | FEEER Q) | BHE

RA1 10.2 ®BEEEH || RC1 10.2 & )8 B IR
RA2 1.002k &BREEH || RC2 1.005k & B B IR
RA3 100.0 &BREES || RC3 100.3 &8 BRI
RA4 0.511k B EIEEH || RC4 0.512k & )8 B IR
RA5 10.2 & BT || RCS 10.1 &8 K IR
RAG 10.1 &BREES || RC6 10.2 &8 BRI
RA7 0.514k & B RIEEH || RC7 0.512k & )8 S IR
RAS 1.003k &8 IEIEP || RCS 1.001k &8 BRI
RA9 0 RC9 0

RA10 10.1 &BREED || RC10 10.2 & B B IR
RA11 10.1 SBEEEH || RC11 10.2 & )8 B IEH AL
RA12 0.511k ®BEIEEH || RC12 0.512k & )8 S IR
RA13 0.514k & FEEER || RC13 0.512k &8 BRI
RA14 100.0 &RBFEEED || RC14 100.3 &8 BRI
RA15 1.003k &R || RC15 1.005k &8 BRI
RA16 0 RC16 0

RA17 10.0 & B RIEEG || RC17 10.2 & )8 S IR
RB1 10.1 & B RIEEH || RD1 10.1 & )8 S IR
RB2 1.003k & BRI || RD2 1.006k &8 BRI
RB3 100.3 &BREES || RD3 ?

RB4 0.512k & RIEEH || RD4 0.513k & )8 S IR
RB5 10.2 & REES || RD5 10.1 &8 BRI
RB6 10.1 &BREEI || RD6 10.1 & B B IR
RB7 0.512k &R REES || RDT 0.512k &8 BRI
RBS 1.001k &8 EIEES || RDS 1.002k & )8 B IR
RB9 0 RD9 0

RB10 10.1 &R REES || RD10 10.1 &8 BRI
RB11 10.1 ®BRIEES || RD11 10.2 & )8 B IR
RB12 0.512k & B IR || RD12 0.513k &8 B I
RB13 0.512k &BREES || RD13 0.512k & B B IR
RB14 100.3 & B RIEESL || RD14 ?

RB15 1.003k &BREES || RD15 1.004k & B B IR
RB16 0 RD16 0

RB17 10.1 &BRIEES || RD17 10.2 & )8 B IEH AL
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5 | HBER (F) | BE (E) #®5 | HEER (F) | BE (HE)

Cl | 0.1u BEE>Iv7 || CI6 | 6.8 X2 AU (35V)
2 | 1004 B (50V) C17 | 1004 EM (50V)

C3 | 100y B (50V) C18 | 0.1 HMEESIvY
C4 0.1u BMEES IV || C19 | 0.1u HEESIvY
C5 | 1004 B (50V) 20 | -

C6 | 0.1u HEES IV || 021 |6.8u &2 &) (35V)
C7 | 0.1pu BMEES IV || C22 |0.1u HEESIvY
s | 6.8 B> E ) (35V) || C23 | 1004 B (50V)

C9 |0.1p BMEES IV || C24 | 0.1p BEts3Iv”
C10 | 1004 B (50V) 025 | 6.8 B2 R )U (35V)
C11 | 100 B (50V) 026 | 0.1 WEESIv Y
C12 | 0.1p WEESIvY || C27 |68y B &) (35V)
C13 | 100 B (50V) €28 | 100 B (50V)
Cl4 | 0.1p HMEESIv Y || C29 | 0.1u HBEESIvY
C15 | 0.1 BMEES IV || C30 | 0.1p HEESIvY
5 | HEER (F) | BE (HE) BT | HEER () | EE (WE)

C31 |- C47 | -

032 | 6.8 2RV (35V) || C48 |-

€33 | 0.1 BEESIv7 || C49 |-

C34 | 6.8 B> E )V (35V) || C50 |-

C35 | - Ch51 | -

C36 | - Ch2 | -

C37 | - C53 |-

C38 | - Ch4 | -

C39 | - C55 | -

C40 | - C56 | -

C41 | - C57 | -

C42 | - C58 | -

C43 | - Ch9 | -

C44 | - C60 | -

C45 | - co61 | -

C46 | - C62 |-
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#5 | HBER (F) | BE (HE) #®5 | HBEHR (F) | BE (HE)
CA1 | 0.1p MEESIvZ || CCl |0.1u HBEtS3Iv”
CA2 | 6.8u 2 7 CC2 | 6.8u R

CA3 | 10p ME®SIv 7 || CC3 | 10p BEts3Iv7y
CA4 | 6.8 2RV (35V) || CCa | 6.8 BV H)U (35V)
CA5 | 22p MEEZSIvY || CO5 | 22p HEESIvY
CAG | 0.1 BEESIvY || CC6 | 0.1 MBS IvY
CA7 | 0.1p BEESIvY || ccr |01y BEES Iy
CA8 | 6.8u AR (35V) || CC8 | 6.8u &2 &) (35V)
CA9 |- cc9 | -

CA10 | 6.8 &> &)V (35V) || CC10 | 6.8 2RV (35V)
CA1L | 6.8 Y&V (35V) || CCI1 | 6.8 BV RV (35V)
CA12 | 22p MEES Iy || 12| 22p HEESI vy
CA13 | 0.1 ME®ESIv7 || CC13|0.1u HEESIvY
CA14 | 22p WMEESI vy || CCl4 | 22p WMEES3I vy
CA15 | 0.1 BMEESIvY || CCl5 | 0.1y BEES IV
CA16 | 10p BEtZ3Iv7 || CCl6 | 10p HEESIvY
CA17 | 100p BEtZ3Iv 7 || CC17 | 100p BEEIIVY
CA18 | 0.1u ME®ESIv7 || CC18 | 0.1u HEESIvY
CA19 | 6.8 &> &)V (35V) || CC19 | 6.8 2V RV (35V)
CB1 | 0.1z BEZSIv7 ||CDI | 0.1 BErSIv Y
CB2 | 6.8u AR CD2 | 6.8 B

CB3 | 10p #MEES3Iv || cD3 | 10p WEESI VY
CB4 | 6.8 2RV (35V) || CD4 | 6.8 2V RV (35V)
CB5 | 22p BEESIv” || cD5 | 22p mEESIv Y
CB6 | 0.1x BEESIvY || D6 | 0.1y BEES Iy
CB7 | 0.1y ME®ESIv7 ||CD7 |0.1u BEto3Iv7o
CBS | 6.8 > #)V (35V) || CDS | 6.8u 2B (35V)
CB9 |- CcDh9 |-

CB10 | 6.8y &> %)V (35V) || CD10 | 6.8 B2 AU (35V)
CBI11 | 6.8 2> & )V (35V) || CD11 | 6.8 2V R (35V)
CB12 | 22p MEESIv7 || cD12| 22p HEESI VY
CB13 | 0.1u ME®ESIv7Z || CDI3 | 0.1u BEEZIIVY
CB14 | 22p MEESIv7 || D14 | 22p HEESI vy
CB15 | 0.1u MEESIv 7 || CDI5 | 0.1u BEESIVY
CB16 | 10p BEt®ZIv 7 || CDI6 | 10p BEEZIIVY
CB17 | 100p ME®>Iv7 || CD17 | 100p HEESIvY
CBI18 | 0.1u MEESIv7Z || CDIS | 0.1u BEESIVY
CB19 | 6.8 K2R (35V) || CD19 | 6.8 2RV (35V)
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B.2.3 7B8vyZ R4 /,R—RK

#®5 | FEER Q) | EHE iy | EBER (Q) | EHE

R3 | 0.0 R59 | 0.0

R4 | 10.2 &8 EIE#EPT || R60 | 10.2 & )8 K IR HU
R5 | 329.5 &8 BRIE#EPL || R73 | 1.000k A=Yy R
R6 | 1.006k & ERIEED || R74 | 1.001k oYy R
R7 |10 &8 BEE#EPT || R75 | 1.002k &8 BRI P
RS | 329.2 &8 EIE#EPL || R76 | 1.001k &8 BRI HT
R9 | 1.001k & BRIEED || R77 | 823 &8 BRI
R10 | 10 & B RIEED || R78 | 240.7 &8 BRI P
R11 | 0.0 R79 | 565 A=Yy R
R12 | 10.2 & B IE#EPT || RSO | 10.01k &8 BRI
R17 | 331.2 €@ IRHEDT || R81 | 159.2 oYy R
R19 | 10.1 &8 EIEHEPT || RS2 | 1.004k & )8 K IR HU
R20 | 329.8 & B R IEHEPT || R83 | 0.998k &8 BRI HT
R22 | 10 & @R IEHEDT || R84 | 1.000k A=Yy R
R29 | 330.8 & B IEHEDT || R85 | 1.006k &8 BRI P
R32 | 330.0 & @R IEHEDT || RS6 | 1.299k A=Yy R
R41 | 3294 & @R IE#EPT || R87 | 10.06k &8 BRI
R43 | 10 & B R IEHEPT || RS | 0.998k &8 BRI P
R44 | 329.0 &8 EIE#EPT || R91 | 0.0

R46 | 10 &8 EIEHEHT || R92 | 10.2 &8 BRI HT
R51 | 0.0 R93 | 329.5 A=Yy R
R52 | 10.2 &8 FIE#EPT || R94 | 1.000k & )8 K IR HU
R53 | 329.3 &8 EIE#EPT || R95 | 10 &8 BRI HT
R54 | 1.001k & @R IRED || RO6 | 329.5 oYy R
R55 | 10 €@ IEEDT || RO7 | 1.001k &8 BRI P
R56 | 330.4 &8 RIE#EPT || R98 | 10 A=Yy R
R57 | 1.004k &8 FIE#EPT || R99 | 0.0

R58 | 10 &8 BEIE#EPT || R100 | 10.3 &8 BRI P
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FE | HBER (F) | BE (WE) | HBEH (F) | BE (HWE)

C2 | 0.1p BEEZSIvY || Cr2 |0.1pu BEESIv7
C3 | 6.8u &) (25V) || CT9 | 0.1p BEESIv7
C4 | 6.8u &2 &) (25V) || C80 | 100p B (50V)

C5 | 6.8u K& (25V) || C81 | 0.1p BEESIv7
C7 | 0.1p HERZIv Y || C82 | 100u B (50V)

C8 | 0.1u HEESIv Y || C83 |0.1pu BEESIvY
C9 | 0.1u HEESIv Y || C84 | 100p B (50V)

C10 | 6.8u AR (25V) || C85 | 100u B (50V)
C11 | 6.8u R &) (25V) || C86 | 0.1p BEtSIv7
C12 | 0.1 HEES Iy || C87 | 100 or 0.1 7u

C17 | 6.8u &) (25V) || C88 | u

C20 | 0.1p BEEZIvY || C89 |0.1pu BEtSIv7
C30 | 6.8u R &) (25V) || C90 | 100p B (50V)
C33 | 0.1u HEESIv Y || CI1 | 100p B (50V)

C43 | 6.8u R &) (25V) || C92 | 100p B (50V)
C46 | 0.1p HEES IV Y || C94 |0.1p BEESIvY
C54 | 0.1 HEES IV Y || 095 |6.8u 2B (25V)
C55 | 6.8u R (25V) || C96 | 6.8u 2R (25V)
C56 | 6.8p K& (25V) || C97 | 6.8u 2B (25V)
C57 | 6.8 &V (25V) || C99 | 0.1p HEESIvY
C59 | 0.1u HEESIv Y || Cl100 | 0.1p BEESIv7
C60 | 0.1u HEESIv Y || Cl101 | 0.1p BEESIv7
C61 | 0.1p HELZIv Y || Cl102 | 6.8u 22 &) (25V)
C62 | 6.8u &2 &) (25V) || C103 | 6.8u 2RI (25V)
C63 | 6.8u &2 &) (25V) || C104 | 0.1p BEESIvY
C64 | 0.1p BEESIv Y || Cl106 | 0.1p HEES IV
C69 | 6.8u K2 &) (25V) || C107 | 6.8u 2RI (25V)
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fT4%C By oFA T 0TS LY —2X

Cpg.ascCll

C.1

#
#

#
#
#

Clock patterns to read HKP

500 # 8 us/t
operation_type 100 # reset counter and read once

set_clock_tick

Te

AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Re

Syn Syn Clk Clk Re
Fr

0

#

Zt

st

11 14 31

10

start

10
20
30
30
30

30
30
30
30
30
30

30
30

H* #

30
30

#* #

30

**

30
30

H* #

30

30

30
30

H* #

30
30

#* #

30

**

30
30

#* #

30

30

30
30

H* #

30
30

#* #

30

**

30
30

H* #

anNN-dAT A A AT A A A A A A A A A A A A A A A A A A A A A A A A A A A A

PP PP P L PP PP P PP PP PPPPPLEPLPLP PP PE PP PP P PP

end
#

500 # 8 us/t

operation_type 101 # read

set_clock_tick

Te

AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Re

Syn Syn Clk Clk Re
Fr

0

#

Zt

st

14 31

11

10

start

30
30
30
30
30

FLIFE FTIE It}



[eNeNoloNoNeloclecNololcNeolocNoNoloNeoNololoeleoNo oo NoNel
MOMMMOMMOMOMONOOMHNONHOHOMMOMHNNNNMNNONNN
HHEHFHEAEHRAFRHRBEHEAEAREEREHEREEER SRR

Lo B e B T e e s T s T s T e T T B s s e e W s W B B s B e B B e |

R I S I I o e B B I I R I B e B I I I I I |

PP P PP PP PP PP PP L PP P PLPPP PP PP PP

end
#
#

- 500 # 8 us/t
operation_type 102 # end

set_clock_tick

Te

AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Re

Syn Syn Clk Clk Re
Fr

0

#

Zt

st

14 31

11

10

start

30

[cleNeloloNoNeololoNolclcBoRolelo oo Neol R oNelchololoNeoBoNoloNoNo o leoNel
MMM MOMHMOMOMOMOHOONDMNOMHMNHOMHMMOMHOONMONOMHMNMHMMOMONNNONNONON
H HHHEHEFEHRAEHETEEHRERBEHEEEEEEEEEHEHEEEERE SRR HEHE

Lo T e T e W T s s T B s T e T e B B e s s s T s T T T T T s T s T s e B e B B B W B e W |

Rl I I S S S e = B e e e e I R R R B S S B B e B B I I ]

P PP PP PP P PP PP L PL PP PP PE PP P LP PP PPL PR P PP

end
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6.56
8.16
9.76
10.08
10.24

39 6.24
41
45 7.20
47 7.52
51
53 8.48
58 9.28
61
63
64

#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#

T A A A A A A A A A A A A A A A A A A A A A A

PP P PP PP PP PP PP L PL PP PP P PP PP P PP PP

#

~—

t

end
#

160 ns/t

#

2

operation_type

set_clock_tick

A/D 2 Pixels in Even Row

203 #

80 mns/tick

#
#

Te

AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Re

Syn Syn Clk Clk Re

Fr
0

2t us

st

start

ONOFTOONODIFHFTOONRITOONNMIHOONOFTO OWNOIL O O
SN FOOOIAANTFT OMNMOODOANAIFTIONOOANMID O© OO M-I © oD
OO OO0 0O A A A A" "N ANANANANNMMMOMOMOMP H I

O AN M I WOMNOOONMNO 7 ANMELONOWWONO
HANNOFTOLOMOI A A A T A A 1 1 1A NANANANANAANANNANANMNM

34 5.44

#

A A A A A A A A A A A A A A A A A A A A A A A A A

PP P PP PP PP PP PP PL PP PP E PP PP PP PR PP PP

-~
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40 6.40
6.56

41

46 7.36
48 7.68
8.16

51

54 8.64

9.76
10.08
10.24

59 9.44
61
62 9.92
63
64

#
#

Lo B B s M B W W W W |

Lo B B s M B W e W W W |

Lo W B e B e T e e W W e W |

L B T s e I e W B s W o W |

L B T s e I e W B s W o W |

L B N s I e I e B s W e W |

T A A A A A A A A A A A A A A A A A A A A A A

PP P PP PP PP PP PP L PL PP PP P PP PP P PP PP

end
#

160 ns/t

#
204 #

operation_type

set_clock_tick

Start & Reset 0dd Row

80 mns/tick

#
#

Te

Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

2t us

st

start

0.96
24 3.84

160 ns/t

#
205 #

operation_type

set_clock_tick

Start & Reset Even Row

80 mns/tick

#
#

Te

Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

2t us

st

start

0.96
48 7.68

PP P PP

end

160 ns/t
End

#
206 #

operation_type

set_clock_tick

80 mns/tick

#
#

Te

Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

Ztus

st

start

.16
0.32
0.48
0.64
0.80
0.96

.12

.28
1.44

L e W e B W B M |

™ o A

PP P PP PP PP
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1.60
1.76
1.92

10

11
12

o

PP P PP PP PP

3.36
4.96
6.56
8.16
9.76

23 3.68
26 4.16
29 4.64
32 5.12
34 b5.44
37 5.92
39 6.24
40 6.40
41

42 6.72
50 8.00
51

56 8.96
57 9.12
60 9.60

21
31
61

#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#

- 41T A A AT A AT A A A A A A A A AT A A AT A AT A A A A A A A A A A A A A A A A A A A A A AN

PP PP P PP PP PP L PP PE P PP PP PP PP P PP PPEEPLPLP PP PEPL PP P PP

end
#

160 ns/t

#

2

operation_type

#
#

set_clock_tick

Start of 2nd Frame

207 #

80 mns/tick, total 11.36us

Te

Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

Zt s

st

14 31

11

start

©WWO OO
OFONDF F D DO
® 0~ ~ S N® )
L L O™ © O N~
NMWO A=A = =N

N W o W
O FON©ODOOO M
A NN HONMN—AH A A -

#
#
#
#
#
#
#
#
#
#

L B e W W W B B B e B |

18

PP PP PP PP PP
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t 1 1 1 1 11 1 1 11 | | (. 1 #
t 1 1 11 11 10 ° 1 1 1 1 1 #
t 1 1 11 1 1 11 I 1 #
end

#

set_clock_tick 2 # 160 ns/t

operation_type 208 # Start of 0dd Row

# 80 mns/tick, total 4.8us

# Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo Te

# Fr Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad st
start 0 1 2 3 4 5 6 7 8 9 10 11 14 31

t 6 I 1 11 I
t 12 1 | I 11 11 11 | | (. I #
t 6 1 11 1 1 11 I
t 24 1 1 | 1 1 11 I A
t 12 1 1 | 11 11 I
end

#

set_clock_tick 2 # 160 ns/t

operation_type 209 # Start of Even Row

# 80 mns/tick, total 4.8us

# Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo Te

# Fr Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad st
start 0 1 2 3 4 5 6 7 8 9 10 11 14 31

t 6 1 1 11 11 I
t 12 1 | 1 | 1 11 I
t 6 1 1 1 | 1 11 I
t 24 1 1 | | 1 11 I
t 12 1 1 | | 1 11 I
end

#

set_clock_tick 2 # 160 ns/t

operation_type 210 # Reset Frame (0dd Row)

# 80 ms/tick

# Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo Te

# Fr Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad st
start 0 1 2 3 4 5 6 7 8 9 10 11 14 31

t 32 1 | | I I
end

#

set_clock_tick 2 # 160 ns/t

operation_type 211 # Reset Frame (Even Row)

# 80 mns/tick

# Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo Te

# Fr Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad st
start 0 1 2 3 4 5 6 7 8 9 10 11 14 31

t 32 1 1 1 & 1 1 1 I 1 #
end

#

set_clock_tick 2 # 160 ns/t

operation_type 214 # Start & Reset 0dd Row again
# 80 mns/tick

# Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo Te

# Fr Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad st
start 0 1 2 3 4 5 6 7 8 9 10 11 14 31

t 6 i 1 1 11 I
t 12 1 | I 11 11 11 | | (. I #
t 6 1 1 1 11 11 11 | | (. I #
t 24 1 1 | 11 11 I
t 12 1 1 | 11 11 I
end

# #

# Clock patterns to reset pixels during reading HAWAII #

# #

set_clock_tick 2 # 160 ns/t

operation_type 271 # A/D 1st & 2nd Pixel

# 80 mns/tick

# Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo Te

# Fr Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad st
start 0 1 2 3 4 5 6 7 8 9 10 11 14 31

t 18 1 1 1 11 I 1 #
t 6 I 1 11 I 1 #
t 12 1 | | 1 1 11 I 1 #

181

136 21.76
137 21.92
138 22.08

18
24
48
60

Zt s

32 5.12

Ztus

32 5.12

Zt us

6 0.96
18 2.88
24 3.84
48 7.68
60 9.60

2t us

18 2.88
24 3.84
36 5.76



© 0OV NVO OO0 WANOWFTF O OAN
n5448667902457
O N O ONMC-A A= ANNNNN
O~ - A" A AN ANANANANANNN

MW O ONOWONO - A
NOWOWOO - MMOMOMOMSIE ¢
O~ A A A A A~ - -

PP P PP PP PP PP P PP OH

o
a

160 ns/t

#

2

operation_type

set_clock_tick

A/D 2 Pixels in 0dd Row

272 #

80 mns/tick

Te

AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Re

Syn Syn Clk Clk Re
Fr

0

#

2t us

st

start

O NOFOONWNMIFTOONRIHOONOMTHTOONOL O OWAN
N F OO A NFTOMNMODOANIFTOMNMOOANML O©OO M
QOO OO0 A A A" AN ANANANANNMMMMMOME F

O~ N MW OO - NMSFT W O I~
HANMOIFOLOMODA " - A+ A1 ANNANNNANANN

#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#

R B B I I I I I I = o R I e B S I B B I I ]

PP P PP L P L PP PP L PP PP PP PL PP PP PP

4.96
6.56
8.16

33 5.28
46 7.36

31
41
51

Rl B e e S e = R S S I S S S B S I e B |

P PP PP L PP P PP PP PP PP PP PP PP
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57 9.12

9.76

61

62 9.92

63
64

#
#
#

10.08
10.24

™ o o

PP PP PP PP

-~

t

end
#

160 ns/t

#

2

operation_type

set_clock_tick

A/D 2 Pixels in Even Row

273 #

80 mns/tick

#
#

Te

Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

2t us

st

start

.16

0.32
0.48
0.64
0.80
0.96

.12

1.28

.44

10 1.60
1.76
1.92

14 2.24
20 3.20
21 3.36

11
12

#

4.96
6.56
8.16

34 5.44
39 6.24
45 7.20
47 7.52

31
41
51

A A A A A A A A A A A A A A A A A

PP PP P PP PP PP PP PPL PP PLP P PP PP PP

EaE R S B B I e B e e e B R I I I e I I I

PP P PP PP PP PPE PP PL P PP PP PP PP
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9.76
10.08
10.24

58 9.28
59 9.44
60 9.60

61
62 9.92

63
64

#
#
#
#
#
#
#
#
#
#
#
#

o

PP PP PP PP PP PP

end
#

160 ns/t

#
274 #

operation_type

set_clock_tick

Start & Reset 0dd Row

80 mns/tick

#
#

Te

Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

Zt us

st

start

0.96

PP P PP

end

160 ns/t

#

275 #

operation_type

set_clock_tick

Start & Reset Even Row

80 mns/tick

#

Te

Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

2t us

st

start

0.96

12
12

end
#

160 ns/t

End

#

276 #

operation_type

set_clock_tick

80 mns/tick

#
#

Te

Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

Ztus

st

start

O NOFTT O ONWOMITOONRFTFOONOTHOONWOITL O OAN
HMNF OO AANTFT OMOODOANIFTIIONMNOVDOANMILO©OOWO M
QO OO 0O AT A" A AN ANANANANNMMMMOMOMF F <

O NMI IOONMNOVD®O - ANMF O O N
HANMOFOOMOOODA A "4~ A " A"+ NN ANNNNANAN

#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
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4.96
6.56
8.16
9.76

28 4.48
29 4.64
33 5.28
39 6.24
47 7.52
55 8.80
57 9.12
58 9.28
60 9.60

31
41
51
61

#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#

- 4T AT A A AT A A A A A A AT A A A A A A A A A A A A A A A A A AN A

PP P PP PP PP PP PP L PP PP PP PP PP P PR PP PP

end

**

+*

Wait Clock

#
#

2 # 160 ns/tick

set_clock_tick

9]

I

o

—

a,

[

==

n,

[

==

n,

[

==

o,

[

==

(2]

~

#
i

[ela]

n <

Q

~

Q

~

i~

~

(&}

i~

~

(&}

a

Q P>

mw [ )

2o

I >

[=IR]
o
A
FE]
]
N
)
(o

o #

st

Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

14 31

11

10

8

start

end

#

Clock patterns to read HAWAII

#
#
#

"Load"

without

- # 160 ns/t
operation_type 402 #
80 mns/tick, total 5.12us

#
#

set_clock_tick

A/D 2 Pixels in 0dd Row

Te

Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

Zt s

st

start

O N0 O ONWOWMSTHT O OANFH OO AN
HMNJF OO AANTFT ONMNOOODOAN I IO~
OO OO0 HHAH === ANNNNNON

O - AN M D O N~
HANMOYLWOMNOOD A A A A — A -

#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#

PP P PP L PP PP PP P L PP PP
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o
FOONOIHOONOFTO ONOIHOONDHTOONODIHTTOONWHOON®ETOONOIHOONOAN
0235680134689124679024578023568013468912467900
MOMMMOMIP F I HTOWLWLWLWLW OO OOOONMNNMDNMNDNDNDODOOWOWOWOEMWOWONDNOD N O A
DO T NMNMFHWWONMNODNDO ATANMIFLONOODNDOATANMNMIFILOONOONO ANMIFONODNDO - NMS
HA AN ANANAANNANANANNOOMOOMOMHMHOOMHOOMHOMOSHI I I TWOWWOLWLWLWLW0LWLWLW O OO OO

#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#

I A A A AT A A AT AT A AT A A A A AA A A A A A A A A A A A A A A A A A A A A A A

PP P PP PP PP PP P PL PP PP PPPL PP PP PPLPE L PP PP PPL PP PP P PP PP O0H

°
q

160 ns/t

#

2

operation_type

set_clock_tick

A/D 2 Pixels in Even Row

403 #

80 mns/tick, total 5.12us

Te

Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

Zt s

st

start

O N0 FOONWLHTO ONFHOON O
H N F OO A ANFTOMNMOOOANIF O~ WO
OO0 O0OO0OO0O A H A +-H "= ANANNNNNM

O~ N M DO N~ WD
HANMNMIFOONMOODD A~ A A A A A A

#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#

R B I S I I B B I S I I I S I B I

P PP PP L PP PP P PP PP PP PP
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o
QSO NOFHTTOONNFHTOONDIHOONRHTO ONOIHOONBIOOWNNIHOOWNOWLEHOOANOAN
23568013468912467902457802356801346891246790&
MOMMOMSSP H I HOWWWWLW OO0 OO ONMNNMMNMDNIDNDODOOWOWOWOMWOWOONO OO OO
O ANMFILWONMNIONO TNMIL ONOVONO AANMPLONOOODNDOTANMILONOOWODO - NM Y
NN AN ANANANANNANNOOMOMOMOOMMHMOMHMHMOIHIFIHI I I I OWWOWLOLWLWLWLWLWO OO OO

#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#

I A A A A A A AT AT A A A A A A A A A A A A A A A A A A A A A A A A A A A A

end
#

PP P PP PP L P PP P PP PEL PP PP PE PP PPLPLPLPPPEEPLPLPLPPEPLPL PP PP

# 160 ns/t
End

2

operation_type

set_clock_tick

406 #

80 mns/tick

#
#

Te

AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Re

Syn Syn Clk Clk Re

Fr
0

2t us

st

start

ONOFOONOIHFTOONRFHFOONOIHO
SO OO ANF OMODOANTFONOOOAN
OO 00O 0O A A A A" AN ANNNNNMOM

O— AN M DONOWOWO®O
HANOMOFTOWLONOOO A" - A A+ AN

R S I I S I = e B I I I R S I ]

PP PP PP PP P PP PP LPL PP PP
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3.36
4.96
6.56
8.16
9.76
0.08
10.56
12.48

21

28 4.48

31

32 5.12

34 5.44

40 6.40

41

45 7.20

48 7.68

51

53 8.48

57 9.12

61

Zt s

Zt s

18 2.88

24 3.84

36 5.76

42 6.72

66

78

103 16.48
105 16.80
110 17.60

#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
st
#
#
#
#
#
#
#
#
#
#

Te
st

14 31
|
Te

14 31

11
11

10
10

640 ns/t
A/D 1st & 2nd Pixel

NOP

9

|
640 ns/t

#
8
I

#
700 #

AD P/S HKP HKP HKP HKP Lo

Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad
7
#

AD P/S HKP HKP HKP HKP Lo

701 #

5
|
Re
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad
7

Re

Syn Syn Clk Clk Re

Fr

0

I

Syn Syn Clk Clk Re

80 mns/tick
Fr

0

|

80 mns/tick

operation_type

- 41T A A AT A AT A A A A AT A AT A A A A AT A A A AT A AT A A A A A A A A A A A A A A A AN A

set_clock_tick

set_clock_tick
operation_type

end

# Clock patterns to read HAWAII slowly #
start

end

#

start

#

PP P PP PP PP PP PP LPE PP PP PE PP PP PPPLEPLPPPLPPLPL PP P PP

#
#
#
#
#
#
#
#

PP P PP PP PP
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135 21.60
136 21.76
137 21.92
138 22.08
139 22.24
140 22.40
141 22.56
142 22.72

[Te)
AN~ A A

PP P PP PP P OH

°
=}

640 ns/t

#

702 #

operation_type

set_clock_tick

A/D 2 Pixels in 0dd Row

80 mns/tick

Te

AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Re

Syn Syn Clk Clk Re
Fr

0

#

2t us

st

start

O ANOFOONOIFIHTOONRITOONNIFHOONOI O ON
AN FOO0OODAANANFT OMDODOANFTONMOOOANMILO OO M
OO OO0 OO A A A 1" AN ANANANANNOOMOOMOOMMMmOME

O = AN MTI LOONMNOWOWOO - ANMI LD O N~
S NN ONMNOOD A A" " A" ANNANNANANANN

#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#

A A A A A A A A A A A A A A A A A A A

PP PP P EL P PP PPELPELPLPPPL PP PP PP PP

4.96
6.56
8.16

33 5.28
39 6.24
52 8.32

31
41
51

AR B I R I I B B B I B e = = S B B S I I I I |

P PP PP PP P PP PP L L L PP PP PP P L PL PP P PP
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@

0 O OWANOAN
N O~ -
- =)
DO
0 OO - N M
LW W OO OO

#
#
#
#
#
#
#

end
#

640 ns/t

#

4

clock_tick

set_

A/D 2 Pixels in Even Row

703 #

operation_type

80 mns/tick

#
#

Te

Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

2t us

st

start

O N FOONOIHOONDRTFTO ONOIFHOONOWOI © WA
AN OO0V A ANTF ONMNOODOANTFTONMNMOONMILOO©WO M
OO OO OO A A A AN ANANANNANMMMMOMMF <

O - NMI O OOV O AN MTF OO N
HANMNMIFOLOMNMNOD A A A A A A~ ANNANANANNANAN

R B B I = B B = B S I R e B I I I o I |

P PP PP L PP PP P PP PP PP PPLPPPL PP PP

4.96
6.56
8.16

32 5.12
34 5.44
40 6.40
41

45 7.20
53 8.48

31
51

A4 AT A A A A A A A A A A A A A A A A A A A A A A A A H A

J L R R L S R L E P gt
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6.56
8.16
9.76

39 6.24
45 7.20
47 7.52
53 8.48
58 9.28
60 9.60

41
51
61

#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#
#

T AT A A A AT A AT A A A A A A A A A A A A A A AN A

PP P PP PP L P PP PPLPLPPLPP P PP PP PP

end
#

640 ns/t

#
707 #

operation_type

set_clock_tick

Start of 2nd Frame

80 mns/tick

#

Te

AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Re

Syn Syn Clk Clk Re

Fr
0

2t us

st

14 31

11

start

18 2.88
24 3.84
36 5.76
42 6.72

#
#

#
#

© 0 O O
0 < < 0
O N © ©
o

[se el
© W O O
O~ -
* H HH

110 17.60
135 21.60
136 21.76
137 21.92

#
#
#

]

#

]

138 22.08
139 22.24
140 22.40
141 22.56
142 22.72

#
#
#
#
#

]
]
]
]
]

12

PP PP

o

640 ns/t

#
708 #

operation_type

set_clock_tick

Start of 0dd Row

80 mns/tick

#
#

Te

Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

2t us

st

start

0.96

12

12

end
#

640 ns/t

#
709 #

operation_type

set_clock_tick

Start of Even Row

80 mns/tick

#
#

Te

Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo
Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad

Fr
0

Zt s

st

14 31

11

10

8

start

192



t 6 1 | | 11 1 | 11 | | | | | # 6 0.96
t 12 1 | | | T 11 11 | | | | | # 18 2.88
t 6 1 1 1 | T 11 11 | | | | | # 24 3.84
t 24 1 1 | 1 1 1 1 1 [ I & | | # 48 7.68
t 12 1 1 | | T 11 11 | | | | | # 60 9.60
end

#

set_clock_tick 4 # 640 ns/t

operation_type 710 # Reset Frame (0dd Row)

# 80 mns/tick

# Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo Te

# Fr Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad st 2t us
start 0 1 2 3 4 5 6 7 8 9 10 11 14 31

t 3 1 | 1 ¢ ¢ 11 1 1 1 1 | # 32 5.12
end

#

set_clock_tick 4 # 640 ns/t

operation_type 711 # Reset Frame (Even Row)

# 80 mns/tick

# Syn Syn Clk Clk Re Re AD P/S HKP HKP HKP HKP Lo Te

# Fr Lin Pix Lin set ad Trg Clk Trg P/S SW Rst ad st Ztus
start 0 1 2 3 4 5 6 7 8 9 10 11 14 31

t 3 1 1 ' ¢ 11 1 1 1 1 1 # 32 5.12
end

#

#

193



C.2

spv.ascii

#- #
# Clock routines to read HAWAII #
# #

begin stop_clk # Initial(inactive) state

ccd_operation 960 200

end
begin reset_frame # Reset all pixels quickly
ccd_operation 0 211 # "Sync Frame" up, "Reset" down
loopl_start 256
ccd_operation 0 210 # Reset all pixels in odd row
ccd_operation 0 211 # Reset all pixels in even row

loopl_continue
ccd_operation 5120 200
end

begin reset_scan
ccd_operation 0 201
loopl_start 255
ccd_operation 0 202
loopl_continue

ccd_operation 0 205
ccd_operation 0 203
loopl_start 255
ccd_operation 0 203
loopl_continue

loop2_start 255
ccd_operation 0 204
ccd_operation 0 202
loopl_start 255

ccd_operation 0 202
loopl_continue

ccd_operation 0 205
ccd_operation 0 203
loopl_start 255
ccd_operation 0 203
loopl_continue
loop2_continue

ccd_operation 0 206
end

begin scan
ccd_operation 0 207
loopl_start 255
ccd_operation 0 202
loopl_continue

ccd_operation 0 209
ccd_operation 0 203
loopl_start 255
ccd_operation 0 203
loopl_continue

loop2_start 255
ccd_operation 0 208
ccd_operation 0 202
loopl_start 255

ccd_operation 0 202
loopl_continue

ccd_operation 0 209
ccd_operation 0 203
loopl_start 255
ccd_operation 0 203
loopl_continue
loop2_continue

# End

# Start of frame & 2 pixels
# 1st row
# Read 2 pixels in odd row

Start & reset 2nd row

1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

H B HH

510 more rows

Start & reset odd row
1st & 2nd pixel

512 pixels

Read 2 pixels in odd row

®* H H O

Start & reset even row
1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

®* H HH

# End of frame

# Start of frame & 2 pixels
# 1st row
# Read 2 pixels in odd row

Start of 2nd row

1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

H* H R

510 more rows

Start of odd row

1st & 2nd pixel

512 pixels

Read 2 pixels in odd row

HOH O HH

Start of even row

1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

H* H OH H
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ccd_operation 0 206
end

begin non_stop
loop3_start -1
ccd_operation 0 201
loopl_start 255
ccd_operation 0 202
loopl_continue

ccd_operation 0 205
ccd_operation 0 203
loopl_start 255
ccd_operation 0 203
loopl_continue

loop2_start 255
ccd_operation 0 204
ccd_operation 0 202
loopl_start 255

ccd_operation 0 202
loopl_continue

ccd_operation 0 205
ccd_operation 0 203
loopl_start 255
ccd_operation 0 203
loopl_continue
loop2_continue

ccd_operation 0 206
loop3_continue
end
#
#_

H* OH O H H* H

H B HH

End of frame

Start of frame & 2 pixels
1st row
Read 2 pixels in odd row

Start & reset 2nd row

1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

510 more rows

Start & reset odd row
1st & 2nd pixel

512 pixels

Read 2 pixels in odd row

Start & reset even row
1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

End of frame

#

#

# Clock routines to read HAWAII without loading data to VMI

#-

#

#
begin _reset_scan
ccd_operation 0 201
loopl_start 255
ccd_operation 0 402
loopl_continue

ccd_operation 0 205
ccd_operation 0 403
loopl_start 255
ccd_operation 0 403
loopl_continue

loop2_start 255
ccd_operation 0 204
ccd_operation 0 402
loopl_start 255

ccd_operation 0 402
loopl_continue

ccd_operation 0 205
ccd_operation 0 403
loopl_start 255
ccd_operation 0 403
loopl_continue
loop2_continue

ccd_operation 0 406
end

begin _scan
ccd_operation 0 207
loopl_start 255
ccd_operation 0 402
loopl_continue

#* H OHH

H* H H O H

#

Start of frame & 2 pixels
1st row
Read 2 pixels in odd row

Start & reset 2nd row

1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

510 more rows

Start & reset odd row
1st & 2nd pixel

512 pixels

Read 2 pixels in odd row

Start & reset even row
1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

End of frame

Start of frame & 2 pixels
1st row
Read 2 pixels in odd row
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ccd_operation 0 209
ccd_operation 0 403
loopl_start 255
ccd_operation 0 403
loopl_continue

loop2_start 255
ccd_operation 0 208
ccd_operation 0 402
loopl_start 255

ccd_operation 0 402
loopl_continue

ccd_operation 0 209
ccd_operation 0 403
loopl_start 255
ccd_operation 0 403
loopl_continue
loop2_continue

ccd_operation 0 406
end
#
# 0.1sec wait clock
# K.Motohara (1999/4/24)
#
begin wait0100
ccd_operation 0 301
loopl_start 100
wait 1000
loopl_continue
ccd_operation 0 301
end

H* H OH R ®* H OHH

®* O H H

Start of 2nd row

1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

510 more rows

Start of odd row

1st & 2nd pixel

512 pixels

Read 2 pixels in odd row

Start of even row

1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

End of frame

*

# Clock routines to read 64x64 #

*

begin 64reset_scan
ccd_operation 0 201
loopl_start 31
ccd_operation 0 202
loopl_continue

ccd_operation 0 205
ccd_operation 0 203
loopl_start 31
ccd_operation 0 203
loopl_continue

loop2_start 31
ccd_operation 0 204
ccd_operation 0 202
loopl_start 31

ccd_operation 0 202
loopl_continue

ccd_operation 0 205
ccd_operation 0 203
loopl_start 31
ccd_operation 0 203
loopl_continue
loop2_continue

ccd_operation 0 206
end

begin 64scan
ccd_operation 0 207
loopl_start 31
ccd_operation 0 202
loopl_continue

H* H OH ®* H HH

®* B HH

Start of frame & 2 pixels
1st row
Read 2 pixels in odd row

Start & reset 2nd row

1st & 2nd pixel

62 more pixels

Read 2 pixels in even row

62 more rows

Start & reset odd row
1st & 2nd pixel

62 pixels

Read 2 pixels in odd row

Start & reset even row
1st & 2nd pixel

62 more pixels

Read 2 pixels in even row

End of frame

Start of frame & 2 pixels
1st row
Read 2 pixels in odd row
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ccd_operation 0 209
ccd_operation 0 203
loopl_start 31
ccd_operation 0 203
loopl_continue

loop2_start 31
ccd_operation 0 208
ccd_operation 0 202
loopl_start 31

ccd_operation 0 202
loopl_continue

ccd_operation 0 209
ccd_operation 0 203
loopl_start 31
ccd_operation 0 203
loopl_continue
loop2_continue

ccd_operation 0 206
end
#
#_

H* H OH R ®* H OHH

®* O H H

Start of 2nd row

1st & 2nd pixel

62 more pixels

Read 2 pixels in even row

62 more rows

Start of odd row

1st & 2nd pixel

62 pixels

Read 2 pixels in odd row

Start of even row

1st & 2nd pixel

62 more pixels

Read 2 pixels in even row

End of frame

*

# Clock routines to read 128x128 #

#_
#
begin 128reset_scan
ccd_operation 0 201
loopl_start 63
ccd_operation 0 202
loopl_continue

ccd_operation 0 205
ccd_operation 0 203
loopl_start 63
ccd_operation 0 203
loopl_continue

loop2_start 63
ccd_operation 0 204
ccd_operation 0 202
loopl_start 63

ccd_operation 0 202
loopl_continue

ccd_operation 0 205
ccd_operation 0 203
loopl_start 63
ccd_operation 0 203
loopl_continue
loop2_continue

ccd_operation 0 206
end

begin 128scan
ccd_operation 0 207
loopl_start 63
ccd_operation 0 202
loopl_continue

ccd_operation 0 209
ccd_operation 0 203
loopl_start 63
ccd_operation 0 203
loopl_continue

loop2_start 63
ccd_operation 0 208
ccd_operation 0 202
loopl_start 63

ccd_operation 0 202

H H H HH H* H#H

H* H OHH

®* H HH

H* H OH R

*

Start of frame & 2 pixels
1st row
Read 2 pixels in odd row

Start & reset 2nd row

1st & 2nd pixel

126 more pixels

Read 2 pixels in even row

62 more rows

Start & reset odd row
1st & 2nd pixel

62 pixels

Read 2 pixels in odd row

Start & reset even row
1st & 2nd pixel

62 more pixels

Read 2 pixels in even row

End of frame

Start of frame & 2 pixels
1st row
Read 2 pixels in odd row

Start of 2nd row

1st & 2nd pixel

126 more pixels

Read 2 pixels in even row

126 more rows

Start of odd row

1st & 2nd pixel

126 pixels

Read 2 pixels in odd row
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loopl_continue

ccd_operation 0 209
ccd_operation 0 203
loopl_start 63
ccd_operation 0 203
loopl_continue
loop2_continue

ccd_operation 0 206
end
#

# Start of even row

# 1st & 2nd pixel

# 126 more pixels

# Read 2 pixels in even row

# End of frame

#-

#

# Clock routines to read HAWAII 4 times slowly #

#

#_
#
begin slow_reset_scan
ccd_operation 0 701
loopl_start 255
ccd_operation 0 702
loopl_continue

ccd_operation 0 705
ccd_operation 0 703
loopl_start 255
ccd_operation 0 703
loopl_continue

loop2_start 255
ccd_operation 0 704
ccd_operation 0 702
loopl_start 255

ccd_operation 0 702
loopl_continue

ccd_operation 0 705
ccd_operation 0 703
loopl_start 255
ccd_operation 0 703
loopl_continue
loop2_continue

ccd_operation 0 706
end

begin slow_scan
ccd_operation 0 707
loopl_start 255
ccd_operation 0 702
loopl_continue

ccd_operation 0 709
ccd_operation 0 703
loopl_start 255
ccd_operation 0 703
loopl_continue

loop2_start 255
ccd_operation 0 708
ccd_operation 0 702
loopl_start 255

ccd_operation 0 702
loopl_continue

ccd_operation 0 709
ccd_operation 0 703
loopl_start 255
ccd_operation 0 703
loopl_continue
loop2_continue

ccd_operation 0 706
end

#

# Start of frame & 2 pixels
# 1st row
# Read 2 pixels in odd row

Start & reset 2nd row

1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

®* B H H

510 more rows

Start & reset odd row
1st & 2nd pixel

512 pixels

Read 2 pixels in odd row

H HH HH

Start & reset even row
1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

®* H OHH

# End of frame

# Start of frame & 2 pixels
# 1st row
# Read 2 pixels in odd row

Start of 2nd row

1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

H* H HH

510 more rows

Start of odd row

1st & 2nd pixel

512 pixels

Read 2 pixels in odd row

H OH O HH

Start of even row

1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

H* H HH

# End of frame

198



begin slow_non_stop
loop3_start -1

ccd_operation 0 701 # Start of frame & 2 pixels
loopl_start 255 # 1st row
ccd_operation 0 702 # Read 2 pixels in odd row

loopl_continue

Start & reset 2nd row

1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

ccd_operation 0 705
ccd_operation 0 703
loopl_start 255
ccd_operation 0 703
loopl_continue

H* O H

510 more rows

Start & reset odd row
1st & 2nd pixel

512 pixels

Read 2 pixels in odd row

loop2_start 255
ccd_operation 0 704
ccd_operation 0 702
loopl_start 255

ccd_operation 0 702
loopl_continue

H OH O HH

Start & reset even row
1st & 2nd pixel

510 more pixels

Read 2 pixels in even row

ccd_operation 0 705
ccd_operation 0 703
loopl_start 255
ccd_operation 0 703
loopl_continue
loop2_continue

®* H HH

ccd_operation 0 706 # End of frame
loop3_continue
end
#
#- #
# Clock routines to reset pixels during reading HAWAII #
#- #
#
begin allreset_scan
ccd_operation 0 271 # Start of frame & 2 pixels
loopl_start 255 # 1st row
ccd_operation 0 272 # Read 2 pixels in odd row
loopl_continue
ccd_operation 0 275 # Start & reset 2nd row
ccd_operation 0 273 # 1st & 2nd pixel
loopl_start 255 # 510 more pixels
ccd_operation 0 273 # Read 2 pixels in even row
loopl_continue
loop2_start 255 # 510 more rows
ccd_operation 0 274 # Start & reset odd row
ccd_operation 0 272 # 1st & 2nd pixel
loopl_start 255 # 512 pixels
ccd_operation 0 272 # Read 2 pixels in odd row
loopl_continue
ccd_operation 0 275 # Start & reset even row
ccd_operation 0 273 # 1st & 2nd pixel
loopl_start 255 # 510 more pixels
ccd_operation 0 273 # Read 2 pixels in even row
loopl_continue
loop2_continue
ccd_operation 0 276 # End of frame
end
#
#- #
# Clock routines to read HKP #
#

begin read_hkp
ccd_operation 0 100
loopl_start 31
ccd_operation 0 101
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loopl_continue
ccd_operation 0 102

end

#

begin read_hkp_nstp
ccd_operation 0 100
loopl_start -1

ccd_operation 0 101

loopl_continue

end

#
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C.3 idsp_com.c (IDSPHIH TR 3 L)

#include "../dspgen/idsp.h"
#include "../dspgen/dsp.h"
#include "../dspgen/idsp_sub.h"
#include "idsp_cp.h"

#define CLK_OK 1

struct adc_dac
{

float offset[8],linear[8];
};

extern struct adc_dac adc_para;

void Msa_CIC_DSP_IdspOperation_forever_reset ()
{

long rtcO, expos;

expos=10000;

while (1){
rtc0=Msa_CIC_DSP_RtcCnt_RD_long();

Msa_CIC_DSP_CdspOperation__reset_scan() ;
Msa_CIC_DSP_Nop(10);
while(Msa_CIC_DSP_CheckBusy());

while (Msa_CIC_DSP_RtcCnt_RD_long()<=(rtcO+expos));
Msa_CIC_DSP_Nop(10);
while (Msa_CIC_DSP_CheckBusy());
}
}

void take_hawaii(long expos)
{
long rtc0, rtcil;

/*-- Control Exposure Time --%/
rtc0=Msa_CIC_DSP_RtcCnt_RD_long();
while( (rtcl=Msa_CIC_DSP_RtcCnt_RD_long()) == rtcO );

/*-- Send reset_scan --x/

if (expos >= 10000){
Msa_CIC_DSP_CdspOperation__reset_scan();
Msa_CIC_DSP_Nop(10);
while (Msa_CIC_DSP_CheckBusy());
Msa_CIC_DSP_CdspOperation_scan();
Msa_CIC_DSP_Nop(10);
while(Msa_CIC_DSP_CheckBusy());

}

else{
Msa_CIC_DSP_CdspOperation_reset_scan();
Msa_CIC_DSP_Nop(10);
while (Msa_CIC_DSP_CheckBusy());

}

/*-— Wait for an exposure —--*/
while (Msa_CIC_DSP_RtcCnt_RD_long()<=rtcO+expos) ;

/%*-- Send scan —--%/

if (expos >= 10000){
Msa_CIC_DSP_CdspOperation__scan();
Msa_CIC_DSP_Nop(10);
while (Msa_CIC_DSP_CheckBusy());
Msa_CIC_DSP_CdspOperation_scan();
Msa_CIC_DSP_Nop(10);
while (Msa_CIC_DSP_CheckBusy());

}

else{
Msa_CIC_DSP_CdspOperation_scan();
Msa_CIC_DSP_Nop(10);
while (Msa_CIC_DSP_CheckBusy());
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}
}

void Msa_CIC_DSP_IdspOperation_idsp_integration(void)
{

long expos;

expos=Msa_CIC_DSP_DspHostReceive_long() ;
take_hawaii(expos) ;

}

void Msa_CIC_DSP_IdspOperation_idsp_integration_multi(void)
{

long expos;

u_int nsample;

int i;

long rtc0O, rtci;

nsample=Msa_CIC_DSP_DspHostReceive();
expos=Msa_CIC_DSP_DspHostReceive_long() ;

/*-— Control Exposure Time --*/
rtc0=Msa_CIC_DSP_RtcCnt_RD_long();
while( (rtci=Msa_CIC_DSP_RtcCnt_RD_long()) == rtcO );

/*-- Send reset_scan --x/
Msa_CIC_DSP_CdspOperation__reset_scan();
while (Msa_CIC_DSP_CheckBusy());
for(i=0;i<nsample;i++){

Msa_CIC_DSP_CdspOperation_scan();
Msa_CIC_DSP_Nop(10);

while (Msa_CIC_DSP_CheckBusy());

}

/*-- Tell messia that the start frame clock has ended. --*/
Msa_CIC_DSP_Nop(10);
Msa_CIC_DSP_iDspHostSend (nsample) ;

/* Msa_CIC_DSP_DspHostSend(nsample); */
Msa_CIC_DSP_Nop(10);

/*-- Wait for memory allocation on VMI board --*/
nsample=Msa_CIC_DSP_DspHostReceive();
Msa_CIC_DSP_Nop(10);

/*-- Wait for an exposure --*/
while(Msa_CIC_DSP_RtcCnt_RD_long()<=rtcl+expos);

/*-- Send scan --*/
Msa_CIC_DSP_CdspOperation__scan() ;
while (Msa_CIC_DSP_CheckBusy());
for(i=0;i<nsample;i++){
Msa_CIC_DSP_CdspOperation_scan();
Msa_CIC_DSP_Nop(10);
while(Msa_CIC_DSP_CheckBusy());

}

}

void take_hawaii64(long expos)
{
long rtc0O, rtci;
/*-- Control Exposure Time --%/
rtc0=Msa_CIC_DSP_RtcCnt_RD_long();
while( (rtcl=Msa_CIC_DSP_RtcCnt_RD_long()) == rtcO );
/*-- Send 64reset_scan ——%/
Msa_CIC_DSP_CdspOperation_64reset_scan();
Msa_CIC_DSP_Nop(10);
while (Msa_CIC_DSP_CheckBusy());

/*-- Wait for an exposure —--*/
while (Msa_CIC_DSP_RtcCnt_RD_long()<=rtcl+expos) ;

/*-- Send scan --*/
Msa_CIC_DSP_CdspOperation_64scan();
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Msa_CIC_DSP_Nop(10);
while (Msa_CIC_DSP_CheckBusy());
}

void Msa_CIC_DSP_IdspOperation_block_scan64(void)
{

u_int i ;

long expos;

expos=Msa_CIC_DSP_DspHostReceive_long();
for(i=0;i<64;i++){
take_hawaii64(expos) ;
}
}

void take_hawaiil28(long expos)
{
long rtcO, rtci;
/*-- Control Exposure Time --*/
rtcO0=Msa_CIC_DSP_RtcCnt_RD_long();
while( (rtci=Msa_CIC_DSP_RtcCnt_RD_long()) == rtcO );
/*-- Send 64reset_scan ——%/
Msa_CIC_DSP_CdspOperation_128reset_scan();
Msa_CIC_DSP_Nop(10);
while (Msa_CIC_DSP_CheckBusy());

/*-- Wait for an exposure —-*/
while (Msa_CIC_DSP_RtcCnt_RD_long()<=rtcl+expos) ;

/*-- Send scan --%/
Msa_CIC_DSP_CdspOperation_128scan() ;
Msa_CIC_DSP_Nop(10);
while (Msa_CIC_DSP_CheckBusy());

}

void Msa_CIC_DSP_IdspOperation_block_scan128(void)
{

u_int i ;

long expos;

expos=Msa_CIC_DSP_DspHostReceive_long() ;
for(i=0;i<16;i++){
take_hawaiil28(expos);
}
}

void Msa_CIC_DSP_IdspOperation_check_rtc(void)
{

long expos,dexpos;

int i;

long rtcO, rtcl, rtc2;

expos=Msa_CIC_DSP_DspHostReceive_long();
dexpos=expos/10;

rtcO=Msa_CIC_DSP_RtcCnt_RD_long();
while( (rtci=Msa_CIC_DSP_RtcCnt_RD_long()) == rtcO );

/*-- Wait expos —— */
for(i=1;i<=dexpos;i++){
Msa_CIC_DSP_CdspOperation_wait01000) ;
Msa_CIC_DSP_Nop(10);
}
/*-- Wait for an exposure -—*/
rtc2=Msa_CIC_DSP_RtcCnt_RD_long();

Msa_CIC_DSP_Nop(10);
Msa_CIC_DSP_iDspHostSend_long(rtcO0) ;
Msa_CIC_DSP_Nop(10);
Msa_CIC_DSP_iDspHostSend_long(rtc2);
Msa_CIC_DSP_Nop(10);
Msa_CIC_DSP_iDspHostSend_long(rtcO+expos) ;
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int Msa_Sys_CIC_DSP_IdspCom(u_int com)

{
if (com==150)
{Msa_CIC_DSP_IdspOperation_forever_reset();}
if (com==151)
{Msa_CIC_DSP_IdspOperation_idsp_integration();}
if (com==152)
{Msa_CIC_DSP_IdspOperation_idsp_integration_multi();}
if (com==153)
{Msa_CIC_DSP_IdspOperation_block_scan64();}
if (com==154)
{Msa_CIC_DSP_IdspOperation_block_scan128();}
if (com==155)
{Msa_CIC_DSP_IdspOperation_check_rtc();}
return DSP_0K;
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D.2 #ZELavURYTF7PLUZ

AGOFFSET
BAIT— K.
CISCO

INT A =5

Parameter Default Value
CISCO

DX 0.0
DY 0.0
PA (—90.0—!TSCL.INSROTPA)

e . HEESE % CISCO @ 7V — AT HRT DXpixels, DYpixels #8Y £ 9. IR2FEEIT
HAX— CCDOEY BIVIEEICRY T,

ZOWED CISCONE 7 VAT —)VIiE 0.116" /pix KRESHhTWE T,
E#H : 1999/6/8
fFE : EEX®%
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BOOTQDASVGW

BRT— K.
CISCO

INTGA—=5: HYEEA,
SR . AES

¥E#8 : 1999/3/3
fEE : IEIRE
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CHECKFIELD

BRAIT— K
CISCO

INT I =5

Parameter Default Value
CISCO

DATASET _ID ?DS0000”
OBJECT ?FIELDCHECK”
EXPTIME NOP
FILTER NOP
SLITX NOP
SLITY NOP
NSAMPLE NOP
NFRAME 1
FRAMEID &GET_F_NO[OHS A]

SHEA : MO RE EXPTIME. 74 )4 — FILTER. 2V v MMz =SLITX, y =SLITY.
BT Y TEB NSAMPLE CTA A —Yk I MBELET, BB ET — X1
QDASDEa—TU—IlRRINZET,

EHAB : 1999/3/15
& : IR BERRE. FFEFEALR
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FOCUSOBE

BRAIT— K
CISCO

INT I =5

Parameter Default Value
CISCO

DATASET_ID DS0000
Z 0.1
DELTAZ 0.1
OBJECT ?FOCUSING”
RA ISTATS.RA
DEC ISTATS.DEC
EQNX 2000.0
INSROT -90.0
EXPTIME NOP
FILTER NOP
SLITX NOP
SLITY NOP
NSAMPLE NOP
FRAMEID1 &GET_F_NO[OHS A]
FRAMEID2 &GET_F_NO[OHS A]
FRAMEID3  &GET_F_NO[OHS A]
FRAMEID4  &GET_F_NO[OHS A]
FRAMEIDS5 &GET_F_NO[OHS A]
FRAMEID6 &GET_F_NO[OHS A]
FRAMEID?7  &GET_F_NO[OHS A]
FRAMEIDS &GET_F_NO[OHS A]
FRAMEID9 &GET_F_NO[OHS A]
FRAMEID10 &GET_F_NO[OHS A]
FRAMEID11 &GET_F_NO[OHS A]
FRAMEID12 &GET_F_NO[OHS A]
FRAMEID13 &GET_F_NO[OHS A]
FRAMEID14 &GET_F_NO[OHS A]
FRAMEID15 &GET_F_NO[OHS A]

. TA—AHAEEDEBRIVYRNTT,

YIRS E % (Z+2xDELTAZ)~(Z —2xDELTAZ) ¥ T DELTAZ [EE T
MUBRBLEMETIRNTO7V—LEBMBLET.
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2EWREL. BFEEZOMEICEY NLE T,

ZDATY RDETHERF CISCODT —ZE2MBELERDLS ERETTTLESOD
TERELTLESY,
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FEOA : TXORBENKET LB OWSD”OHS_Online” & WD 487D skycat 1o 4 A —
UM IBEBERENET (TH). EHIC"QDAS System” 74 > RUBEENLDT. £
Z T”Click Points Start” Z# L T skycat LOE 2 ERHE TCHAE T, HAKD -
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GETDARK

BHIT— K
CISCO

INT I =5

Parameter Default Value
CISCO

DATASET _ID DS0000
OBJECT "DARK”
EXPTIME NOP
NSAMPLE NOP
NFRAME 1
FRAMEID &GET_F_NO[OHS A 1]

SHEE . A —V 7V —LEEBLIET,
B * EXPTIME. B8 7 LV — A% % NFRAME CEEL 9.
NFRAME ¢ FRAMEID D#E R UCICT B EDICEBLTLIEX N,

EHH : 1999/3/15
EE : INEHCE . ANJRERAER
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GETOBJECT

BRAT - K
CS_IMAGING
CS_IMAGING4
CS_IMAGINGS8
CS_BL64
CS_BL128
CS_SPECTROSCOPY
CS_SPECTROSCOPY?2
CS_SPECTROSCOPY4

INTA—5H:
Parameter Default Value
CS_IMAGING CS_IMAGING4 CS_IMAGINGS CS_BL64,CS_BL128

DATASET_ID ?DS0000” ?DS0000” ?DS0000” ?DS0000”
DITH 20.0 20.0 -
OBJECT ?OBJECT” ?OBJECT” ?OBJECT” ?OBJECT”
RA ISTATS.RA ISTATS.RA ISTATS.RA DUMMY
DEC ISTATS.DEC ISTATS.DEC ISTATS.DEC DUMMY
EQNX 2000.0 2000.0 2000.0 DUMMY
INSROT -90.0 -90.0 -90.0 DUMMY
EXPTIME NOP NOP NOP NOP
FILTER NOP NOP NOP NOP
SLITX NOP NOP NOP NIP
SLITY NOP NOP NOP NOP
NSAMPLE NOP NOP NOP DUMMY
NFRAME 1 6 6 -
FRAMEID &GET_F_NO[OHS A 1] - - -
FRAMEID1 &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6] -
FRAMEID2 &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6] -
FRAMEID3 &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6] -
FRAMEID4 &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6] -
FRAMEID5 — &GET_F_NO[OHS A 6] -
FRAMEID6 — &GET_F_NO[OHS A 6] -
FRAMEIDT7 - &GET_F_NO[OHS A 6] -
FRAMEIDS - &GET_F_NO[OHS A 6] -

Parameter Default Value

CS_SPECTROSCOPY CS_SPECTROSCOPY2 CS_SPECTROSCOPY4

DATASET_ID ?DS0000” ?DS0000” ?DS0000”

DITH - 10.0 10.0

PA - (-90.0 - 'TSCL.INSROTPA ) (-90.0 - !TSCL.INSROTPA )

OBJECT ?”OBJECT” ?OBJECT” ?OBJECT”

RA DUMMY DUMMY DUMMY

DEC DUMMY DUMMY DUMMY

EQNX DUMMY DUMMY DUMMY

INSROT DUMMY DUMMY DUMMY

EXPTIME NOP NOP NOP

FILTER NOP NOP NOP

SLITX NOP NOP NIP

SLITY NOP NOP NOP

NSAMPLE NOP NOP NOP

NFRAME 1 6 6

FRAMEID &GET_F_NO[OHS A 1] - -

FRAMEID1 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6]

FRAMEID2 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6]

FRAMEID3 - - &GET_F_NO[OHS A 6]

FRAMEID4 - - &GET_F_NO[OHS A 6]

I_BOTTOM - 2800 2800
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SR -
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GETOBJECT_AG

BHIT— K
CS_IMAGING
CS_IMAGING4
CS_IMAGINGS

INT I =5
Parameter Default Value
CS_IMAGING CS_IMAGING4 CS_IMAGINGS
DATASET ID "DS0000” *DS0000” *DS0000”
DITH - 20.0 20.0
OBJECT »OBJECT” »OBJECT” »OBJECT”
RA ISTATS.RA ISTATS.RA ISTATS.RA
DEC ISTATS.DEC ISTATS.DEC ISTATS.DEC
EQNX 2000.0 2000.0 2000.0
RA_AG ISTATS.RA NOP NOP
DEC_AG ISTATS.DEC NOP NOP
EQNX_AG 2000.0 NOP NOP
INSROT 90.0 90.0 -90.0
EXPTIME NOP NOP NOP
FILTER NOP NOP NOP
SLITX NOP NOP NOP
SLITY NOP NOP NOP
NSAMPLE NOP NOP NOP
NFRAME 1 6 6
FRAMEID &GET_F_NO[OHS A 1] - -
FRAMEID1 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6]
FRAMEID2 &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6]
FRAMEID3 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6]
FRAMEID4 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6]
FRAMEID5 - &GET.F_NO[OHS A 6]
FRAMEID6 - - &GET_F_NO[OHS A 6]
S%8F : SETUPFIELD_ AGTC7 A — )V RDEY N7V T 24705/, EEHEEXT 1 ¥V

YITUBRNLT—RAEREBLET., ZHUMEEARWICIIGETOBIECTE AL TT D
TZHHLEBBLTLIEI N,

EEL. A4 REDEE%Z RA_AG. DEC_AG. EQNX_AG CTEA D LENDH
YEY,

EHAB : 1999/3/15
& : IR . BERR. ANREARR
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GETOBJECT_VGW

BHIT— K
CS_IMAGING
CS_IMAGING4
CS_IMAGINGS
CS_.IMAGING4SKY4

INTA—%4.
Parameter Default Value
CS_IMAGING CS_IMAGING4 CS_IMAGINGS CS_IMAGING4SKY4
DATASET ID "DS0000” "DS0000” "DS0000”
DITH - 20.0 20.0
OBJECT »OBJECT” »OBJECT” »OBJECT”
RA ISTATS.RA ISTATS.RA ISTATS.RA
DEC ISTATS.DEC ISTATS.DEC ISTATS.DEC
EQNX 2000.0 2000.0 2000.0
INSROT -90.0 -90.0 -90.0
EXPTIME NOP NOP NOP
FILTER NOP NOP NOP
SLITX NOP NOP NOP
SLITY NOP NOP NOP
NSAMPLE NOP NOP NOP
NFRAME 1 6 6
FRAMEID &GET_F_NO[OHS A 1] - -
FRAMEID1 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6]
FRAMEID2 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6]
FRAMEID3 - &GET_F_NOJOHS A 6] &GET_F_NO[OHS A 6]
FRAMEID4 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6]
FRAMEID5 - - &GET_F_NO[OHS A 6]
FRAMEID6 - - &GET_F_NO[OHS A 6]
FRAMEID? - - &GET_F_NO[OHS A 6]
FRAMEIDS - - &GET_F_NO[OHS A 6]
DRA_SKY - - - 180.0;
DDEC_SKY - - - 180.0;
S%8F : SETUPFIELD VGW C7 4 —JVRDEY N7V T 24T EHAIC. HEHEET 4 ¥

VYT URRISTF—AERELET, BT — NN CS_IMAGING4SKY4 D & =
DA DO WTIIEAMICIIGETOBIECT LA U TIDTEBELE#SHLTIEX N,

[CS.IMAGING4SKY4] : £H. EANICEHWTR,

EHH : 1999/3/15

fFE : MG, SERE. KREARR
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GETSTANDARD

BRIT— K
CS_IMAGING
CS_IMAGING4
CS_IMAGINGS
CS_BL64
CS_BL128

CS_SPECTROSCOPY
CS_SPECTROSCOPY?2
CS_SPECTROSCOPY4

INTA—5H:
Parameter Default Value
CS_IMAGING CS_IMAGING4 CS_IMAGINGS CS_BL64,CS_BL128

DATASET_ID ?DS0000” ?DS0000” ?DS0000” ?DS0000”
DITH - 20.0 20.0 -
OBJECT ?STANDARD?” ?STANDARD?” ?STANDARD?” ?STANDARD?”
RA ISTATS.RA ISTATS.RA ISTATS.RA DUMMY
DEC ISTATS.DEC ISTATS.DEC ISTATS.DEC DUMMY
EQNX 2000.0 2000.0 2000.0 DUMMY
INSROT -90.0 -90.0 -90.0 DUMMY
EXPTIME NOP NOP NOP NOP
FILTER NOP NOP NOP NOP
SLITX NOP NOP NOP NIP
SLITY NOP NOP NOP NOP
NSAMPLE NOP NOP NOP DUMMY
NFRAME 1 6 6 -
FRAMEID &GET_F_NO[OHS A 1] - - -
FRAMEID1 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6] -
FRAMEID2 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6] -
FRAMEID3 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6] -
FRAMEID4 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6] -
FRAMEID5 - — &GET_F_NO[OHS A 6] -
FRAMEID6 - — &GET_F_NO[OHS A 6] -
FRAMEIDT7 - - &GET_F_NO[OHS A 6] -
FRAMEIDS - - &GET_F_NO[OHS A 6] -

Parameter Default Value

CS_SPECTROSCOPY CS_SPECTROSCOPY2 CS_SPECTROSCOPY4

DATASET_ID ?DS0000” ?DS0000” ?DS0000”

DITH - 10.0 10.0

PA - (-90.0 - I'TSCL.INSROTPA )  (-90.0 - I'TSCL.INSROTPA )

OBJECT ?OBJECT” ?OBJECT” ?OBJECT”

RA DUMMY DUMMY DUMMY

DEC DUMMY DUMMY DUMMY

EQNX DUMMY DUMMY DUMMY

INSROT DUMMY DUMMY DUMMY

EXPTIME NOP NOP NOP

FILTER NOP NOP NOP

SLITX NOP NOP NIP

SLITY NOP NOP NOP

NSAMPLE NOP NOP NOP

NFRAME 1 6 6

FRAMEID &GET_F_NO[OHS A 1] - -

FRAMEID1 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6]

FRAMEID2 - &GET_F_NO[OHS A 6] &GET_F_NO[OHS A 6]

FRAMEID3 - - &GET_F_NO[OHS A 6]

FRAMEID4 - - &GET_F_NO[OHS A 6]

I_BOTTOM - 2800 2800
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A . EEEFRELEIT. OBJECT DT 7 # )V MELAAMIZGETOBIECT & R T T,

B : 1999/4/8
fFE : BERR
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PROBEQFFSET

BHIT— K
CISCO

INT A =4

Parameter Default Value
CISCO

DX 0.0
DY 0.0
PA (-90.0 - 'TSCL.INSROTPA)

SHEA . HEHESE CISCOD 7 LV —ALTHRT DXpixels, DYpixels #R Y £ 3. R HEEIL.
AGSH7B -7 DOEEBEICRY X7,

ZDEED CISCODE 7 BIVAF —)Vi 0.116" /pix KBRES N TWE T,
E#H : 1999/6/8
& . BEER
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SETUPFIELD

BAIT— K.
CS_IMAGING

INT A =4

Parameter

Default Value
CS_IMAGING

OBJECT
RA
DEC
EQNX
INSROT

?OBJECT”
ISTATS.RA
ISTATS.DEC
2000.0
-90.0

SREA . EEHEE RA. DEC O 5 HICHT.

EMHXIAET INSROTICLE T,
EHH : 1999/3/15
& : /N

AVANBNVAYN -O—F—R—DHE
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SETUPFIELD_AG

BRT— K.

CS_IMAGING
CS_SPECTROSCOPY

INT A =45

Parameter

Default Value

CS_IMAGING CS_SPECTROSCOPY
OBJECT "OBJECT” "OBJECT”
RA ISTATS.RA ISTATS.RA
DEC ISTATS.DEC ISTATS.DEC
EQNX 2000.0 2000.0
RA_AG ISTATS.RA ISTATS.RA
DEC_AG ISTATS.DEC ISTATS.DEC
EQNX_AG 2000.0 2000.0
EXPTIME_AG VGWQ.AGE.EXPTIME IVGWQ.AGE.EXPTIME
INSROT -90.0 -90.0
I_BOTTOM 2800 2800
EXPTIME - NOP
SLITX - NOP
SLITY - NOP
SLITXOPEN - NOP
FILTER - NOP
NSAMPLE - NOP
NFRAME - 1
FRAMEIDO - &Get_F_NO[OHS A]
FRAMEID1 - &Get_F_NO[OHS A]
FRAMEID2 - &Get_F_NO[OHS A]
FRAMEID3 - &Get_F_NO[OHS Q]
FRAMEID4 - &Get_F_NO[OHS Q]
I_.BOTTOM - 2800
SKY_POS - 15

A . HEER® RA. DEC OFMICHT. A YA M)AV N -O—F—X—DHAE
*fHX A E T INSROTC ICLE T,

RIC. RA=RA_AG, DEC=DEC_AG, Equinox=EQNX_AG D E#% AGT#A T
HAT4 VT RBHBLET. ZOK., AGDEZEMIX EXPTIME_AG ICE DR
HOREMEZ I BOTTOMICHRESIHNE T,

BHE— KW CS_SPECTROSCOPY D& ZXIBIC. UTFTDEDICLTHER
MRV y N EICEAXINE T,
1.CISCODP AV v % SLITXOPENXSLITY ICcLT. SHICHEEH® DECH
M SKY_POS k- T. #7KH EXPTIME. 74/)V4 FILTERT17 L —
LEFFLET (AAA TV —D),
2RICHEER 2 TOMNBICRLTHLUL CISCOT17V—LbBWMBLET (7
V7 M7 V—=h),
3. AU Y M%E SLITXXSLITYICLTEBIC CISCOT 17 V—LBBLET (R
Vy b7l —=254),
4. QDAS DBEEIC (A TV NI V—L AALTV=L) AV Y RNTU—L
NRRINEZDT. ZHAHDOEBETHERBOMEL 2y NOAMERIFEL

9.
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5. ZDMEBHE SICHERENZ )y M EICEAINE T,
Fg: FOTWDOH S TWVWBAICBEWTEX W,
INT

e EXPTIME AG D7 7 # )V hHIVGWQ.AGE.EXPTIME iZ 72 5 TWE A%,
DABTIC VCW 2o THA REEZZEE L TOWARWVWERIXED &S BN A S 2 R
SNEBA, ZOBRIBTAND EDICLTLIESW, 2YBHAT 1000(ms)
EANTBELLZL2B8HLET,

¢ CS_SPECTROSCOPY E— RTIRDOKEEZRY v NICEATLZ LT
ETEEEA.

QDAS T4 %47 5 Btk £ NFRAME & FRAMEID1~FRAMEID15 328 % L
BRWTREZW, ¥, Z20av Y K&31TT 287149 BOOTQDAS 2 EITL TH W
T EE W,

E#B : 1999/3/15
1EE : /IR
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SETUPFIELD_VGW

BHIT— K
CS_.IMAGING
CS_SPECTROSCOPY

INT A =5

Parameter Default Value
CS_IMAGING CS_SPECTROSCOPY

OBJECT ?OBJECT” ?OBJECT”
RA ISTATS.RA ISTATS.RA
DEC ISTATS.DEC ISTATS.DEC
EQNX 2000.0 2000.0
AG_SELECT MANUAL MANUAL
INSROT -90.0 -90.0
I_ BOTTOM 2800 2800
EXPTIME - NOP
SLITX - NOP
SLITY - NOP
SLITXOPEN - NOP
FILTER - NOP
NSAMPLE - NOP
NFRAME - 1
FRAMEIDO - &Get_F_NO[OHS A]
FRAMEID1 - &Get_F_NO[OHS A]
FRAMEID2 - &Get_F_NO[OHS A]
FRAMEID3 - &Get_F_NO[OHS Q]
FRAMEID4 - &Get_F_NO[OHS Q]
I_ BOTTOM - 2800
SKY _POS - 15

SHEA . A4 RE% VOW TEIRT 5 LIS SETUPFIELD AG B U T,

AG_SELECT NS A =2 I VOCWTOAAL REDZERDE— K TT, AUTO, SEMI-
AUTO, AUTO B ZERTEX T,

FH: FOTWDOH S TWVWBAICBEWTEX W,
INT

e CS_SPECTROSCOPY E— RTIRDKMEER Yy NICEATEZ LT
ETEEEA,

EHH : 1999/3/15
EE : /INEHCE
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SETUPOBE

BHIT— K
CISCO
INT A =4
Parameter  Default Value
CISCO
PATH NOP
FILTER NOP

FA . CISCODEY M7 v TEITVWET,

OBCPH—ANICEHEBF— A 2 METEINAE PATHICHEL., 74NV —KA —
N —EBR—-—LRIYavIlEgHMHLTHDS FILTER THESINET A IIVE—=IlkEY
MUET, BRBICAV Y NELBEHICLTKRTLE T,

EHH : 1999/3/15
&« INEHCE . ANJRERAER
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SHOWIMAGE

BAIT — K-
CISCO
INT A =4
Parameter Default Value
CISCO
DATASET_ID ?DS0000”
FRAMEID IFITS.OHS.FRAMEID

B : QDASOEa—U—IC FRAMEID DA XA -V %F&RrL¥9. FRAMEID 2%
W92 LEBICBIBENEA XA —VUDRERENET,

DATASET_ID 3% 3 —T7,
EHH : 1999/3/15
& : /INEHCE

228



SHUTDOWNOBE

BAIT— K.
CISCO
INTA—5H:
Parameter  Default Value
CISCO
MODE ALONE

FEA : CISCO 2MHIRERICL X 7.

T4IVE—% BLANKICL, AU w NELBICLU T, H®%IC messia [ITOE— K%
MODEICtEY NLE T,

%8 : 1999/3/3
fFE « A[REEAER
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SHUTDOWNQDAS

BAIET— K
CISCO

INTGA—=%5: HYFEA,

A : QDASEKRTLE.

E#B : 1999/3/3
& . /INZIRE
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TELOFFSET

BHIT— K
CISCO
INT A =4
Parameter  Default Value
CISCO
DRA 0.0
DDEC 0.0

O . HEHEEZHRBFMIC DRARA. FEFEIC DDECHARY 3. IRGKEE R
YWEED Ty a—-ABEICRY T,

AGTHAT A YT %E4T5TW5B L EIXTELOFFSET_AG 2o T EX W,
E#H : 1999/3/30
fFE& : BEER®
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TELOFFSET_AG

BAIT— K
CISCO
INT A =4
Parameter  Default Value
CISCO
DRA 0.0
DDEC 0.0

S : AGTAHATA VT 24ToTWB L XICHESEPFRBFICDRADA. HREH
HIC DDECRARY T, RIBEIEEFE O YO -ABEICRY T,

AAT 4 VT 24ToTWiRWE EEXTELOFFSET 2o T E& W,
%8 : 1999/3/30
fFE . EEER
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TELOFFSETBYVGW
BRIT - K.
CISCO
INTGA—=5: HYEEA,
SBA : VCW TRHBEZRL T, ZORGCOFMICEEFEEZRY £7.
¥E#B : 1999/06/08

fFE . EERR. HOBZ
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fT & E CISCO RET—7JL

ZORET—TINVIE 19994 11 H 2HHAELDTY,

E.l NZA—5EHRTI7AL
ARCHIVE.para

#FRAME ID
FRAMEID \
TYPE=CHAR \
DEFAULT=NOP \
NOP=NOP

#LOGFILE DIRECTORY

LPATH \

TYPE=CHAR \

DEFAULT=NOP \
NOP="/home/messia/messia3/cisco/SUKACMD"

#LOBFILE NAME
LNAME \
TYPE=CHAR \
DEFAULT=NOP \
NOP="data.log"

#MODE OF ARCHIVE
AMODE \
TYPE=CHAR \
SET=COUNT,SND \
DEFAULT=NOP \
NOP=COUNT

FILTER.para

#FILTER WHEEL 1
WHEEL1 \

TYPE=CHAR \

SET=IIZII , IIJII . IIHII , llell s IIKII , IIH+KPII s IIN204II , IINDNEII R IIHDMEII \
DEFAULT=NOP \

NOP=NOP

#FILTER WHEEL 2

WHEEL2 \

TYPE=CHAR \
SET="N215","H2(1-0)","H2(2-1)","zJGr", "JHGr", "wKGr", "Pr","NONE" ,"HOME" \
DEFAULT=NOP \

NOP=NOP

#FILTER SELECTION

SELECT \

TYPE=CHAR \

SET="z" s ngn s "y s IIKPII s ngn s "H+Kp" s "N204" s "N215" s "H2(1—0) n s "H2 (2_1) n s "z JGr" s " JHGr" s "wKGr" s "prn s "BLANK" s "HOME" \
DEFAULT=NOP \

NOP=NOP

HAWAIl.para
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#0BJECT NAME
OBJECT \
TYPE=CHAR \
DEFAULT=NOP \
NOP=NOP

#DATA TYPE
DATTYPE \

TYPE=CHAR \
SET=0BJECT,BIAS,DARK,FLAT,COMP,STANDARD_STAR, SKY , THERMAL,TEST \
DEFAULT=NOP \

NOP=NOP

#FRAME ID
FRAMEID \
TYPE=CHAR \
DEFAULT=NOP \
NOP=NOP

#DATASET ID
DATASET \
TYPE=CHAR \
DEFAULT=NOP \
NOP=NOP

#DIRECTORY
FPATH \
TYPE=CHAR \
DEFAULT=NOP \
NOP=NOP

#FILE PREFIX
PREFIX \
TYPE=CHAR \
DEFAULT=NOP \
NOP=NOP

#FILE COUNTER
FCOUNT \
TYPE=NUMBER \
FORMAT=%-4d \
MAX=9999 \
MIN=1 \
DEFAULT=NOP \
NOP=NOP

#EXPOSURE TIME
EXPTIME \
TYPE=NUMBER \
FORMAT=%-8.3f \
MAX=3600.000 \
MIN=0.025 \
DEFAULT=NOP \
NOP=NOP

#MODE OF EXPOSURE

EXPMODE \

TYPE=CHAR \

SET=NORMAL ,HYBRID,BLOCK64,BLOCK128 \
DEFAULT=NOP \

NOP=NOP

#NUMBER OF MULTIPLE-SAMPLING
NSAMPLE \

TYPE=NUMBER \

FORMAT=%-2d \

MAX=6 \

MIN=1 \

DEFAULT=NOP \

NOP=NOP

#NUMBER OF FRAMES
NFRAME \
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TYPE=NUMBER \
FORMAT=%-3d \
MAX=999 \
MIN=1 \
DEFAULT=NOP \
NOP=NOP

#START INTEGRATION
INTEG \

TYPE=CHAR \
SET=WAIT,GO,CANCEL \
DEFAULT=WAIT \
NOP=WAIT

MODE.para

#MODE

MODE \

TYPE=CHAR \
SET=ALONE,LOCAL,SLAVE \
DEFAULT=SLAVE \
NOP=SLAVE

SLIT.para

#SLIT X
#PLIMIT:MAX=131.90
X\

TYPE=NUMBER \
FORMAT=%-6.2f \
MAX=135.00 \
MIN=0.00 \
DEFAULT=NOP \
NOP=NOP

#SLIT Y
#PLIMIT:MAX=127.65
YA\

TYPE=NUMBER \
FORMAT=%-6.2f \
MAX=135.00 \
MIN=0.00 \
DEFAULT=NOP \
NOP=NOP

WAIT.para

#WAIT TIME
TIME \
TYPE=NUMBER \
FORMAT=%-6.2f \
MAX=1000.00 \
MIN=0.00 \
DEFAULT=NOP \
NOP=0.00
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E.2 FEKFIVYVYRIIZUTIITILMNY(RTL YY)
BUWE—RZILICRRLTWVWET,

E.2.1 CISCO
AGOFFSET.sk

<Header>

OBE_ID=0HS

OBE_MODE=CISCO

COMMAND=AGOffset
SCRIPT_ID=AGOFFSET.sk
SCRIPT_AUTHOR=MOTOHARA, IWAMURO
SCRIPT_UPDATE=1999.05.28
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>

DX=0.0

DY=0.0

PA=(-90.0 - !TSCL.INSROTPA )
</Default_Parameter>

<Command>
:START
Exec OBS CALC SIN_ARG=$PA COS_ARG=$PA TAN_ARG=$PA ;

:MAIN_START

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec OBS CONVSECRADEC RASEC=(0.116 * !STATOBS.COS * $DX - 0.116 * !STATOBS.SIN * $DY ) DECSEC=(-0.116 * !STATOBS.SIN * $DX - 0.116\
* !STATOBS.COS * $DY ) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.116 * !STATOBS.COS * $DX - 0.116 * !STATOBS.SIN * $DY ) DEC_REL=(-0.116 * !STATOBS.SIN\
* $DX - 0.116 * !STATOBS.COS * $DY ) AZ=QSTATUS EL=@STATUS ROTATOR=Q@STATUS PROBET=Q@STATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=@STATUS CEN\

TROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CENTROID_Y2=@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\

ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=Q@STATUS ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

:MAIN_END

:END
</Command>

BOOTQDAS.sk

<Header>

OBE_ID=0HS
OBE_MODE=CISCO
COMMAND=BootQDAS
Script_ID=0HS0001
Script_Version=1.0
Script_Author=George
Script_Update=1999.03.03
Dispatcher_Version=1.0
</Header>

<Default_Parameter>
</Default_Parameter>

<Command>
:START

:MAIN_START

Exec OBC viewer motor=on INSTRUMENT_NAME=0HS ,

Exec OBC Pipeline_Parameter_Exec_Flag motor=on INSTRUMENT_NAME=0HS type=bias EXEC_FLAG=off ,
Exec OBC Pipeline_Parameter_Exec_Flag motor=on INSTRUMENT_NAME=0HS type=dark EXEC_FLAG=off ,
Exec OBC Pipeline_Parameter_Exec_Flag motor=on INSTRUMENT _NAME=0HS type=flat EXEC_FLAG=off ,
Exec OBC Pipeline_Parameter_Exec_Flag motor=on INSTRUMENT_NAME=0HS type=sky EXEC_FLAG=off ,

:MAIN_END

:END
</Command>

BOOTQDASVGW.sk

<Header>

OBE_ID=0HS
OBE_MODE=CISCO
COMMAND=BootQDASVGW
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Script_ID=0HS0001
Script_Version=1.0
Script_Author=George
Script_Update=1999.03.03
Dispatcher_Version=1.0
</Header>

<Default_Parameter>
</Default_Parameter>

<Command>
: START

:MAIN_START

Exec 0BC viewer motor=on INSTRUMENT_NAME=VGW ,
Exec 0OBC Pipeline_Parameter_Exec_Flag motor=on
Exec OBC Pipeline_Parameter_Exec_Flag motor=on
Exec OBC Pipeline_Parameter_Exec_Flag motor=on
Exec OBC Pipeline_Parameter_Exec_Flag motor=on

:MAIN_END

:END
</Command>

BOOTTELESCOPE.sk

<Header>

OBE_ID=0HS

OBE_MODE=CISCO
COMMAND=BootTelescope
SCRIPT_ID=BOOTTELESCOPE.sk
DISPATCHER_VER=1.0
OBCP_VER=1.0
DATE=1999.02.18
AUTHOR=George

</Header>

<Default_Parameter>
</Default_Parameter>

<Command>
: START

:MAIN_START

#Exec TSC DomeLight Motor=0FF ;

INSTRUMENT _NAME=VGW type=bias EXEC_FLAG=off ,
INSTRUMENT _NAME=VGW type=dark EXEC_FLAG=off ,
INSTRUMENT _NAME=VGW type=flat EXEC_FLAG=off ,
INSTRUMENT_NAME=VGW type=sky EXEC_FLAG=off ,

#Exec TSC DomeShutter Motor=0N Position=0PEN TopScreen=LINK ;

#Exec TSC WindScreen Motor=0N Coord=TSC

{

Exec TSC TopScreen Motor=0N Coord=ABS P_Select=FRONT Position=3.0 ;
Exec TSC TopScreen Motor=0N Coord=ABS P_Select=REAR Position=1.5 ,

o,

Exec TSC InsRot Motor=0N Telescope=LINK Coord=REL Position=0.0 F_Select=CS ,
#Exec TSC ADC Motor=0N Mode=0UT Telescope=LINK Coord=REL Position=0.0 F_Select=CS ,

{

Exec TSC M3Drive Select=NS_OPT Motor=0N Position=0UT ;
Exec TSC M3Drive Select=NS_IR Motor=0N Position=0UT ,

¥,

Exec TSC TelFocus Motor=0N Coord=TSC F_Select=CS_opt ,

#Exec TSC AG_Parts Motor=0N Shutter=0PEN
Exec TSC AGSH_Probe Motor=0N Coord=rest ,

:MAIN_END

:END
</Command>

CALIBIMAGE.sk

<Header>

OBE_ID=0HS
OBE_MODE=CISCO
COMMAND=CalibImage
SCRIPT_ID=CALIBIMAGE.sk
SCRIPT_AUTHOR=George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DATASET_ID="DS0000"
FRAMEID=!FITS.0HS.FRAMEID
</Default_Parameter>

<Command>
:START

:MAIN_START

:MAIN_END

Exec OBC Pipeline Readout=on Instrument_name=0HS input_frame=$FRAMEID output_frame=default ;

:END
</Command>
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CHECKFIELD.sk

<Header>

OBE_ID=0HS

OBE_MODE=CISCO

COMMAND=CheckField
SCRIPT_ID=CHECKFIELD.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="FIELDCHECK"
EXPTIME=NOP
FILTER=NOP

SLITX=NOP

SLITY=NOP
NSAMPLE=NOP

NFRAME=1
FRAMEID=&GET_F_NO[OHS A]
</Default_Parameter>

<Command>

:START

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=TEST PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID ;\

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID INTEG=GO ;

:MAIN_END
Exec OBC QDAS_DISPLAY Instrument_Name=0HS Input_Frame=$FRAMEID ;

:END
</Command>

CHECKFOCUS.sk

<Header>

OBE_ID=0HS
OBE_MODE=CISCO
COMMAND=CheckFocus
SCRIPT_ID=CHECKFOCUS.sk
SCRIPT_AUTHOR=IWAMURO
SCRIPT_UPDATE=1999.06.09
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="FIELDCHECK"
EXPTIME=NOP
FILTER=NOP

SLITX=NOP

SLITY=NOP
NSAMPLE=NQOP

NFRAME=1
FRAMEID=&GET_F_NO[OHS A]
z=0.1
</Default_Parameter>

<Command>

:START

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=TEST PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID ;\

Exec TSC TelFocus Motor=on Coord=TSC F_Select=CS_opt z=$Z ;
Exec OBS Check_Status Mode=AND Timeout=0060 N1=[STATL.ZDIF -0.005 0.005] ;

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID INTEG=GO ;

:MAIN_END
Exec OBC QDAS_DISPLAY Instrument_Name=0HS Input_Frame=$FRAMEID ;

:END
</Command>

DOSH.sk

<Header>

OBE_ID=0HS
OBE_MODE=CISCO
COMMAND=DoSH
Script_ID=0HS0001
Script_Version=1.0
Script_Author=George
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Script_Update=1999.03.16
Dispatcher_Version=1.0
</Header>

<Default_Parameter>
</Default_Parameter>

<Command>

:START

Exec TSC AG_TRACKING CALC_REGION=1 MOROT=0FF ;

Exec TSC AG_Centroid Readout=0FF Calc_Region=1

Exec TSC AG Readout=0FF ;

Exec VGW AG_AUTO_SELECT MOTOR=0N EQUINOX=2000.0 RA=!STATS.RA DEC=!STATS.DEC F_Select=P_OPT PROBE_RA=!STATS.RA PROBE_DEC=!STATS.DEC\
AG_PA=0.0 PROBE_R=0.0 PROBE_THETA=0.0 PROBE_X=0.0 PROBE_Y=0.0 SELECT_Mode=MANUAL DSS_Mode=0FF AG_AREA=AG1 INSTRUMENT_NAME=(HS ;

Exec TSC TELDRIVE COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;

Exec TSC AG Readout=0ON D_TYPE=0BJ EXPOSURE=!VGWQ.AGE.EXPTIME BINNING=11 CAL_SKY=OFF CAL_DARK=0FF CAL_FLAT=0FF X1=103 Y1=128 X2=303\
Y2=328 ;

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=153 Y1=178 X2=293 Y2=278 I_SEIL=65535 I_BOTTOM=3500 ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=ANY Calc_Region=1 X=263.11 ¥=228.00 ;

Exec TSC AG_TRACKING CALC_REGION=1 MOTOR=ON ;

Exec 0OBS Check_Status Mode=AND Timeout=0120 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0045 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

:MAIN_START
Exec TSC OpeRequest Message="Shack Hartmann Test Please!"
Exec TSC Native CMD="nnnnnniA10080BSPRI%" ;

:MAIN_END
Exec VGW V_lan_data_fits_file motor=on v_lan_data=SH frame_no=&Get_F_NO[VGW A] ,

:END
</Command>

FOCUSAG.sk

<Header>

OBE_ID=0HS
OBE_mode=CISCO
COMMAND=FocusAG
Script_ID=0HS0001
Script_Version=1.0
Script_Author=George
Script_Update=1999.03.15
Dispatcher_Version=1.0
</Header>

<Default_Parameter>
Observation-ID=nop
DATASET_ID=DS000

Z=0.0

DELTAZ=0.05
OBJECT="0BJECT"
#RA=!STATS.RA
#DEC=!STATS.DEC
#EQUINOX=2000.0
#INSROT=-90

EXPTIME=nop
FRAMEID1=¢GET_F_NO[VGW A]
FRAMEID2=¢GET_F_NO[VGW A]
FRAMEID3=¢GET_F_NO[VGW A]
FRAMEID4=&GET_F _NO[VGW A]
FRAMEID5=4GET_F_NO[VGW A]
FRAMEID6=&GET_F _NO[VGW A]
FRAMEID7=¢GET_F_NO[VGW A]
FRAMEID8=4GET_F_NO[VGW A]
FRAMEID9=&GET_F _NO[VGW A]
FRAMEID10=&GET_F_NO [VGW A]
FRAMEID11=4GET_F_NO [VGW A]
FRAMEID12=&GET_F_NO [VGW A]
FRAMEID13=&GET_F_NO [VGW A]
FRAMEID14=4GET_F_NO [VGW A]
FRAMEID15=4GET_F_NO [VGW A]
</Default_Parameter>

<Command>

:START

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

Exec TSC AG Readout=0FF ,

#EXEC TSC INSROT F_SELECT=CS TELESCOPE=LINK COORD=ABS POSITION=$INSROT ,

#EXEC TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX DIRECTION=TSC ;

#Exec OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

#Exec TSC AGSH_Probe Motor=ON Coord=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX F_Select=CS PMRA=000.0000 PMDEC=000.0000 E=0FF ANAB=+0.00\
03

:MAIN_START
Exec TSC AG Readout=0ON D_TYPE=0BJ EXPOSURE=$EXPTIME BINNING=11 CAL_SKY=0FF CAL_DARK=OFF CAL_FLAT=0FF X1=32 Y1=32 X2=410 Y2=410 ;

exec TSC TelFocus Motor=on Coord=TSC F_Select=CS_OPT z=($Z - $DELTAZ * 2.0) ;

exec OBS CHECK_STATUS MODE=AND TIMEOUT=0030 Ni=[STATL.ZDIF -0.005 0.005] ;
exec OBS Check_Status Mode=AND Timeout=0015 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
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exec
exec
exec
exec
exec

exec
exec
exec
exec
exec
exec
exec
exec

exec
exec
exec
exec
exec
exec
exec
exec

exec
exec
exec
exec
exec
exec
exec
exec

exec
exec
exec
exec
exec
exec
exec
exec

TSC
0BS
0BS
VGW
0BS
VGW
0BS
VGW

V_lan_data_fits_file motor=on v_lan_data=AG
Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG
Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG

TelFocus Motor=on Coord=TSC F_Select=CS_OPT

frame_no=$FRAMEID1 ;
DISP.AG NE !'VGWD.DISP.AG]
frame_no=$FRAMEID2 ;
DISP.AG NE !VGWD.DISP.AG]
frame_no=$FRAMEID3 ;

z=($Z - $DELTAZ * 1.0) ;

CHECK_STATUS MODE=AND TIMEOUT=0030 N1i=[STATL.ZDIF -0.005 0.005] ;

Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG
Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG
Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG

TelFocus Motor=on Coord=TSC F_Select=CS_OPT

DISP.AG NE !VGWD.DISP.AG]
frame_no=$FRAMEID4 ;
DISP.AG NE !VGWD.DISP.AG]
frame_no=$FRAMEID5 ;
DISP.AG NE !VGWD.DISP.AG]
frame_no=$FRAMEID6 ;

z=$7Z ;

CHECK_STATUS MODE=AND TIMEOUT=0030 Ni=[STATL.ZDIF -0.005 0.005] ;

Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG
Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG
Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG

TelFocus Motor=on Coord=TSC F_Select=CS_OPT

DISP.AG NE !'VGWD.DISP.AG]
frame_no=$FRAMEID7 ;
DISP.AG NE !VGWD.DISP.AG]
frame_no=$FRAMEIDS8 ;
DISP.AG NE !VGWD.DISP.AG]
frame_no=$FRAMEID9 ;

z=($Z + $DELTAZ * 1.0) ;

CHECK_STATUS MODE=AND TIMEOUT=0030 Ni=[STATL.ZDIF -0.005 0.005] ;

Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG
Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG
Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG

TelFocus Motor=on Coord=TSC F_Select=CS_OPT

DISP.AG NE !VGWD.DISP.AG]
frame_no=$FRAMEID10 ;
DISP.AG NE !VGWD.DISP.AG]
frame_no=$FRAMEID11
DISP.AG NE !VGWD.DISP.AG]
frame_no=$FRAMEID12 ;

z=($Z + $DELTAZ * 2.0) ;

CHECK_STATUS MODE=AND TIMEOUT=0030 N1i=[STATL.ZDIF -0.005 0.005] ;

Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG
Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG
Check_Status Mode=AND Timeout=0015 C1=[VGWD.
V_lan_data_fits_file motor=on v_lan_data=AG

DISP.AG NE !VGWD.DISP.AG]
frame_no=$FRAMEID13 ;
DISP.AG NE !VGWD.DISP.AG]
frame_no=$FRAMEID14 ;
DISP.AG NE !VGWD.DISP.AG]
frame_no=$FRAMEID15 ;

:MAIN_END

exec 0BC FRAME_REGION motor=on instrument_name=VGW mode=focus input_frame=$FRAMEID7 H

exec OBC TELESCOPE_FOCUS motor=on instrument_name=VGW input_frame=[$FRAMEID1 $FRAMEID2 $FRAMEID3 $FRAMEID4 $FRAMEID5 $FRAMEID6 $FR\
AMEID7 $FRAMEID8 $FRAMEID9 $FRAMEID10 $FRAMEID11 $FRAMEID12 $FRAMEID13 $FRAMEID14 $FRAMEID15] region=default ;

EXEC TSC TELFOCUS MOTOR=0N COORD=TSC Z=!0BCQ.VGW.BESTFOCUS ;

exec OBS CHECK_STATUS MODE=AND TIMEOUT=0030 Ni=[STATL.ZDIF -0.005 0.005] ;

:END
</Command>

FOCUSOBE.sk

<Header>

OBE_ID=0HS
OBE_MODE=CISCO
COMMAND=FocusOBE
Script_ID=0HS0001
Script_Version=1.0
Script_Author=George
Script_Update=1999.03.15
Dispatcher_Version=1.0
</Header>

<Default_Parameter>
Observation-ID=nop
DATASET_ID=DS0000

Z=0.1

DELTAZ=0.1
OBJECT="FOCUSING"
EXPTIME=nop

FILTER=nop

SLITX=nop

SLITY=nop

NSAMPLE=nop
FRAMEID1=¢GET_F_NO[OHS
FRAMEID2=&GET_F _NO [OHS
FRAMEID3=¢GET_F_NO [OHS
FRAMEID4=¢GET_F_NO[OHS
FRAMEID5=¢GET_F_NO [OHS
FRAMEID6=&GET_F _NO [OHS
FRAMEID7=&GET_F_NO [OHS
FRAMEID8=&GET_F _NO [OHS
FRAMEID9=¢GET_F_NO [OHS
FRAMEID10=&GET_F_NO [OHS
FRAMEID11=4GET_F_NO [OHS
FRAMEID12=&GET_F_NO [OHS
FRAMEID13=&GET_F_NO [OHS
FRAMEID14=&GET_F_NO [OHS
FRAMEID15=&GET_F_NO [OHS
</Default_Parameter>

<Command>

:START
{
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Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=TEST PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID ;\

}s

:MAIN_START

Exec TSC TelFocus Motor=on Coord=TSC F_Select=CS_opt z=($Z - $DELTAZ * 2.0) ;
Exec OBS Check_Status Mode=AND Timeout=0060 N1=[STATL.ZDIF -0.005 0.005] ;
Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID1 INTEG=GO ;

Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID2 INTEG=GO ;

Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID3 INTEG=GO ;

Exec TSC TelFocus Motor=on Coord=TSC F_Select=CS_opt z=($Z - $DELTAZ ) ;
Exec OBS Check_Status Mode=AND Timeout=0060 N1=[STATL.ZDIF -0.005 0.005] ;
Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID4 INTEG=GO ;

Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID5 INTEG=GO ;

Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID6 INTEG=GO ;

Exec TSC TelFocus Motor=on Coord=TSC F_Select=CS_opt z=$7Z ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[STATL.ZDIF -0.005 0.005] ;
Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID7 INTEG=GO ;

Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID8 INTEG=GO ;

Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID9 INTEG=GO ;

7]

Exec TSC TelFocus Motor=on Coord=TSC F_Select=CS_opt z=($Z + $DELTAZ ) ;
Exec OBS Check_Status Mode=AND Timeout=0060 N1=[STATL.ZDIF -0.005 0.005] ;
Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID10 INTEG=GO ;

Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID11 INTEG=GO ;

Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID12 INTEG=GO ;

Exec TSC TelFocus Motor=on Coord=TSC F_Select=CS_opt z=($Z + $DELTAZ * 2.0) ;
Exec OBS Check_Status Mode=AND Timeout=0060 N1=[STATL.ZDIF -0.005 0.005] ;
Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID13 INTEG=GO ;

Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID14 INTEG=GO ;

Exec OHS HAWAII NFRAME=1 FRAMEID=$FRAMEID15 INTEG=GO ;

:MAIN_END

Exec OBC FRAME_REGION motor=on instrument_name=0HS mode=focus input_frame=$FRAMEID7 ;

Exec OBC TELESCOPE_FOCUS motor=on instrument_name=0HS input_frame=[$FRAMEID1 $FRAMEID2 $FRAMEID3 $FRAMEID4 $FRAMEID5 $FRAMEID6 $FR\
AMEID7 $FRAMEID8 $FRAMEID9 $FRAMEID10 $FRAMEID11 $FRAMEID12 $FRAMEID13 $FRAMEID14 $FRAMEID15] region=default ;

Exec TSC TELFOCUS MOTOR=0ON COORD=TSC Z=!0BCQ.OHS.BESTFOCUS ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[STATL.ZDIF -0.005 0.005] ;

:END
</Command>

GETDARK:.sk

<Header>

OBE_ID=0HS
OBE_MODE=CISCO
COMMAND=GetDark
SCRIPT_ID=GETDARK.sk
DISPATCHER=1.0
OBCP_Ver=3.2
AUTHOR=Motohara/George
DATE=1999.03.15
</Header>

<Default_Parameter>
DATASET_ID=DS0000
OBJECT="DARK"

EXPTIME=NOP

NSAMPLE=NOP

NFRAME=1
FRAMEID=&GET_F_NO[OHS A 1]
</Default_Parameter>

<Command>
: START
Exec OHS FILTER SELECT="BLANK" ;

:MAIN_START
Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=DARK NFRAME=$NFRAME FRAMEID=$FRAMEID PREFIX="dark." FCOUNT=NOP EXPTIME=$EXPTIME EXPMODE=NOR\
MAL DATASET=$DATASET_ID INTEG=GO NSAMPLE=$NSAMPLE ;

:MAIN_END

:END
</Command>

PROBEOFFSET.sk

<Header>

OBE_ID=0HS

OBE_MODE=CISCO
COMMAND=ProbeOf fset
SCRIPT_ID=PROBEOFFSET.sk
SCRIPT_AUTHOR=MOTOHARA, IWAMURO
SCRIPT_UPDATE=1999.05.28
DISPATCHER_VERSION=1.0
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</Header>

<Default_Parameter>

DX=0.0

DY=0.0

PA=(-90.0 - !TSCL.INSROTPA )
</Default_Parameter>

<Command>
:START
Exec OBS CALC SIN_ARG=$PA COS_ARG=$PA TAN_ARG=$PA ;

:MAIN_START

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=0.0 DEC_REL=0.0 AZ=Q@STATUS EL=@STATUS ROTATOR=@STATUS PROBET=Q@STATUS ORIGIN_X1=@STATUS OR\
IGIN_Y1=@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CENTROID_Y2=@STATUS ;

Exec 0BS CONVSECRADEC RASEC=(0.116 * !STATOBS.COS * $DX - 0.116 * !STATOBS.SIN * $DY ) DECSEC=(-0.116 * !STATOBS.SIN * $DX - 0.116\
* !STATOBS.COS * $DY ) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AGSH_Probe Motor=0N Coord=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=@STATUS F_Select=CS PMRA=000.0000 PMDEC=0\

00.0000 E=0FF ANAB=+0.000 ;

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\

ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=Q@STATUS ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

:MAIN_END

:END
</Command>

SETUPCALIB.sk

<Header>

OBE_ID=0HS
OBE_MODE=CISCO
COMMAND=SetupCalib
SCRIPT_ID=SETUPCALIB.sk
SCRIPT_AUTHOR=George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DATASET_ID="DS0000"
FRAMEID=!FITS.0HS.FRAMEID
</Default_Parameter>

<Command>
:START

:MAIN_START

Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=BIAS Exec_Flag=off ;
Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=DARK Exec_Flag=off ;
Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=FLAT Exec_Flag=off ;
Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=off ;
Exec OBC Calib_File Readout=on Instrument_name=0HS TYPE=SKY input_frame=$FRAMEID H

Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=on ;

:MAIN_END

:END
</Command>

SETUPFIELD.sk

<Header>

OBE_ID=0HS
OBE_mode=CISCO
COMMAND=SetupField
SCRIPT_ID=SETUPFIELD.sk
DISPATCHER_VER=1.0
OBCP_VER=1.0
DATE=1999.02.18
AUTHOR=George

</Header>

<Default_Parameter>
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000
AG_SELECT=AUTO
INSROT=-90
I_BOTTOM=2800
</Default_Parameter>

<Command>
:START

{

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

Exec TSC AG Readout=0FF ,

Exec TSC InsRot Motor=0N TELESCOPE=LINK Coord=ABS POSITION=$INSROT F_Select=CS_OPT ,
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Exec TSC TelDrive Motor=0N Coord=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX Direction=TSC ,

Exec VGW Ag_Auto_Select Motor=0N EQUINOX=$EQUINOX RA=$RA DEC=$DEC F_Select=CS Probe_RA=$RA Probe_DEC=$DEC AG_PA=0.0 Probe_R=0.0 Pr\
obe_THETA=000.0 Probe_X=0.0 Probe_Y¥=0.0 Select_Mode=$AG_SELECT DSS_Mode=0N AG_Area=AG1l Instrument=CAC ,

Ty

Exec OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005]

Exec TSC AGSH_Probe Motor=0ON Coord=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=$EQUINOX F_Select=CS PMRA=000.0000 PMDEC=\
000.0000 E=0FF ANAB=+0.000 ;

#Exec TSC AG_Parts Motor=0N Shutter=0PEN ;

:MAIN_START

Exec TSC AG Readout=0ON D_TYPE=0BJ EXPOSURE=3000 BINNING=11 CAL_SKY=OFF CAL_DARK=0FF CAL_FLAT=OFF X1=0 Y1=0 X2=511 Y2=511 ;

Exec OBS Check_Status Mode=AND Timeout=0015 C1=[VGWD.DISP.AG NE !'VGWD.DISP.AG] ;

Exec TSC AG Readout=0FF ;

Exec VGW REGION_SelectION V_LAN_DATA=AG ;

Exec TSC AG Readout=0N D_TYPE=0BJ EXPOSURE=!VGWQ.AGE.EXPTIME BINNING=11 CAL_SKY=0OFF CAL_DARK=0FF CAL_FLAT=0FF X1=!VGWQ.AGE.X1 Yi=!\
VGWQ.AGE.Y1 X2=!VGWQ.AGE.X2 Y2=!VGWQ.AGE.Y2 ;

Exec OBS Check_Status Mode=AND Timeout=0015 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec VGW AG_GUIDE_Area_SelectION Motor=0N;

Exec TSC AG_Centroid Readout=ON CALC_Mode=CTR Calc_Region=1 X1=!VGWQ.AGW1.X1 Y1=!VGWQ.AGW1.Y1 X2=!VGWQ.AGW1.X2 Y2=!VGWQ.AGW1.Y2 I_\
SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0015 C1=[VGWD.DISP.AG NE !'VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Current Calc_Region=1 X=255.00 Y=255.00 ;

Exec TSC AG_Tracking Motor=0N Calc_Region=1 ;

:MAIN_END

Exec 0OBS Check_Status Mode=AND Timeout=0030 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0015 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0030 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
Exec OBS Check_Status Mode=AND Timeout=0015 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec 0OBS Check_Status Mode=AND Timeout=0030 N1=[AG.AGiDX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;

:END
</Command>

SETUPOBE.sk

<Header>

OBE_ID=0HS

OBE_MODE=CISCO
COMMAND=SETUPOBE
SCRIPT_ID=SETUPOBE. sk
SCRIPT_AUTHOR=Motohara/Iwamuro
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
PATH=NOP

FILTER=NOP
</Default_Parameter>

<Command>
: START

:MAIN_START

Exec OHS HAWAII FPATH=$PATH PREFIX="cisco." OBJECT="test" DATTYPE=TEST DATASET="TEST" NSAMPLE=1 EXPMODE=NORMAL EXPTIME=2 ;
Exec OHS FILTER SELECT="HOME"

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=135 ;

Exec OHS SLIT Y=135 ;

:MAIN_END

:END
</Command>

SHOWIMAGE.sk

<Header>

OBE_ID=0HS
OBE_MODE=CISCO
COMMAND=ShowImage
SCRIPT_ID=SHOWIMAGE.sk
SCRIPT_AUTHOR=George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DATASET_ID="DS0000"
FRAMEID=!FITS.OHS.FRAMEID
</Default_Parameter>

<Command>
: START

:MAIN_START

:MAIN_END
Exec OBC QDAS_DISPLAY Instrument_Name=0HS Input_Frame=$FRAMEID ;

:END
</Command>
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SHUTDOWNOBE.sk

<Header>

OBE_ID=0HS
OBE_MODE=CISCO
COMMAND=SHUTDOWNOBE
SCRIPT_ID=SHUTDOWNOBE. sk
SCRIPT_AUTHOR=Motohara
SCRIPT_UPDATE=1999.03.03
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
Mode=ALONE
</Default_Parameter>

<Command>
:START

:MAIN_START

Exec OHS FILTER SELECT="BLANK" ;
Exec OHS SLIT X=135 ;

Exec OHS SLIT Y=135 ;

Exec OHS Mode Mode=$Mode ;

:MAIN_END

:END
</Command>

SHUTDOWNQDAS.sk

<Header>

OBE_ID=0HS
OBE_MODE=CISCO
COMMAND=ShutDownQDAS
Script_ID=0HS0001
Script_Version=1.0
Script_Author=George
Script_Update=1999.03.03
Dispatcher_Version=1.0
</Header>

<Default_Parameter>
</Default_Parameter>

<Command>
:START

:MAIN_START
Exec 0OBC viewer motor=off INSTRUMENT_NAME=0HS ;

:MAIN_END

:END
</Command>

SHUTDOWNQDASVGW.sk

<Header>

OBE_ID=0HS
OBE_MODE=CISCO
COMMAND=ShutDownQDASVGW
Script_ID=0HS0001
Script_Version=1.0
Script_Author=George
Script_Update=1999.03.03
Dispatcher_Version=1.0
</Header>

<Default_Parameter>
</Default_Parameter>

<Command>
: START

:MAIN_START
Exec OBC viewer motor=off INSTRUMENT_NAME=VGW ;

:MAIN_END

:END
</Command>

SHUTDOWNTELESCOPE.sk
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<Header>

OBE_ID=CAC

OBE_MODE=CISCO
COMMAND=ShutdownTelescope
SCRIPT_ID=SHUTDOWNTELESCOPE. sk
DISPATCHER_VER=1.0
OBCP_VER=1.0

DATE=1999.02.18

AUTHOR=George

</Header>

<Default_Parameter>
</Default_Parameter>

<Command>
:START

:MAIN_START

{

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;
Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;
Exec TSC AG Readout=0FF ,

Exec TSC AG_Parts Motor=0ON Shutter=CLOSE ,

¥,

{

Exec TSC AGSH_Probe Motor=0N Coord=rest ;

Exec TSC AGSH_Probe Motor=0FF ,

Exec TSC InsRot Motor=0N Telescope=FREE Coord=ABS Position=+0.0 F_Select=CS ;
Exec TSC InsRot Motor=0FF F_Select=CS ,

#Exec TSC ADC Motor=0N Telescope=FREE Coord=REL Position=+0.0 ;
#Exec TSC ADC Motor=0FF F_Select=CS ,

#+ ,

{

#Exec TSC TelFocus Motor=0N F_Select=CS_opt Coord=REL Z=+0.0 ;
#Exec TSC TelFocus Motor=0FF F_Select=CS_opt ,

},

{

Exec TSC Windscreen Motor=0N Coord=ABS Position=1.0 ;

Exec TSC Windscreen Motor=0FF ,

3,

{

Exec TSC TopScreen Motor=0N Coord=ABS P_Select=FRONT Position=16 ;
Exec TSC TopScreen Motor=0N Coord=ABS P_Select=REAR Position=10 ;
Exec TSC DomeShutter Motor=0N Position=CLOSE ;

Exec TSC AzElDrive Motor=0ON Coord=ABS AZ=-90.0 EL=+89.0 ,

Exec TSC TopScreen Motor=0FF ,

Exec TSC DomeShutter Motor=0FF ,

Y

:MAIN_END

:END
</Command>

TELOFFSET.sk

<Header>

OBE_ID=0HS
OBE_MODE=CISCO
COMMAND=TelOffset
SCRIPT_ID=TELOFFSET.sk
SCRIPT_AUTHOR=IWAMURO
SCRIPT_UPDATE=1999.03.30
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DRA=0.0

DDEC=0.0
</Default_Parameter>

<Command>
:START

:MAIN_START

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec OBS CONVSECRADEC RASEC=$DRA DECSEC=$DDEC RABASE=!STATS.RA DECBASE=!STATS.DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

:MAIN_END

:END
</Command>

TELOFFSETBYVGW.sk

<Header>

OBE_ID=0HS

OBE_MODE=CISCO
COMMAND=TelOffsetbyVGW
SCRIPT_ID=TELOFFSETBYVGW.sk
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SCRIPT_AUTHOR=IWAMURO/TAGUCHI
SCRIPT_UPDATE=1999.04.02
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
</Default_Parameter>

<Command>

:START

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec VGW Ag_Auto_Select Motor=0N EQUINOX=2000.0 RA=!STATS.RA DEC=!STATS.DEC F_Select=CS Probe_RA=!STATS.RA Probe_DEC=!STATS.DEC AG\
_PA=0.0 Probe_R=0.0 Probe_THETA=000.0 Probe_X=0.0 Probe_Y=0.0 Select_Mode=MANUAL DSS_Mode=0ON AG_Area=AGl Instrument=0HS ;
:MAIN_START

Exec TSC TelDrive Motor=0N Coord=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=@STATUS Direction=TSC ;

:MAIN_END

:END
</Command>

TELOFFSET _AG.sk

<Header>

OBE_ID=0HS

OBE_MODE=CISCO
COMMAND=Teloffset_AG
SCRIPT_ID=TELOFFSET_AG. sk
SCRIPT_AUTHOR=IWAMURO
SCRIPT_UPDATE=1999.03.30
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DRA=0.0

DDEC=0.0
</Default_Parameter>

<Command>
:START

:MAIN_START

Exec TSC AG_TRACKING MOTOR=0FF CALC_REGION=1 ;

Exec OBS CONVSECRADEC RASEC=$DRA DECSEC=$DDEC RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AGSH_Probe Motor=0N Coord=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=Q@STATUS F_Select=CS PMRA=000.0000 PMDEC=0\
00.0000 E=0FF ANAB=+0.000 ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN Mode=CURRENT CALC_REGION=1 ;

Exec TSC AG_TRACKING CALC_REGION=1 MOTOR=ON ;

:MAIN_END

:END
</Command>
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E.2.2 CS_BL128
GETOBJECT.sk

<Header>

OBE_ID=0HS
OBE_MODE=CS_BL128
COMMAND=GetObject
SCRIPT_ID=GETOBJECT.sk
SCRIPT_AUTHOR=IWAMURO
SCRIPT_UPDATE=1999.03.30
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="0BJECT"
EXPTIME=NOP
FILTER=NOP
SLITX=NOP

SLITY=NOP

#dummy

NSAMPLE=NOP

RA=NOP

DEC=NOP

EQUINOX=NOP
INSROT=NOP
</Default_Parameter>

<Command>

:START

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=OBJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=BLOCK128 NFRAME=6 NSAMPLE=1 DATASET=$DATASE\
T_ID ;

:MAIN_START
Exec OHS HAWAII NFRAME=6 FRAMEID=&GET_F_NO[OHS A 6] INTEG=GO ;

:MAIN_END

:END
</Command>

GETSTANDARD.sk

<Header>

OBE_ID=0HS
OBE_MODE=CS_BL128
COMMAND=GetStandard
SCRIPT_ID=GETSTANDARD.sk
SCRIPT_AUTHOR=IWAMURO
SCRIPT_UPDATE=1999.03.30
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="STANDARD"
EXPTIME=NOP
FILTER=NOP
SLITX=NOP

SLITY=NOP

#dummy

NSAMPLE=NQOP

RA=NOP

DEC=NOP

EQUINOX=NOP
INSROT=NOP
</Default_Parameter>

<Command>

:START

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=STANDARD_STAR PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=BLOCK128 NFRAME=6 NSAMPLE=1 DATASET=\
$DATASET_ID ;

:MAIN_START
Exec OHS HAWAII NFRAME=6 FRAMEID=&GET_F_NO[OHS A 6] INTEG=GO ;

:MAIN_END

:END
</Command>
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E.2.3 CS_BL64
GETOBJECT.sk

<Header>

OBE_ID=0HS
OBE_MODE=CS_BL64
COMMAND=GetObject
SCRIPT_ID=GETOBJECT.sk
SCRIPT_AUTHOR=IWAMURO
SCRIPT_UPDATE=1999.03.30
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="0BJECT"
EXPTIME=NOP
FILTER=NOP
SLITX=NOP

SLITY=NOP

#dummy

NSAMPLE=NOP

RA=NOP

DEC=NOP

EQUINOX=NOP
INSROT=NOP
</Default_Parameter>

<Command>

:START

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=OBJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=BLOCK64 NFRAME=6 NSAMPLE=1 DATASET=$DATASET\
ID ;

:MAIN_START
Exec OHS HAWAII NFRAME=6 FRAMEID=&GET_F_NO[OHS A 6] INTEG=GO ;

:MAIN_END

:END
</Command>

GETSTANDARD.sk

<Header>

OBE_ID=0HS
OBE_MODE=CS_BL64
COMMAND=GetStandard
SCRIPT_ID=GETSTANDARD.sk
SCRIPT_AUTHOR=IWAMURO
SCRIPT_UPDATE=1999.03.30
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="STANDARD"
EXPTIME=NOP
FILTER=NOP
SLITX=NOP

SLITY=NOP

#dummy

NSAMPLE=NQOP

RA=NOP

DEC=NOP

EQUINOX=NOP
INSROT=NOP
</Default_Parameter>

<Command>

:START

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=STANDARD_STAR PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=BLOCK64 NFRAME=6 NSAMPLE=1 DATASET=$\
DATASET_ID ;

:MAIN_START
Exec OHS HAWAII NFRAME=6 FRAMEID=&GET_F_NO[OHS A 6] INTEG=GO ;

:MAIN_END

:END
</Command>
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E.2.4 CSIMAGING
CHANGEAGPAR.sk

<Header>

OBE_ID=0HS
OBE_MODE=CS_IMAGING
COMMAND=ChangeAGPar
SCRIPT_ID=CHANGEAGPAR.sk
DISPATCHER_VER=1.0
OBCP_VER=1.0
DATE=1999.04.02
AUTHOR=Iwamuro

</Header>

<Default_Parameter>
EXPOSURE=2000
I_BOTTOM=2800
</Default_Parameter>

<Command>

:START

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;
Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;
Exec TSC AG Readout=0FF ;

:MAIN_START

Exec TSC AG Readout=0ON D_TYPE=0BJ EXPOSURE=$EXPOSURE BINNING=11 CAL_SKY=OFF CAL_DARK=0FF CAL_FLAT=0FF ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!VGWQ.AGG1.X1 Y1=!VGWQ.AGG1.Y1 X2=!VGWQ.AGG1.X2 Y2=!VGWQ.AGG1.Y2 I_\
SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 Ci=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Current Calc_Region=1 ;

Exec TSC AG_Tracking Motor=0N Calc_Region=1 ;

:MAIN_END

:END
</Command>

GETOBJECT.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_IMAGING

COMMAND=GetObject
SCRIPT_ID=GETOBJECT.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
INSROT=-90.0
EXPTIME=NOP
FILTER=NOP

SLITX=NOP

SLITY=NOP
NSAMPLE=NOP

NFRAME=1
FRAMEID=GET_F_NO[OHS A 1]
</Default_Parameter>

<Command>
:START

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=OBJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\
3,

{

Exec TSC AG_TRACKING MOTOR=0FF CALC_REGION=1 ;

Exec TSC InsRot Motor=0ON TELESCOPE=LINK Coord=ABS POSITION=$INSROT F_Select=CS ,
Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

Exec OBS Check_Status Mode=AND Timeout=0180 Ni=[STATS.ROTDIF —0.005 +0.005] ;
3

:MAIN_START

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID INTEG=GO ;
:MAIN_END

:END
</Command>

GETOBJECTHERE.sk
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<Header>

OBE_ID=0HS

OBE_MODE=CS_IMAGING

COMMAND=GetObject
SCRIPT_ID=GETOBJECT.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="O0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
INSROT=-90.0
EXPTIME=NOP
FILTER=NOP

SLITX=NOP

SLITY=NOP
NSAMPLE=NOP

NFRAME=1
FRAMEID=&GET_F_NO[OHS A 1]
</Default_Parameter>

<Command>

:START

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=OBJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID INTEG=GO ;

:MAIN_END

:END
</Command>

GETOBJECT_AG.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_IMAGING
COMMAND=GETOBJECT_AG
SCRIPT_ID=GETOBJECT_AG. sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINQOX=2000.0
RA_AG=!STATS.RA
DEC_AG=!STATS.DEC
EQUINOX_AG=2000.0
INSROT=-90.0
EXPTIME=NOP
FILTER=NOP

SLITX=NOP

SLITY=NOP
NSAMPLE=NQOP

NFRAME=1
FRAMEID=¢GET_F_NO[OHS A 1]
</Default_Parameter>

<Command>

:START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=0BJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\
3,

{

Exec TSC AG_TRACKING MOTOR=OFF CALC_REGION=1 ;

Exec TSC InsRot Motor=0N TELESCOPE=LINK Coord=ABS POSITION=$INSROT F_Select=CS ,

Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

Exec 0OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQUINOX_AG ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN Mode=Current CALC_REGION=1 ;

Exec TSC AG_TRACKING CALC_REGION=1 MOTOR=ON ;

Exec 0BS Check_Status Mode=AND Timeout=0090 N1i=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
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#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AGI1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AGI1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
5

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID INTEG=GO

:MAIN_END
Exec TSC AG_TRACKING MOTOR=OFF ;

:END
</Command>

GETOBJECT_VGW.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_IMAGING
COMMAND=GETOBJECT_VGW
SCRIPT_ID=GETOBJECT_VGW.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
INSROT=-90.0
EXPTIME=NOP
FILTER=NOP

SLITX=NOP

SLITY=NOP
NSAMPLE=NOP

NFRAME=1
FRAMEID=4GET_F_NO[OHS A 1]
</Default_Parameter>

<Command>

:START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=OBJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\
3,

{

Exec TSC AG_TRACKING MOTOR=OFF CALC_REGION=1 ;

Exec TSC InsRot Motor=0N TELESCOPE=LINK Coord=ABS POSITION=$INSROT F_Select=CS ,

Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

Exec 0OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN Mode=Current CALC_REGION=1 ;

Exec TSC AG_TRACKING CALC_REGION=1 MOTOR=ON ;

Exec 0BS Check_Status Mode=AND Timeout=0090 N1i=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID INTEG=GO ;

:MAIN_END
Exec TSC AG_TRACKING MOTOR=OFF ;

:END
</Command>

GETSTANDARD.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_IMAGING
COMMAND=GetStandard
SCRIPT_ID=GETSTANDARD.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>

DATASET_ID="DS0000"
OBJECT="STANDARD"
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RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
INSROT=-90.0
EXPTIME=NOP
FILTER=NOP

SLITX=NOP

SLITY=NOP
NSAMPLE=NQOP

NFRAME=1
FRAMEID=&GET_F_NO[OHS A 1]
</Default_Parameter>

<Command>

:START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=STANDARD_STAR PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DAT\
ASET_ID ;

T,
{

Exec TSC AG_TRACKING MOTOR=OFF CALC_REGION=1 ;

Exec TSC InsRot Motor=0N TELESCOPE=LINK Coord=ABS POSITION=$INSROT F_Select=CS ,
Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

Exec OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID INTEG=GO ;

:MAIN_END

:END
</Command>

SETUPFIELD.sk

<Header>

OBE_ID=0HS
OBE_MODE=CS_IMAGING
COMMAND=SetupField
SCRIPT_ID=SETUPFIELD.sk
DISPATCHER_VER=1.0
OBCP_VER=1.0
DATE=1999.03.15
AUTHOR=George

</Header>

<Default_Parameter>
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
INSROT=-90.0
</Default_Parameter>

<Command>

:START

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec TSC InsRot Motor=0N TELESCOPE=LINK Coord=ABS POSITION=$INSROT F_Select=CS ,

Exec TSC TelDrive Motor=0N Coord=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX Direction=TSC ,
#Exec TSC AGSH_Probe Motor=0N Coord=REST ;

:MAIN_START
Exec 0OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

:MAIN_END

:END
</Command>

SETUPFIELD _AG.sk

<Header>

OBE_ID=0HS
OBE_MODE=CS_IMAGING
COMMAND=SetupField_AG
SCRIPT_ID=SETUPFIELD_AG.sk
DISPATCHER_VER=1.0
OBCP_VER=1.0
DATE=1999.03.15
AUTHOR=George

</Header>

<Default_Parameter>
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
RA_AG=!STATS.RA
DEC_AG=!STATS.DEC
EQUINOX_AG=2000.0
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EXPTIME_AG=!VGWQ.AGE.EXPTIME
INSROT=-90.0

I_BOTTOM=2800
</Default_Parameter>

<Command>
: START

{

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

Exec TSC AG Readout=0FF ,

Exec TSC InsRot Motor=ON TELESCOPE=LINK Coord=ABS POSITION=$INSROT F_Select=CS ,

Exec TSC TelDrive Motor=0N Coord=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX Direction=TSC ,
T

Exec 0BS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

Exec TSC AGSH_Probe Motor=0ON Coord=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQUINOX_AG F_Select=CS PMRA=000.0000 PMDEC=000.0000 E=0FF AN\
AB=+0.000 ;

#Exec TSC AG_Parts Motor=0N Shutter=0PEN ;

:MAIN_START

Exec TSC AG Readout=0ON D_TYPE=0BJ EXPOSURE=3000 BINNING=11 CAL_SKY=0FF CAL_DARK=0FF CAL_FLAT=0FF X1=32 Y1=32 X2=410 Y2=410 ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG Readout=0FF ;

Exec VGW REGION_SelectION V_LAN_DATA=AG ;

Exec TSC AG Readout=0ON D_TYPE=0BJ EXPOSURE=!VGWQ.AGE.EXPTIME BINNING=11 CAL_SKY=0FF CAL_DARK=0FF CAL_FLAT=0FF X1=!VGWQ.AGE.X1 Y1=1!\
VGWQ.AGE.Y1 X2=!VGWQ.AGE.X2 Y2=!VGWQ.AGE.Y2 ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec VGW AG_GUIDE_Area_SelectION Motor=0N ;

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!VGWQ.AGG1.X1 Y1=!VGWQ.AGG1.Y1 X2=!VGWQ.AGG1.X2 Y2=!VGWQ.AGG1.Y2 I_\
SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !'VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Current Calc_Region=1 ;

Exec TSC AG_Tracking Motor=0N Calc_Region=1 ;

:MAIN_END

:END
</Command>

SETUPFIELD _VGW.sk

<Header>

OBE_ID=0HS
OBE_MODE=CS_IMAGING
COMMAND=SetupField_VGW
SCRIPT_ID=SETUPFIELD_VGW.sk
DISPATCHER_VER=1.0
OBCP_VER=1.0
DATE=1999.03. 15
AUTHOR=George

</Header>

<Default_Parameter>
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
AG_SELECT=MANUAL
INSROT=-90.0
I_BOTTOM=2800
</Default_Parameter>

<Command>
:START

{

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

Exec TSC AG Readout=0FF ,

Exec TSC InsRot Motor=0N TELESCOPE=LINK Coord=ABS POSITION=$INSROT F_Select=CS ,

Exec TSC TelDrive Motor=0N Coord=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX Direction=TSC ,

Exec VGW Ag_Auto_Select Motor=0N EQUINOX=$EQUINOX RA=$RA DEC=$DEC F_Select=CS Probe_RA=$RA Probe_DEC=$DEC AG_PA=0.0 Probe_R=0.0 Pr\
obe_THETA=000.0 Probe_X=0.0 Probe_Y=0.0 Select_Mode=$AG_SELECT DSS_Mode=0N AG_Area=AG1l Instrument=0HS ,

3

Exec 0BS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

Exec TSC AGSH_Probe Motor=0ON Coord=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=$EQUINOX F_Select=CS PMRA=000.0000 PMDEC=\
000.0000 E=0FF ANAB=+0.000 ;

#Exec TSC AG_Parts Motor=0N Shutter=0PEN ;

:MAIN_START

Exec TSC AG Readout=0N D_TYPE=0BJ EXPOSURE=3000 BINNING=11 CAL_SKY=0FF CAL_DARK=0FF CAL_FLAT=0FF X1=32 Y1=32 X2=410 Y2=410 ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG Readout=0FF ;

Exec VGW REGION_SelectION V_LAN_DATA=AG ;

Exec TSC AG Readout=0N D_TYPE=0BJ EXPOSURE=!VGWQ.AGE.EXPTIME BINNING=11 CAL_SKY=OFF CAL_DARK=0FF CAL_FLAT=OFF X1=!VGWQ.AGE.X1 Y1=!\
VGWQ.AGE.Y1 X2=!VGWQ.AGE.X2 Y2=!VGWQ.AGE.Y2 ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec VGW AG_GUIDE_Area_SelectION Motor=0N ;

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!VGWQ.AGG1.X1 Y1=!VGWQ.AGG1.Y1 X2=!VGWQ.AGG1.X2 Y2=!VGWQ.AGG1.Y2 I_\
SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Current Calc_Region=1 ;

Exec TSC AG_Tracking Motor=0N Calc_Region=1 ;

:MAIN_END
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:END
</Command>
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E.2.5 CSIMAGING4
GETOBJECT.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_IMAGING4
COMMAND=GetObject
SCRIPT_ID=GETOBJECT.sk
SCRIPT_AUTHOR=IWAMURO/MOTOHARA/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=20.0

OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
INSROT=-90.0

EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=4GET_F_NO[OHS A 6]
FRAMEID2=&GET_F_NO[OHS A 6]
FRAMEID3=&GET_F_NO[OHS A 6]
FRAMEID4=&GET_F_NO[OHS A 6]
</Default_Parameter>

<Command>

:START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=0BJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\
3,

{

Exec TSC INSROT F_Select=CS TELESCOPE=LINK COORD=ABS POSITION=$INSROT ,

Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

Exec 0OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

#P0S1

Exec OBS CONVSECRADEC RASEC=($DITH * 0.5) DECSEC=($DITH * 0.5) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

}s

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

#P0S2

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * -1.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELQUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

#P0S3

Exec OBS CONVSECRADEC RASEC=($DITH * -1.0) DECSEC=($DITH * 0.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAIT NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;

#P0S4

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * 1.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAIT NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;

:MAIN_END
Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

:END
</Command>

GETOBJECT_AG.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_IMAGING4
COMMAND=GetObject_AG
SCRIPT_ID=GETOBJECT_AG. sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=20.0
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
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RA_AG=NOP

DEC_AG=NOP

EQUINOX_AG=NOP
INSROT=-90.0

EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=¢GET_F_NO[OHS A 6]
FRAMEID2=¢GET_F_NO[OHS A 6]
FRAMEID3=4GET_F_NO[OHS A 6]
FRAMEID4=&GET_F_NO[OHS A 6]
</Default_Parameter>

<Command>

: START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=0BJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\
3,

{

Exec TSC AG_TRACKING MOTOR=OFF CALC_REGION=1 ;

Exec TSC INSROT F_Select=CS TELESCOPE=LINK COORD=ABS POSITION=$INSROT ,

Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

Exec 0OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

#P0S1

Exec OBS CONVSECRADEC RASEC=($DITH * 0.5) DECSEC=($DITH * 0.5) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQUINOX_AG ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN Mode=Current CALC_REGION=1 ;

Exec TSC AG_TRACKING CALC_REGION=1 MOTOR=ON ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
s

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;
Exec TSC AG_TRACKING MOTOR=OFF ;

#P0S2

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * -1.0) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQUINOX_AG ;

Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN Mode=Current CALC_REGION=1 ;

Exec TSC AG_TRACKING CALC_REGION=1 MOTOR=ON ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec 0BS Check_Status Mode=AND Timeout=0060 Ni=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S3

Exec OBS CONVSECRADEC RASEC=($DITH * -1.0) DECSEC=($DITH * 0.0) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQUINOX_AG ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN Mode=Current CALC_REGION=1 ;

Exec TSC AG_TRACKING CALC_REGION=1 MOTOR=ON ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec 0BS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S4

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * 1.0) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQUINOX_AG ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN Mode=Current CALC_REGION=1 ;

Exec TSC AG_TRACKING CALC_REGION=1 MOTOR=ON ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

257



Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

:MAIN_END
Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

:END
</Command>

GETOBJECT_VGW.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_IMAGING4
COMMAND=GetObject_VGW
SCRIPT_ID=GETOBJECT_VGW.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=20.0

OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
INSROT=-90.0

EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=&GET_F_NO[OHS A 6]
FRAMEID2=&GET_F_NO[OHS A 6]
FRAMEID3=&GET_F_NO[OHS A 6]
FRAMEID4=&GET_F_NO[OHS A 6]
</Default_Parameter>

<Command>

:START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=0BJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\
},

{

Exec TSC AG_TRACKING MOTOR=OFF CALC_REGION=1 ;

Exec TSC INSROT F_Select=CS TELESCOPE=LINK COORD=ABS POSITION=$INSROT ,

Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

Exec OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
#P0S1

Exec OBS CONVSECRADEC RASEC=($DITH * 0.5) DECSEC=($DITH * 0.5) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN Mode=Current CALC_REGION=1 ;

Exec TSC AG_TRACKING CALC_REGION=1 MOTOR=ON ;

Exec 0BS Check_Status Mode=AND Timeout=0060 Ni=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
s

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;
Exec TSC AG_TRACKING MOTOR=OFF ;

#P0S2

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * -1.0) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

Exec TSC AG_ORIGIN Mode=Current CALC_REGION=1 ;

Exec TSC AG_TRACKING CALC_REGION=1 MOTOR=ON ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 Ni=[AG.AGiDX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
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#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S3

Exec OBS CONVSECRADEC RASEC=($DITH * -1.0) DECSEC=($DITH * 0.0) RABASE=$RA DECBASE=$DEC

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN Mode=Current CALC_REGION=1 ;

Exec TSC AG_TRACKING CALC_REGION=1 MOTOR=ON ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 Ni=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S4

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * 1.0) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN Mode=Current CALC_REGION=1 ;

Exec TSC AG_TRACKING CALC_REGION=1 MOTOR=ON ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec 0BS Check_Status Mode=AND Timeout=0060 Ni=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

:MAIN_END
Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

:END
</Command>

GETSTANDARD.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_IMAGING4
COMMAND=GetStandard
SCRIPT_ID=GETSTANDARD.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=20.0
OBJECT="STANDARD"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
INSROT=-90.0

EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NQOP

NFRAME=6

FRAMEID1=&GET_F _NO[OHS A 6]
FRAMEID2=4GET_F_NO[OHS A 6]
FRAMEID3=&GET_F_NO[OHS A 6]
FRAMEID4=&GET_F _NO[OHS A 6]
</Default_Parameter>

<Command>

: START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=STANDARD_STAR PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DAT\
ASET_ID ;

{

Exec TSC INSROT F_Select=CS TELESCOPE=LINK COORD=ABS POSITION=$INSROT ,

Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

Exec OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;
#P0S1
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Exec OBS CONVSECRADEC RASEC=($DITH * 0.5) DECSEC=($DITH * 0.5) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELQOUT DEC=!STATOBS.DECRELOUT
}s

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

#P0S2

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * -1.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELQUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

#P0S3

Exec OBS CONVSECRADEC RASEC=($DITH * -1.0) DECSEC=($DITH * 0.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELQUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;

#P0S4

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * 1.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAIT NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;

:MAIN_END
Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

:END
</Command>
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E.2.6 CSIMAGING4SKY4
GETOBJECT_VGW.sk

<Header>

OBE_ID=0HS
OBE_MODE=CS_IMAGING4SKY4
COMMAND=GetObject_VGW
SCRIPT_ID=GETOBJECT_VGW.sk
SCRIPT_AUTHOR=IWAMURO
SCRIPT_UPDATE=1999.04.01
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=20.0
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
INSROT=-90.0
EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=&GET_F_NO [OHS
FRAMEID2=4GET_F _NO[OHS
FRAMEID3=4GET_F_NO[OHS A 6]
FRAMEID4=4GET_F_NO[OHS A 6]

A 6]
A
A
A

FRAMEID5=¢GET_F_NO[OHS A 6]
A
A
A

6]

FRAMEID6=4GET_F_NO[OHS A 6]
FRAMEID7=&GET_F_NO[OHS A 6]
FRAMEID8=4GET_F_NO[OHS A 6]
DRA_SKY=180.0;
DDEC_SKY=180.0;
</Default_Parameter>

<Command>

:START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=OBJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\
3,

{

Exec TSC AG_TRACKING MOTOR=OFF ;

Exec TSC INSROT F_Select=CS TELESCOPE=LINK COORD=ABS POSITION=$INSROT ,

Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

Exec OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
#P0S1

Exec OBS CONVSECRADEC RASEC=($DITH / 6.0) DECSEC=($DITH / 2.0) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELQUT DEC=!STATOBS.DECRELOUT

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING ;

#Exec 0BS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX —-300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX —200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Timeout=0060 N1=[AG.AGI1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;

3

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;
Exec TSC AG_TRACKING MOTOR=0FF ;

#SKY1

Exec OBS CONVSECRADEC RASEC=$DRA_SKY DECSEC=$DDEC_SKY RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Exec TSC TELDRIVE COORD=REL RA=(!STATOBS.RARELOUT * -1.0) DEC=(!STATOBS.DECRELOUT * -1.0) ;

#P0S2

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * -1.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING ;

Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec 0OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AGiDY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#SKY2
Exec OBS CONVSECRADEC RASEC=$DRA_SKY DECSEC=$DDEC_SKY RABASE=$RA DECBASE=$DEC ;
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Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;
Exec TSC TELDRIVE COORD=REL RA=(!STATOBS.RARELOUT * -1.0) DEC=(!STATOBS.DECRELOUT * -1.0) ;

#P0S3

Exec OBS CONVSECRADEC RASEC=($DITH / -1.5) DECSEC=($DITH / 1.5) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec 0OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING ;

Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec 0BS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec 0OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AGiDY -200.0 +200.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID5 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=OFF ;

#SKY3

Exec OBS CONVSECRADEC RASEC=$DRA_SKY DECSEC=$DDEC_SKY RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID6 INTEG=GO ;

Exec TSC TELDRIVE COORD=REL RA=(!STATOBS.RARELOUT * -1.0) DEC=(!STATOBS.DECRELOUT * -1.0) ;

#P0S4

Exec OBS CONVSECRADEC RASEC=($DITH * 1.0) DECSEC=($DITH * 0.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING ;

Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID7 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=OFF ;

#SKY4

Exec OBS CONVSECRADEC RASEC=$DRA_SKY DECSEC=$DDEC_SKY RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID8 INTEG=GO ;

:MAIN_END
Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

:END
</Command>
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E.2.7 CSIMAGINGS
GETOBJECT.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_IMAGINGS
COMMAND=GetObject
SCRIPT_ID=GETOBJECT.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=20.0
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
INSROT=-90.0
EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=&GET_F_NO [OHS
FRAMEID2=4GET_F _NO[OHS
FRAMEID3=4GET_F_NO[OHS A 6]
FRAMEID4=4GET_F_NO[OHS A 6]

A 6]
A
A
A

FRAMEID5=¢GET_F_NO[OHS A 6]
A
A
A

6]

FRAMEID6=4GET_F_NO[OHS A 6]
FRAMEID7=&GET_F_NO[OHS A 6]
FRAMEID8=4GET_F_NO[OHS A 6]
</Default_Parameter>

<Command>

:START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=0BJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\
3,

{

Exec TSC INSROT F_Select=CS TELESCOPE=LINK COORD=ABS POSITION=$INSROT ,

Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

Exec OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

#P0S1

Exec OBS CONVSECRADEC RASEC=($DITH / 6.0) DECSEC=($DITH / 2.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

3

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

#P0S2

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * -1.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

#P0S3

Exec OBS CONVSECRADEC RASEC=($DITH * -2.0 / 3.0) DECSEC=($DITH * 2.0 / 3.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;

#P0S4

Exec OBS CONVSECRADEC RASEC=($DITH * 1.0) DECSEC=($DITH * 0.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;

#P0S5

Exec OBS CONVSECRADEC RASEC=($DITH * -2.0 / 3.0) DECSEC=($DITH * -2.0 / 3.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID5 INTEG=GO ;

#P0S6

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * 1.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID6 INTEG=GO ;

#P0S7

Exec OBS CONVSECRADEC RASEC=($DITH * 2.0 / 3.0) DECSEC=($DITH * -2.0 / 3.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID7 INTEG=GO ;

#P0S8

Exec OBS CONVSECRADEC RASEC=($DITH * -1.0) DECSEC=($DITH * 0.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID8 INTEG=GO ;

:MAIN_END
Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

:END
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</Command>

GETOBJECT_AG.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_IMAGING8
COMMAND=GetObject_AG
SCRIPT_ID=GETOBJECT_AG. sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=20.0
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
RA_AG=NOP

DEC_AG=NOP
EQUINOX_AG=NOP
INSROT=-90.0
EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=&GET_F_NO [OHS
FRAMEID2=4GET_F _NO[OHS
FRAMEID3=&GET_F_NO [OHS
FRAMEID4=¢GET_F _NO [OHS
FRAMEID5=4GET_F _NO[OHS
FRAMEID6=&GET_F_NO [OHS
FRAMEID7=&GET_F _NO[OHS
FRAMEID8=&GET_F_NO [OHS
</Default_Parameter>

L S
[
=

<Command>
:START

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=0BJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\
3,

{

Exec TSC AG_TRACKING MOTOR=0FF ;

Exec TSC INSROT F_Select=CS TELESCOPE=LINK COORD=ABS POSITION=$INSROT ,

Exec TSC TELDRIVE RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

Exec 0OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

#P0S1

Exec OBS CONVSECRADEC RASEC=($DITH / 6.0) DECSEC=($DITH / 2.0) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQUINOX_AG ;

Exec 0OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING MOTOR=ON ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec 0OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Timeout=0060 N1=[AG.AGI1DX -150.0 +150.0] N2=[AG.AGiDY -150.0 +150.0] ;
s

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;
Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S2

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * -1.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQ_AG ;

Exec 0OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING MOTOR=ON ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec 0OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AGiDY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec 0BS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S3
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Exec OBS
Exec TSC
Exec TSC
Exec 0BS
Exec TSC
Exec TSC
Exec OBS
Exec 0BS
Exec 0BS
Exec OBS

CONVSECRADEC RASEC=($DITH / -1.5) DECSEC=($DITH / 1.5) RABASE=$RA DECBASE=$DEC ;
TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT
AGSH_Probe F_Select=CS COORD=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQ_AG ;

Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

AG_ORIGIN ;
AG_TRACKING MOTOR=ON ;

Check_Status Timeout=0060 N1=[AG.AG1DX -300.0
Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
Check_Status Timeout=0060 N1=[AG.AG1iDX -300.0
Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
#Exec OBS Check_Status Timeout=0060 N1=[AG.AGIDX -150.0

+300.0] N2=[AG.AG1DY -300.0 +300.0]

'VGWD .DISP.AG]

+300.0] N2=[AG.AGIDY -300.0 +300.0]

''VGWD .DISP.AG]

+300.0] N2=[AG.AG1DY -300.0 +300.0]

1VGWD .DISP.AG]

+200.0] N2=[AG.AG1DY -200.0 +200.0]

1VGWD .DISP.AG]

+150.0] N2=[AG.AGIDY -150.0 +150.0]

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;

Exec TSC

#P0S4

Exec 0BS
Exec TSC
Exec TSC
Exec 0BS
Exec TSC
Exec TSC
Exec OBS
Exec 0BS
Exec 0BS
Exec 0BS

AG_TRACKING MOTOR=OFF ;

CONVSECRADEC RASEC=($DITH * 1.0) DECSEC=($DITH * 0.0) RABASE=$RA DECBASE=$DEC ;
TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT
AGSH_Probe F_Select=CS COORD=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQ_AG ;

Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

AG_ORIGIN ;
AG_TRACKING MOTOR=ON ;

Check_Status Timeout=0060 N1=[AG.AG1DX -300.0
Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
Check_Status Timeout=0060 N1=[AG.AG1DX -300.0
Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
#Exec OBS Check_Status Timeout=0060 N1i=[AG.AG1DX -300.0
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
#Exec OBS Check_Status Timeout=0060 N1=[AG.AGIDX -150.0

+300.0] N2=[AG.AG1DY -300.0 +300.0]

'VGWD .DISP.AG]

+300.0] N2=[AG.AG1DY -300.0 +300.0]

'VGWD .DISP.AG]

+300.0] N2=[AG.AGIDY -300.0 +300.0]

1'VGWD .DISP.AG]

+200.0] N2=[AG.AG1DY -200.0 +200.0]

'VGWD .DISP.AG]

+150.0] N2=[AG.AG1DY -150.0 +150.0]

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;

Exec TSC

#P0S5

Exec 0BS
Exec TSC
Exec TSC
Exec OBS
Exec TSC
Exec TSC
Exec 0BS
Exec 0BS
Exec 0BS
Exec 0BS

#Exec O0BS Check_Status
#Exec OBS Check_Status
#Exec OBS Check_Status
#Exec OBS Check_Status
#Exec OBS Check_Status

AG_TRACKING MOTOR=0FF ;

CONVSECRADEC RASEC=($DITH / -1.5) DECSEC=($DITH / -1.5) RABASE=$RA DECBASE=$DEC ;
TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT
AGSH_Probe F_Select=CS COORD=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQ_AG ;

Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

AG_ORIGIN ;
AG_TRACKING MOTOR=ON ;

Check_Status Timeout=0060 N1=[AG.AG1DX -300.0
Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
Check_Status Timeout=0060 N1=[AG.AG1DX -300.0
Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
Timeout=0060 N1=[AG.AGIDX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0]
Timeout=0060 C1=[VGWD.DISP.AG NE
Timeout=0060 N1=[AG.AG1DX -200.0
Timeout=0060 C1=[VGWD.DISP.AG NE
Timeout=0060 N1=[AG.AG1DX -150.0

+300.0] N2=[AG.AG1DY -300.0 +300.0]

!'VGWD . DISP .AG]

+300.0] N2=[AG.AG1DY -300.0 +300.0]

'VGWD .DISP.AG]

1VGWD .DISP.AG]

+200.0] N2=[AG.AG1DY -200.0 +200.0]

1'VGWD .DISP.AG]

+150.0] N2=[AG.AG1DY -150.0 +150.0]

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID5 INTEG=GO ;

Exec TSC

#P0S6

Exec 0BS
Exec TSC
Exec TSC
Exec 0BS
Exec TSC
Exec TSC
Exec 0BS
Exec 0BS
Exec 0BS
Exec 0BS

#Exec OBS Check_Status Timeout=0060 N1i=[AG.AG1DX -300.0
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -150.0

AG_TRACKING MOTOR=OFF ;

CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * 1.0) RABASE=$RA DECBASE=$DEC ;
TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT
AGSH_Probe F_Select=CS COORD=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQ_AG ;

Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

AG_ORIGIN ;
AG_TRACKING MOTOR=ON ;

Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0]

Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0]

Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

+300.0] N2=[AG.AGIDY -300.0 +300.0]

1'VGWD .DISP.AG]

+200.0] N2=[AG.AG1DY -200.0 +200.0]

1VGWD .DISP.AG]

+150.0] N2=[AG.AG1DY -150.0 +150.0]

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID6 INTEG=GO ;

Exec TSC

#P0OS7

Exec 0BS
Exec TSC
Exec TSC
Exec 0BS
Exec TSC
Exec TSC
Exec 0BS
Exec 0BS
Exec 0BS
Exec 0BS

AG_TRACKING MOTOR=OFF ;

CONVSECRADEC RASEC=($DITH / 1.5) DECSEC=($DITH / -1.5) RABASE=$RA DECBASE=$DEC ;

TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

AGSH_Probe F_Select=CS COORD=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQ_AG ;

Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

AG_ORIGIN ;
AG_TRACKING MOTOR=ON ;

Check_Status Timeout=0060 N1=[AG.AG1iDX -300.0
Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
Check_Status Timeout=0060 N1=[AG.AG1DX -300.0
Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE
#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0

+300.0] N2=[AG.AGIDY -300.0 +300.0]

!'VGWD . DISP .AG]

+300.0] N2=[AG.AG1DY -300.0 +300.0]

'VGWD .DISP.AG]

+300.0] N2=[AG.AG1DY -300.0 +300.0]

#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Timeout=0060 Ni=[AG.AG1DX -200.0

+200.0] N2=[AG.AGIDY -200.0 +200.0]

#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -150.0

+150.0] N2=[AG.AG1DY -150.0 +150.0]

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID7 INTEG=GO ;

Exec TSC

#P0S8

Exec OBS CONVSECRADEC RASEC=($DITH * -1.0) DECSEC=($DITH * 0.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT
Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQ_AG ;

AG_TRACKING MOTOR=OFF ;

Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]
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Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING MOTOR=ON ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Timeout=0060 Ni=[AG.AGI1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID8 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=OFF ;

:MAIN_END
Exec TSC TELDRIVE RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

:END
</Command>

GETOBJECT_VGW.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_IMAGINGS
COMMAND=GetObject_VGW
SCRIPT_ID=GETOBJECT_VGW.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=20.0
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0

INSROT=-90.0

EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=¢GET_F_NO[OHS A 6]
FRAMEID2=4GET_F_NO[OHS A 6]
FRAMEID3=&GET_F_NO[OHS A 6]
FRAMEID4=4GET_F_NO[OHS A 6]
FRAMEID5=&GET_F_NO[OHS A 6]
FRAMEID6=&GET_F_NO[OHS A 6]
FRAMEID7=&GET_F_NO[OHS A 6]
FRAMEID8=&GET_F_NO[OHS A 6]

</Default_Parameter>

<Command>

:START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=0BJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\
¥,

{

Exec TSC AG_TRACKING MOTOR=0FF ;

Exec TSC INSROT F_Select=CS TELESCOPE=LINK COORD=ABS POSITION=$INSROT ,

Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

Exec OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
#P0S1

Exec OBS CONVSECRADEC RASEC=($DITH / 6.0) DECSEC=($DITH / 2.0) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec 0OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec 0OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Timeout=0060 Ni=[AG.AGI1DX -150.0 +150.0] N2=[AG.AGiDY -150.0 +150.0] ;
s

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;
Exec TSC AG_TRACKING MOTOR=OFF ;

#P0S2

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * -1.0) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELQUT DEC=!STATOBS.DECRELOUT

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
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Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING ;

Exec 0OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec 0BS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S3

Exec OBS CONVSECRADEC RASEC=($DITH / -1.5) DECSEC=($DITH / 1.5) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec 0OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec 0OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AGiDY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec 0BS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S4

Exec OBS CONVSECRADEC RASEC=($DITH * 1.0) DECSEC=($DITH * 0.0) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec 0BS Check_Status Timeout=0060 Ni=[AG.AG1DX -300.0 +300.0] N2=[AG.AGiDY -300.0 +300.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S5

Exec OBS CONVSECRADEC RASEC=($DITH / -1.5) DECSEC=($DITH / -1.5) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX —-300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec 0OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX —-300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX —-300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX —200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX —-150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID5 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=OFF ;

#P0S6

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * 1.0) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec 0BS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AGiDY -300.0 +300.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID6 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S7

Exec OBS CONVSECRADEC RASEC=($DITH / 1.5) DECSEC=($DITH / -1.5) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING ;

Exec 0OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AGiDY -300.0 +300.0] ;
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Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec 0BS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AGiDY -300.0 +300.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID7 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=OFF ;

#P0S8

Exec OBS CONVSECRADEC RASEC=($DITH * -1.0) DECSEC=($DITH * 0.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELQUT DEC=!STATOBS.DECRELQOUT ;

Exec TSC AGSH_Probe F_Select=CS COORD=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=2000.0 ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_ORIGIN ;

Exec TSC AG_TRACKING ;

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -300.0 +300.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Timeout=0060 Ni=[AG.AG1DX -200.0 +200.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Timeout=0060 N1=[AG.AG1DX -150.0 +150.0] N2=[AG.AG1DY -150.0 +150.0] ;
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID8 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

:MAIN_END
Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

:END
</Command>

GETSTANDARD.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_IMAGINGS

COMMAND=Get Standard
SCRIPT_ID=GETSTANDARD. sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=20.0
OBJECT="STANDARD"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
INSROT=-90.0
EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=&GET_F_NO [OHS
FRAMEID2=&GET_F_NO [OHS
FRAMEID3=4GET_F _NO[OHS
FRAMEID4=&GET_F_NO [OHS
FRAMEID5=¢GET_F _NO [OHS
FRAMEID6=4GET_F _NO[OHS
FRAMEID7=&GET_F_NO [OHS
FRAMEID8=4GET_F _NO[OHS
</Default_Parameter>

L
)
=

<Command>

: START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=STANDARD_STAR PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DAT\
ASET_ID ;

T,
{

Exec TSC INSROT F_Select=CS TELESCOPE=LINK COORD=ABS POSITION=$INSROT ,

Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

Exec 0OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

#POS1

Exec OBS CONVSECRADEC RASEC=($DITH / 6.0) DECSEC=($DITH / 2.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELQUT DEC=!STATOBS.DECRELOUT

3

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

#P0S2

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * -1.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;
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#P0S3

Exec 0BS CONVSECRADEC RASEC=($DITH * -2.0 / 3.0) DECSEC=($DITH * 2.0 / 3.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;

#P0S4

Exec 0BS CONVSECRADEC RASEC=($DITH * 1.0) DECSEC=($DITH * 0.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec OHS HAWAIT NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;

#P0S5

Exec OBS CONVSECRADEC RASEC=($DITH * -2.0 / 3.0) DECSEC=($DITH * -2.0 / 3.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEIDS INTEG=GO ;

#P0S6

Exec OBS CONVSECRADEC RASEC=($DITH * 0.0) DECSEC=($DITH * 1.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID6 INTEG=GO ;

#P0S7

Exec 0OBS CONVSECRADEC RASEC=($DITH * 2.0 / 3.0) DECSEC=($DITH * -2.0 / 3.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID7 INTEG=GO ;

#P0S8

Exec OBS CONVSECRADEC RASEC=($DITH * -1.0) DECSEC=($DITH * 0.0) RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID8 INTEG=GO ;

:MAIN_END
Exec TSC TELDRIVE COORD=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX ;

:END
</Command>
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E.2.8 CS_SNG
GETOBJECT.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_SNG

COMMAND=GetObject
SCRIPT_ID=GETOBJECT.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
SCAN=1.0

DITH=8.0
OBJECT="0BJECT"
EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=&GET_F _NO [OHS
FRAMEID2=¢GET_F_NO [OHS
FRAMEID3=¢GET_F_NO[OHS
FRAMEID4=&GET_F _NO [OHS
FRAMEID5=&GET_F_NO [OHS
FRAMEID6=&GET_F _NO [OHS
FRAMEID7=¢GET_F_NO [OHS
FRAMEID8=&GET_F_NO[OHS
I_BOTTOM=2800

#dummy

RA=NOP

DEC=NOP

EQUINOX=NOP

INSROT=NOP
</Default_Parameter>

LR
)
=

<Command>

:START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=OBJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\
¥,

Exec OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

:MAIN_START

#P0S1

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;
Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

#P0S2

Exec 0BS CONVSECRADEC RASEC=($SCAN * 3.0) DECSEC=($DITH / 3.0) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=($SCAN * 3.0) DEC_REL=($DITH / 3.0) AZ=Q@STATUS EL=QSTATUS ROTATOR=Q@STATUS PROBET:
ORIGIN_X1=@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=QSTATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CENTROID_Y2=Q@STATUS ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

@STATUS \

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;
Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;
Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

#P0S3

Exec OBS CONVSECRADEC RASEC=($SCAN * -1.0) DECSEC=($DITH / -6.0) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=($SCAN * -1.0) DEC_REL=($DITH / -6.0) AZ=@STATUS EL=@STATUS ROTATOR=@STATUS PROBET=@STATU\
S ORIGIN_X1=Q@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=Q@STATUS CENTROID_Y2=QSTATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;
Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;
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Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

#P0S4

Exec 0BS CONVSECRADEC RASEC=($SCAN * -1.0) DECSEC=($DITH / -6.0) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=($SCAN * -1.0) DEC_REL=($DITH / -6.0) AZ=Q@STATUS EL=@STATUS ROTATOR=@STATUS PROBET=QSTATU\
S ORIGIN_X1=@STATUS ORIGIN_Y1=QSTATUS CENTROID_X1=QSTATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CENTROID_Y2=QSTATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=ON Cacl_Region=1 ;

Exec 0BS Check_Status Mode=AND Timeout=0090 N1i=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;
Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;
Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

#P0S1

Exec OBS CONVSECRADEC RASEC=($SCAN * -1.0) DECSEC=($DITH / -6.0) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=($SCAN * -1.0) DEC_REL=($DITH / -6.0) AZ=Q@STATUS EL=@STATUS ROTATOR=@STATUS PROBET=QSTATU\
S ORIGIN_X1=@STATUS ORIGIN_Y1=QSTATUS CENTROID_X1=QSTATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CENTROID_Y2=QSTATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELQUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;
Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;
Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

#P0S5

Exec OBS CONVSECRADEC RASEC=($SCAN * -1.0) DECSEC=($DITH / -6.0) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=($SCAN * -1.0) DEC_REL=($DITH / -6.0) AZ=Q@STATUS EL=@STATUS ROTATOR=@STATUS PROBET=QSTATU\
S ORIGIN_X1=@STATUS ORIGIN_Y1=QSTATUS CENTROID_X1=QSTATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CENTROID_Y2=QSTATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID5 INTEG=GO ;
Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;
Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

#P0S6

Exec OBS CONVSECRADEC RASEC=($SCAN * -1.0) DECSEC=($DITH / -6.0) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=($SCAN * -1.0) DEC_REL=($DITH / -6.0) AZ=@STATUS EL=@STATUS ROTATOR=@STATUS PROBET=@STATU\
S ORIGIN_X1=@STATUS ORIGIN_Y1=Q@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CENTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID6 INTEG=GO ;
Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;
Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

#P0S7

Exec OBS CONVSECRADEC RASEC=($SCAN * -1.0) DECSEC=($DITH / -6.0) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=($SCAN * -1.0) DEC_REL=($DITH / -6.0) AZ=@STATUS EL=@STATUS ROTATOR=@STATUS PROBET=@STATU\
S ORIGIN_X1=@STATUS ORIGIN_Y1=Q@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CENTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

271



Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID7 INTEG=GO
:MAIN_END

:END
</Command>

GETSTANDARD.sk

<Header>

OBE_ID=0HS

0OBE_Mode=CS_SPECTROSCOPY2
COMMAND=GetStandard
SCRIPT_ID=GETSTANDARD.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=10.0
OBJECT="STANDARD"
EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=¢4GET_F_NO[OHS A 6]
FRAMEID2=&GET_F_NO[OHS A 6]
I_BOTTOM=2800

#dummy

RA=NOP

DEC=NOP

EQUINOX=NOP

INSROT=NOP
</Default_Parameter>

<Command>

:START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=STANDARD_STAR PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DAT\
ASET_ID ;

T,
{

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S1

Exec OBS CONVSECRADEC RASEC=0.0 DECSEC=($DITH / 2.0) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=0.0 DEC_REL=($DITH / 2.0) AZ=QSTATUS EL=Q@STATUS ROTATOR=Q@STATUS PROBET=Q@STATUS ORIGIN_X1=\
@STATUS ORIGIN_Y1=Q@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=QSTATUS CENTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

s

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF
#P0S2

Exec OBS CONVSECRADEC RASEC=0.0 DECSEC=(-1.0 * $DITH ) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=0.0 DEC_REL=(-1.0 * $DITH ) AZ=Q@STATUS EL=@STATUS ROTATOR=@STATUS PROBET=Q@STATUS ORIGIN_X\
1=@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=Q@STATUS CENTROID_Y1=@STATUS CENTROID_X2=Q@STATUS CENTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

#P0SO

Exec OBS CONVSECRADEC RASEC=0.0 DECSEC=($DITH / 2.0) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=0.0 DEC_REL=($DITH / 2.0) AZ=QSTATUS EL=QSTATUS ROTATOR=@STATUS PROBET=Q@STATUS ORIGIN_X1=\
@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CENTROID_Y2=@STATUS ;
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Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

:MAIN_END

:END
</Command>
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E.2.9 CS_SPECTROSCOPY
GETOBJECT.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_SPECTROSCOPY
COMMAND=GetObject
SCRIPT_ID=GETOBJECT.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="0BJECT"
EXPTIME=NOP
FILTER=NOP

SLITX=NOP

SLITY=NOP
NSAMPLE=NOP

NFRAME=1
FRAMEID=4GET_F_NO[OHS A 1]
#dummy

RA=NOP

DEC=NOP

EQUINOX=NOP
INSROT=NOP
</Default_Parameter>

<Command>

:START

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=OBJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID INTEG=GO ;

:MAIN_END

:END
</Command>

GETSTANDARD.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_SPECTROSCOPY
COMMAND=GetStandard
SCRIPT_ID=GETSTANDARD.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.03.15
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="STANDARD"
EXPTIME=NOP
FILTER=NOP

SLITX=NOP

SLITY=NOP
NSAMPLE=NOP

NFRAME=1
FRAMEID=¢GET_F_NO[OHS A 1]
#dummy

RA=NOP

DEC=NOP

EQUINOX=NOP
INSROT=NOP
</Default_Parameter>

<Command>

:START

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=STANDARD_STAR PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DAT\
ASET_ID ;

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID INTEG=GO ;

:MAIN_END

:END
</Command>

SETUPFIELD.sk
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<Header>

OBE_ID=0HS
OBE_MODE=CS_SPECTROSCOPY
COMMAND=SetupField
SCRIPT_ID=SETUPFIELD.sk
DISPATCHER_VER=1.0
OBCP_VER=1.0
DATE=1999.03. 15
AUTHOR=George

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000
AG_SELECT=MANUAL
INSROT=-90

EXPTIME=nop

SLITX=nop

SLITY=nop

SLITXOPEN=100

FILTER=nop

NSAMPLE=NOP

NFRAME=1
FRAMEIDO=&Get_F_NO[OHS A]
FRAMEID1=gGet_F_NO[OHS Al
FRAMEID2=&Get_F_NO[OHS A]
FRAMEID3=gGet_F_NO[OHS Q]
FRAMEID4=gGet_F_NO[OHS Q]
I_BOTTOM=2800

SKY_P0S=15
</Default_Parameter>

<Command>
:START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITXOPEN ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII EXPTIME=$EXPTIME OBJECT=$0BJECT DATTYPE=TEST DATASET=$DATASET_ID NSAMPLE=$NSAMPLE ;

¥,

{

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

Exec TSC AG Readout=0FF ,

Exec TSC InsRot Motor=0ON TELESCOPE=LINK Coord=ABS POSITION=$INSROT F_Select=CS ,

Exec TSC TelDrive Motor=0ON Coord=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX Direction=TSC ,

Exec VGW Ag_Auto_Select Motor=ON EQUINOX=$EQUINOX RA=$RA DEC=$DEC F_Select=CS Probe_RA=$RA Probe_DEC=$DEC AG_PA=0.0 Probe_R=0.0 Pr\
obe_THETA=000.0 Probe_X=0.0 Probe_Y=0.0 Select_Mode=$AG_SELECT DSS_Mode=0N AG_Area=AG1l Instrument=0HS ,

Y

Exec OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

Exec TSC AGSH_Probe Motor=0N Coord=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=$EQUINOX F_Select=CS PMRA=000.0000 PMDEC=\
000.0000 E=0FF ANAB=+0.000 ;

#Exec TSC AG_Parts Motor=0N Shutter=0PEN ;

Exec OBS ConvSecRADEC RASEC=0.0 DECSEC=$SKY_POS RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

:MAIN_START

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEIDO INTEG=GO ;

{

Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=BIAS Exec_Flag=off ;
Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=DARK Exec_Flag=off ;
Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=FLAT Exec_Flag=off ;
Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=off ;
Exec OBC Calib_File Readout=on Instrument_name=0HS TYPE=SKY input_frame=$FRAMEIDO

},

Exec TSC TelDrive Motor=ON Coord=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX Direction=TSC ;

Exec TSC AG Readout=0N D_TYPE=0BJ EXPOSURE=3000 BINNING=11 CAL_SKY=0FF CAL_DARK=0FF CAL_FLAT=0FF X1=32 Y1=32 X2=410 Y2=410 ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !'VGWD.DISP.AG] ;

Exec TSC AG Readout=0FF ;

Exec VGW REGION_SelectION V_LAN_DATA=AG ;

Exec TSC AG Readout=0N D_TYPE=0BJ EXPOSURE=!VGWQ.AGE.EXPTIME BINNING=11 CAL_SKY=OFF CAL_DARK=0FF CAL_FLAT=OFF X1=!VGWQ.AGE.X1 Y1=!\
VGWQ.AGE.Y1 X2=!VGWQ.AGE.X2 Y2=!VGWQ.AGE.Y2 ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec VGW AG_GUIDE_Area_SelectION Motor=0N ;

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!VGWQ.AGG1.X1 Y1=!VGWQ.AGG1.Y1 X2=!VGWQ.AGG1.X2 Y2=!VGWQ.AGG1.Y2 I_\
SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Current Calc_Region=1 ;

Exec TSC AG_Tracking Motor=0N Calc_Region=1 ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
Exec 0OBS Check_Status Mode=AND Timeout=0060 Ni=[AG.AGiDX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;
Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=on ;

Exec OBC Pipeline Readout=on Instrument_name=0HS input_frame=$FRAMEID1 output_frame=$FRAMEID3 ,
Exec OHS SLIT X=$SLITX ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;
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Exec
Exec

Exec

Exec
Exec
Exec
Exec

TSC
0BS
0BS

Pipeline Readout=on Instrument_name=0HS input_frame=$FRAMEID2 output_frame=$FRAMEID4
Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=off ;

DIRECT_TELESCOPE_MOVE motor=on instrument_name=0HS input_frame=[$FRAMEID3 $FRAMEID4] ;

AG_TRACKING MOTOR=OFF CALC_REGION=1 ;

AG_Centroid Readout=0FF Calc_Region=1 ;

ConvSecRADEC RASEC=(!0BCQ.0HS.PIXDIF.X % 0.115) DECSEC=(!0BCQ.O0HS.PIXDIF.Y * -0.115) RABASE=$RA DECBASE=$DEC ;
AG_GetOffset F_Select=CS RA_REL=(!0BCQ.0HS.PIXDIF.X * 0.115) DEC_REL=(!0BCQ.0HS.PIXDIF.Y * -0.115) AZ=Q@STATUS EL=QSTATUS \

ROTATOR=QSTATUS PROBET=@STATUS ORIGIN_X1=@STATUS ORIGIN_Y1=Q@STATUS CENTROID_X1=@STATUS CENTROID_Y1=Q@STATUS CENTROID_X2=@STATUS CEN\
TROID_Y2=Q@STATUS ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Yi1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec
Exec
Exec
Exec
Exec
Exec
Exec
Exec

0BS
TSC
TSC
0BS
0BS
0BS
0BS
0BS

Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;
AG_Tracking Motor=0ON Cacl_Region=1 ;

Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AGiDY -300.0 +300.0] ;
Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;
Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

:MAIN_END

:END

</Command>

SETUPFIELD _AG.sk

<Header>
OBE_ID=0HS
OBE_MODE=CS_SPECTROSCOPY
COMMAND=SetupField_AG
SCRIPT_ID=SETUPFIELD_AG.sk
DISPATCHER_VER=1.0
OBCP_VER=1.0
DATE=1999.03.15
AUTHOR=George

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="0BJECT"

RA=!STATS.RA

DEC=!STATS.DEC
EQUINOX=2000.0
RA_AG=!STATS.RA
DEC_AG=!STATS.DEC
EQUINOX_AG=2000.0
EXPTIME_AG=!VGWQ.AGE.EXPTIME
INSROT=-90.0

EXPTIME=nop

SLITX=nop

SLITY=nop

SLITXOPEN=100

FILTER=nop

NSAMPLE=NOP

NFRAME=1
FRAMEIDO=&Get_F_NO[OHS Al
FRAMEID1=&Get_F_NO[OHS Al
FRAMEID2=&Get_F_NO[OHS A]
FRAMEID3=4Get_F_NO[OHS Q]
FRAMEID4=4Get_F_NO[OHS QI
I_BOTTOM=2800

SKY_P0S=15
</Default_Parameter>

<Command>
:START

{
Exec
Exec
Exec
Exec
3,
{
Exec
Exec
Exec
Exec
Exec
Y
Exec
Exec

AB=+0.000 ;

OHS
OHS
OHS
OHS

TSC
TSC
TSC
TSC
TSC

0BS
TSC

FILTER SELECT=$FILTER ;

SLIT X=$SLITXOPEN ;

SLIT Y=$SLITY ;

HAWAII EXPTIME=$EXPTIME OBJECT=$0BJECT DATTYPE=TEST DATASET=$DATASET_ID NSAMPLE=$NSAMPLE ;

AG_Tracking Motor=0FF Calc_Region=1 ;

AG_Centroid Readout=0FF Calc_Region=1 ;

AG Readout=0FF ,

InsRot Motor=0N TELESCOPE=LINK Coord=ABS POSITION=$INSROT F_Select=CS ,
TelDrive Motor=0ON Coord=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX Direction=TSC ,

Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;
AGSH_Probe Motor=0N Coord=ABS RA=$RA_AG DEC=$DEC_AG EQUINOX=$EQUINOX_AG F_Select=CS PMRA=000.0000 PMDEC=000.0000 E=0FF AN\

#Exec TSC AG_Parts Motor=0N Shutter=0PEN ;

Exec OBS ConvSecRADEC RASEC=0.0 DECSEC=$SKY_POS RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

:MAIN_START
Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEIDO INTEG=GO ;
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Exec
Exec
Exec
Exec
Exec
3,

Exec
Exec
Exec
Exec
Exec
Exec

GE.Y1 X2=

Exec
Exec
Exec

0BC
0BC
0BC
0BC
0BC

TSC
TSC
0BS
TSC
VGW
TSC

0BS
VGW
TSC

Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=BIAS Exec_Flag=off ;
Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=DARK Exec_Flag=off ;
Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=FLAT Exec_Flag=off ;
Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=off ;
Calib_File Readout=on Instrument_name=0HS TYPE=SKY input_frame=$FRAMEIDO

TelDrive Motor=0N Coord=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX Direction=TSC ;

AG Readout=0N D_TYPE=0BJ EXPOSURE=3000 BINNING=11 CAL_SKY=0FF CAL_DARK=0FF CAL_FLAT=0FF X1=32 Y1=32 X2=410 Y2=410 ;
Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

AG Readout=0FF ;

REGION_SelectION V_LAN_DATA=AG ;

AG Readout=0N D_TYPE=0BJ EXPOSURE=$EXPTIME_AG BINNING=11 CAL_SKY=0FF CAL_DARK=0FF CAL_FLAT=0FF X1=!VGWQ.AGE.X1 Y1=!VGWQ.A\
1VGWQ. AGE. X2 Y2=1VGWQ.AGE.Y2 ;

Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

AG_GUIDE_Area_SelectION Motor=0N ;

AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!VGWQ.AGG1.X1 Y1=!VGWQ.AGG1.Y1 X2=!VGWQ.AGG1.X2 Y2=!VGWQ.AGG1.Y2 I_\

SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec
Exec
Exec

Exec
Exec
Exec
Exec
Exec

Exec
Exec
Exec
Exec

Exec

Exec
Exec

Exec

Exec
Exec
Exec
Exec

0BS
TSC
TSC

0BS
0BS
0BS
0BS
0BS

OHS
0BC
0BC
OHS
OHS

0BC
0BC

0BC

TSC
TSC
0BS
0BS

Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
AG_Origin Mode=Current Calc_Region=1 ;
AG_Tracking Motor=0ON Calc_Region=1 ;

Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;
Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;
Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=on ;
Pipeline Readout=on Instrument_name=0HS input_frame=$FRAMEID1 output_frame=$FRAMEID3 ,
SLIT X=$SLITX ;

HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Pipeline Readout=on Instrument_name=0HS input_frame=$FRAMEID2 output_frame=$FRAMEID4
Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=off ;

DIRECT_TELESCOPE_MOVE motor=on instrument_name=0HS input_frame=[$FRAMEID3 $FRAMEID4] ;

AG_TRACKING MOTOR=0OFF CALC_REGION=1 ;

AG_Centroid Readout=0FF Calc_Region=1 ;

ConvSecRADEC RASEC=(!0BCQ.OHS.PIXDIF.X * 0.115) DECSEC=(!0BCQ.O0HS.PIXDIF.Y * -0.115) RABASE=$RA DECBASE=$DEC ;
AG_GetOffset F_Select=CS RA_REL=(!0BCQ.0HS.PIXDIF.X * 0.115) DEC_REL=(!0BCQ.0HS.PIXDIF.Y * -0.115) AZ=@STATUS EL=Q@STATUS \

ROTATOR=QSTATUS PROBET=QSTATUS ORIGIN_X1=@STATUS ORIGIN_Y1=Q@STATUS CENTROID_X1=QSTATUS CENTROID_Y1=Q@STATUS CENTROID_X2=@STATUS CEN\
TROID_Y2=Q@STATUS ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec
Exec
Exec
Exec
Exec
Exec
Exec
Exec

0BS
TSC
TSC
0BS
0BS
0BS
0BS
0BS

Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;
AG_Tracking Motor=0N Cacl_Region=1 ;

Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;
Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Check_Status Mode=AND Timeout=0060 Ni1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;
Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

:MAIN_END

:END

</Command>

SETUPFIELD _VGW.sk

<Header>
OBE_ID=0HS
OBE_MODE=CS_SPECTROSCOPY
COMMAND=SetupField_VGW
SCRIPT_ID=SETUPFIELD_VGW.sk
DISPATCHER_VER=1.0
OBCP_VER=1.0
DATE=1999.03.15
AUTHOR=George

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="0BJECT"
RA=!STATS.RA
DEC=!STATS.DEC
EQUINOX=2000.0
AG_SELECT=MANUAL
INSROT=-90.0
EXPTIME=nop
SLITX=nop

SLITY=nop
SLITXOPEN=100
FILTER=nop
NSAMPLE=NOP
NFRAME=1
FRAMEIDO=4Get_F_NO[OHS Al
FRAMEID1=&Get_F_NO[OHS A]
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FRAMEID2=%Get_F_NO[OHS A]
FRAMEID3=&Get_F_NO[OHS Q]
FRAMEID4=&Get_F_NO[OHS Q]
I_BOTTOM=2800

SKY_P0S=15
</Default_Parameter>

<Command>
:START

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITXOPEN ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII EXPTIME=$EXPTIME OBJECT=$0BJECT DATTYPE=TEST DATASET=$DATASET_ID NSAMPLE=$NSAMPLE ;

},

{

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

Exec TSC AG Readout=0FF ,

Exec TSC InsRot Motor=0N TELESCOPE=LINK Coord=ABS POSITION=$INSROT F_Select=CS ,

Exec TSC TelDrive Motor=0ON Coord=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX Direction=TSC ,

Exec VGW Ag_Auto_Select Motor=0ON EQUINOX=$EQUINOX RA=$RA DEC=$DEC F_Select=CS Probe_RA=$RA Probe_DEC=$DEC AG_PA=0.0 Probe_R=0.0 Pr\
obe_THETA=000.0 Probe_X=0.0 Probe_Y¥=0.0 Select_Mode=$AG_SELECT DSS_Mode=0N AG_Area=AG1l Instrument=0HS ,

Exec OBS Check_Status Mode=AND Timeout=0180 N1=[STATS.ROTDIF -0.005 +0.005] ;

Exec TSC AGSH_Probe Motor=0N Coord=ABS RA=!VGWQ.AGP.ABS.RA DEC=!VGWQ.AGP.ABS.DEC EQUINOX=$EQUINOX F_Select=CS PMRA=000.0000 PMDEC=\
000.0000 E=0FF ANAB=+0.000 ;

#Exec TSC AG_Parts Motor=0N Shutter=0PEN ;

Exec OBS ConvSecRADEC RASEC=0.0 DECSEC=$SKY_POS RABASE=$RA DECBASE=$DEC ;
Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

:MAIN_START

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEIDO INTEG=GO ;

{

Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=BIAS Exec_Flag=off ;
Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=DARK Exec_Flag=off ;
Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=FLAT Exec_Flag=off ;
Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=off ;
Exec OBC Calib_File Readout=on Instrument_name=0HS TYPE=SKY input_frame=$FRAMEIDO

},

Exec TSC TelDrive Motor=0ON Coord=ABS RA=$RA DEC=$DEC EQUINOX=$EQUINOX Direction=TSC ;

Exec TSC AG Readout=0N D_TYPE=0BJ EXPOSURE=3000 BINNING=11 CAL_SKY=0FF CAL_DARK=OFF CAL_FLAT=0FF X1=32 Y1=32 X2=410 Y2=410 ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG Readout=0FF ;

Exec VGW REGION_SelectION V_LAN_DATA=AG ;

Exec TSC AG Readout=0ON D_TYPE=0BJ EXPOSURE=!VGWQ.AGE.EXPTIME BINNING=11 CAL_SKY=OFF CAL_DARK=0FF CAL_FLAT=0FF X1=!VGWQ.AGE.X1 Yi=!\
VGWQ.AGE.Y1 X2=!VGWQ.AGE.X2 Y2=!VGWQ.AGE.Y2 ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec VGW AG_GUIDE_Area_SelectION Motor=0N ;

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!VGWQ.AGG1.X1 Y1=!VGWQ.AGG1.Y1 X2=!VGWQ.AGG1.X2 Y2=!1VGWQ.AGG1.Y2 I_\
SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !'VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Current Calc_Region=1 ;

Exec TSC AG_Tracking Motor=0N Calc_Region=1 ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;
Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;
Exec 0OBS Check_Status Mode=AND Timeout=0060 Ci=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=on ;
Exec OBC Pipeline Readout=on Instrument_name=0HS input_frame=$FRAMEID1 output_frame=$FRAMEID3 ,
Exec OHS SLIT X=$SLITX ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Exec OBC Pipeline Readout=on Instrument_name=0HS input_frame=$FRAMEID2 output_frame=$FRAMEID4
Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=off ;

Exec OBC DIRECT_TELESCOPE_MOVE motor=on instrument_name=0HS input_frame=[$FRAMEID3 $FRAMEID4] ;

Exec TSC AG_TRACKING MOTOR=0FF CALC_REGION=1 ;

Exec TSC AG_Centroid Readout=0FF Calc_Region=1 ;

Exec 0BS ConvSecRADEC RASEC=(!0BCQ.OHS.PIXDIF.X * 0.115) DECSEC=(!0BCQ.OHS.PIXDIF.Y * -0.115) RABASE=$RA DECBASE=$DEC ;

Exec 0OBS AG_GetOffset F_Select=CS RA_REL=(!0BCQ.0HS.PIXDIF.X * 0.115) DEC_REL=(!0BCQ.0HS.PIXDIF.Y * -0.115) AZ=Q@STATUS EL=QSTATUS \
ROTATOR=@STATUS PROBET=@STATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=QSTATUS CENTROID_X1=Q@STATUS CENTROID_Y1=Q@STATUS CENTROID_X2=@STATUS CEN\
TROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=0N Cacl_Region=1 ;

Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 Ci=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

:MAIN_END

:END
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</Command>

SETUPSPEC.sk

<Header>

OBE_ID=0HS
OBE_MODE=CS_SPECTROSCOPY
COMMAND=SetupSpec
SCRIPT_ID=SETUPSPEC.sk
DISPATCHER_VER=1.0
OBCP_VER=1.0

DATE=1999.06.18
AUTHOR=George/Iwamuro/TAGUCHI
</Header>

<Default_Parameter>
DATASET_ID="DS0000"
OBJECT="FIELDCHECK"
EXPTIME=NOP

FILTER=NQOP

SLITX=5

SLITY=NOP

NSAMPLE=NOP

NFRAME=1
FRAMEID1=§Get_F_NO[OHS Al
FRAMEID2=gGet_F_NO[OHS A]
FRAMEID3=&Get_F_NO[OHS Q]
FRAMEID4=§Get_F_NO[OHS Q]
DX=0.0

DY=50.0

PA=(-90.0 - !TSCL.INSROTPA )
</Default_Parameter>

<Command>
:START

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=TEST PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID ;\

Exec OBS CALC SIN_ARG=$PA COS_ARG=$PA TAN_ARG=$PA ;

:MAIN_START

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec OBS CONVSECRADEC RASEC=(0.116 * !STATOBS.COS * $DX - 0.116 * !STATOBS.SIN * $DY ) DECSEC=(-0.116 * !STATOBS.SIN * $DX - 0.116\
* !STATOBS.COS * $DY ) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.116 * !STATOBS.COS * $DX - 0.116 * !STATOBS.SIN * $DY ) DEC_REL=(-0.116 * !STATOBS.SIN\
* $DX - 0.116 * !STATOBS.COS * $DY ) AZ=QSTATUS EL=Q@STATUS ROTATOR=QSTATUS PROBET=@STATUS ORIGIN_X1=@STATUS ORIGIN_Y1=@STATUS CEN\
TROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=QSTATUS CENTROID_Y2=QSTATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=@STATUS ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=ON Cacl_Region=1 ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

{

Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=BIAS Exec_Flag=off ;
Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=DARK Exec_Flag=off ;
Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=FLAT Exec_Flag=off ;
Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=off ;
Exec OBC Calib_File Readout=on Instrument_name=0HS TYPE=SKY input_frame=$FRAMEID1 H

},

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec OBS CONVSECRADEC RASEC=(-0.116 * !STATOBS.COS * $DX + 0.116 * !STATOBS.SIN * $DY ) DECSEC=(0.116 * !STATOBS.SIN * $DX + 0.116\
* 1STATOBS.COS * $DY ) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=(-0.116 * !STATOBS.COS * $DX + 0.116 * !STATOBS.SIN * $DY ) DEC_REL=(0.116 * !STATOBS.SIN\
* $DX + 0.116 * !STATOBS.COS * $DY ) AZ=Q@STATUS EL=QSTATUS ROTATOR: TATUS PROBET=Q@STATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=Q@STATUS CEN\
TROID_X1=@STATUS CENTROID_Y1=QSTATUS CENTROID_X2=@STATUS CENTROID_Y2=QSTATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=QSTATUS ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0N Cacl_Region=1 ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=on ;
Exec OBC Pipeline Readout=on Instrument_name=0HS input_frame=$FRAMEID2 output_frame=$FRAMEID3 ;

Exec OBC Pipeline_Parameter_Exec_Flag Motor=on Instrument_name=0HS TYPE=SKY Exec_Flag=off ;
Exec OBC Pipeline Readout=on Instrument_name=0HS input_frame=$FRAMEID2 output_frame=$FRAMEID4 ;

Exec OBC DIRECT_TELESCOPE_MOVE motor=on instrument_name=0HS input_frame=[$FRAMEID3 $FRAMEID4] ;

Exec TSC AG_Tracking Motor=0FF Calc_Region=1 ;

Exec OBS CONVSECRADEC RASEC=(0.116 * !STATOBS.COS * !0BCQ.OHS.PIXDIF.X - 0.116 * !STATOBS.SIN * !0BCQ.OHS.PIXDIF.Y ) DECSEC=(-0.11\
6 * !STATOBS.SIN * !OBCQ.OHS.PIXDIF.X - 0.116 * !STATOBS.COS * !0BCQ.OHS.PIXDIF.Y ) RABASE=!STATS.RA DECBASE=!STATS.DEC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.116 * !STATOBS.COS * !0BCQ.OHS.PIXDIF.X - 0.116 * !STATOBS.SIN * !OBCQ.O0HS.PIXDIF.Y ) \
DEC_REL=(-0.116 * !STATOBS.SIN * !0BCQ.OHS.PIXDIF.X - 0.116 * !STATOBS.COS * !0BCQ.OHS.PIXDIF.Y ) AZ=@STATUS EL=QSTATUS ROTATOR=@S\
TATUS PROBET=Q@STATUS ORIGIN_X1=@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=QSTATUS CENTROID_Y2=@\
STATUS ;
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Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=Q@STATUS ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=ON Cacl_Region=1 ;

:MAIN_END

:END
</Command>
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E.2.10 CS_SPECTROSCOPY2
GETOBJECT.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_SPECTROSCOPY2
COMMAND=GetObject
SCRIPT_ID=GETOBJECT.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999. 05.28
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=10.0

PA=(-90.0 - !TSCL.INSROTPA )
OBJECT="OBJECT"

EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=4GET_F_NO[OHS A 6]
FRAMEID2=4GET_F_NO[OHS A 6]
I_BOTTOM=2800

EQUINOX=NOP
INSROT=NOP
</Default_Parameter>

<Command>

:START

Exec OBS CALC SIN_ARG=$PA COS_ARG=$PA TAN_ARG=$PA ;

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=OBJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\
¥,

{

Exec TSC AG_TRACKING MOTOR=OFF ;

#POS1

Exec OBS CONVSECRADEC RASEC=(0.5 * $DITH * !STATOBS.SIN ) DECSEC=(0.5 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.5 * $DITH * !STATOBS.SIN ) DEC_REL=(0.5 * $DITH * !STATOBS.COS ) AZ=QSTATUS EL=@STATUS\
ROTATOR=Q@STATUS PROBET=QSTATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CE\
NTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=ON Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

}s

:MAIN_START

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S2

Exec OBS CONVSECRADEC RASEC=(-1.0 * $DITH * !STATOBS.SIN ) DECSEC=(-1.0 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.D\
EC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=(-1.0 * $DITH * !STATOBS.SIN ) DEC_REL=(-1.0 * $DITH * !STATOBS.COS ) AZ=Q@STATUS EL=Q@STAT\
US ROTATOR=Q@STATUS PROBET=QSTATUS ORIGIN_X1=QSTATUS ORIGIN_Y1=@STATUS CENTROID_X1=QSTATUS CENTROID_Y1=QSTATUS CENTROID_X2=QSTATUS \
CENTROID_Y2=@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=ON Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0SO

Exec OBS CONVSECRADEC RASEC=(0.5 * $DITH * !STATOBS.SIN ) DECSEC=(0.5 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.5 * $DITH * !STATOBS.SIN ) DEC_REL=(0.5 * $DITH * !STATOBS.COS ) AZ=@STATUS EL=@STATUS\
ROTATOR=@STATUS PROBET=@STATUS ORIGIN_X1=@STATUS ORIGIN_Y1=Q@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CE\
NTROID_Y2=@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;
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Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1
Exec TSC AG_Tracking Motor=0N Cacl_Region=1 ;

:MAIN_END

:END
</Command>

GETSTANDARD.sk

<Header>

OBE_ID=0HS

OBE_MODE=CS_SPECTROSCOPY2
COMMAND=GetStandard
SCRIPT_ID=GETSTANDARD.sk
SCRIPT_AUTHOR=MOTOHARA/IWAMURO/George
SCRIPT_UPDATE=1999.05.28
DISPATCHER_VERSION=1.0

</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=10.0

PA=(-90.0 - !TSCL.INSROTPA )
OBJECT="STANDARD"
EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=§GET_F_NO[OHS A 6]
FRAMEID2=&GET_F_NO[OHS A 6]
I_BOTTOM=2800

#dummy

RA=NOP

DEC=NOP

EQUINOX=NOP

INSROT=NOP
</Default_Parameter>

<Command>

:START

Exec 0BS CALC SIN_ARG=$PA COS_ARG=$PA TAN_ARG=$PA ;

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=STANDARD_STAR PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DAT\
ASET_ID ;

3,

{

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S1

Exec OBS CONVSECRADEC RASEC=(0.5 * $DITH * !STATOBS.SIN ) DECSEC=(0.5 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.5 * $DITH * !STATOBS.SIN ) DEC_REL=(0.5 * $DITH * !STATOBS.COS ) AZ=Q@STATUS EL=@STATUS\
ROTATOR=Q@STATUS PROBET=QSTATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=Q@STATUS CENTROID_Y1=Q@STATUS CENTROID_X2=@STATUS CE\
NTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELQUT DEC=!STATOBS.DECRELQOUT ;

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=ON Cacl_Region=1 ;

#Exec 0BS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

}

:MAIN_START

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S2

Exec OBS CONVSECRADEC RASEC=(-1.0 * $DITH * !STATOBS.SIN ) DECSEC=(-1.0 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.D\
EC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=(-1.0 * $DITH % !STATOBS.SIN ) DEC_REL=(-1.0 * $DITH * !STATOBS.COS ) AZ=Q@STATUS EL=Q@STAT\
US ROTATOR=@STATUS PROBET=QSTATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=@STATUS CENTROID_Y1=Q@STATUS CENTROID_X2=@STATUS \
CENTROID_Y2=QSTATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0N Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0SO

Exec OBS CONVSECRADEC RASEC=(0.5 * $DITH * !STATOBS.SIN ) DECSEC=(0.5 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\
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Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.5 * $DITH * !STATOBS.SIN ) DEC_REL=(0.5 * $DITH * !STATOBS.COS ) AZ=@STATUS EL=Q@STATUS\
ROTATOR=@STATUS PROBET=@STATUS ORIGIN_X1=@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CE\
NTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=0N Cacl_Region=1 ;

:MAIN_END

:END
</Command>
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E.2.11

CS_SPECTROSCOPY2SKY?2

GETOBJECT.sk

<Header>

OBE_ID=0HS

OBE_MODE=

CS_SPECTROSCOPY2SKY2

COMMAND=GetObject
SCRIPT_ID=GETOBJECT.sk
SCRIPT_AUTHOR=IWAMURO
SCRIPT_UPDATE=1999.06.08
DISPATCHER_VERSION=1.0
</Header>

<Default_

Parameter>

DATASET_ID="DS0000"
DITH=10.0

PA=(-90.0 - !TSCL.INSROTPA )
OBJECT="0BJECT"

EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6

FRAMEID1=,
FRAMEID2=
FRAMEID3=,
FRAMEID4=
I_BOTTOM=

&GET_F_NO[OHS A 6]
&GET_F_NO[OHS A 6]
&GET_F_NO[OHS A 6]
4GET_F_NO[OHS A 6]
2800

DRA_SKY=180.0;
DDEC_SKY=180.0;

#dummy
RA=NOP
DEC=NOP

EQUINOX=NOP
INSROT=NOP
</Default_Parameter>

<Command>

:START
Exec 0BS
{

Exec OHS
Exec OHS
Exec OHS
Exec OHS
},

{

Exec TSC
#P0S1
Exec OBS

Exec 0BS

ROTATOR=

CALC SIN_ARG=$PA COS_ARG=$PA TAN_ARG=$PA ;
FILTER SELECT=$FILTER ;
SLIT X=$SLITX ;

SLIT Y=$SLITY ;
HAWAII OBJECT=$0BJECT DATTYPE=0BJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\

AG_TRACKING MOTOR=OFF ;
CONVSECRADEC RASEC=(0.5 * $DITH * !STATOBS.SIN ) DECSEC=(0.5 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

AG_GetOffset F_Select=CS RA_REL=(0.5 * $DITH * !STATOBS.SIN ) DEC_REL=(0.5 * $DITH * !STATOBS.COS ) AZ=QSTATUS EL=Q@STATUS\
@STATUS PROBET=@STATUS ORIGIN_X1=@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=Q@STATUS CE\

NTROID_Y2=@STATUS ;

Exec TSC
Exec TSC

TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT
AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\

ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec 0BS
Exec TSC
Exec TSC

Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;
AG_Tracking Motor=0N Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
#Exec 0BS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

};

:MAIN_START

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#SKY1

Exec OBS CONVSECRADEC RASEC=($DRA_SKY + $DITH * 0.5 ) DECSEC=($DDEC_SKY + $DITH * 0.5 ) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Exec TSC TELDRIVE COORD=REL RA=(!STATOBS.RARELOUT * -1.0) DEC=(!STATOBS.DECRELOUT * -1.0) ;

#P0S2

Exec OBS CONVSECRADEC RASEC=(-1.0 * $DITH * !STATOBS.SIN ) DECSEC=(-1.0 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.D\
EC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=(-1.0 * $DITH * !STATOBS.SIN ) DEC_REL=(-1.0 * $DITH * !STATOBS.COS ) AZ=Q@STATUS EL=Q@STAT\
US ROTATOR=Q@STATUS PROBET=Q@STATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=Q@STATUS CENTROID_Y1=@STATUS CENTROID_X2=QSTATUS \
CENTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC

AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\

ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec 0BS
Exec TSC
Exec TSC

Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1
AG_Tracking Motor=0ON Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
#Exec 0BS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS
Exec TSC

HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO
AG_TRACKING MOTOR=OFF ;
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#SKY2

Exec OBS CONVSECRADEC RASEC=($DRA_SKY - $DITH * 0.5 ) DECSEC=($DDEC_SKY - $DITH * 0.5 ) RABASE=$RA DECBASE=$DEC

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;

Exec TSC TELDRIVE COORD=REL RA=(!STATOBS.RARELOUT * -1.0) DEC=(!STATOBS.DECRELOUT * -1.0) ;

#P0SO

Exec OBS CONVSECRADEC RASEC=(0.5 * $DITH * !STATOBS.SIN ) DECSEC=(0.5 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.5 * $DITH * !STATOBS.SIN ) DEC_REL=(0.5 * $DITH * !STATOBS.COS ) AZ=QSTATUS EL=Q@STATUS\
ROTATOR=Q@STATUS PROBET=QSTATUS ORIGIN_X1=@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=Q@STATUS CENTROID_Y1=Q@STATUS CENTROID_X2=@STATUS CE\
NTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec 0OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=ON Cacl_Region=1 ;

:MAIN_END

:END
</Command>
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E.2.12 CS_SPECTROSCOPY4
GETOBJECT.sk

<Header>

OBE_ID=0HS
OBE_MODE=CS_SPECTROSCOPY4
COMMAND=GetObject
SCRIPT_ID=GETOBJECT.sk
SCRIPT_AUTHOR=MOTOHARA, IWAMURO
SCRIPT_UPDATE=1999.05.28
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=10.0

PA=(-90.0 - !TSCL.INSROTPA )
OBJECT="O0BJECT"

EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=&GET_F_NO[OHS A 6]
FRAMEID2=4GET_F_NO[OHS A 6]
FRAMEID3=&GET_F_NO[OHS A 6]
FRAMEID4=&GET_F_NO[OHS A 6]
I_BOTTOM=2800

#dummy

RA=NOP

DEC=NOP

EQUINOX=NOP

INSROT=NOP
</Default_Parameter>

<Command>

: START

Exec OBS CALC SIN_ARG=$PA COS_ARG=$PA TAN_ARG=$PA ;

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=0BJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\
3,

{

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S1

Exec OBS CONVSECRADEC RASEC=(0.6 * $DITH * !STATOBS.SIN ) DECSEC=(0.6 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.6 * $DITH * !STATOBS.SIN ) DEC_REL=(0.6 * $DITH * !STATOBS.COS ) AZ=QSTATUS EL=Q@STATUS\
ROTATOR=QSTATUS PROBET=@STATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=Q@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CE\
NTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

s

:MAIN_START

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S2

Exec OBS CONVSECRADEC RASEC=(-1.0 * $DITH * !STATOBS.SIN ) DECSEC=(-1.0 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.D\
EC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=(-1.0 * $DITH * !STATOBS.SIN ) DEC_REL=(-1.0 * $DITH * !STATOBS.COS ) AZ=Q@STATUS EL=QSTAT\
US ROTATOR=Q@STATUS PROBET=QSTATUS ORIGIN_X1=QSTATUS ORIGIN_Y1=@STATUS CENTROID_X1=QSTATUS CENTROID_Y1=QSTATUS CENTROID_X2=QSTATUS \
CENTROID_Y2=@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=ON Cacl_Region=1 ;

#Exec 0BS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=OFF ;

#P0S3

Exec OBS CONVSECRADEC RASEC=(0.8 * $DITH * !STATOBS.SIN ) DECSEC=(0.8 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.8 * $DITH * !STATOBS.SIN ) DEC_REL=(0.8 * $DITH * !STATOBS.COS ) AZ=QSTATUS EL=Q@STATUS\
ROTATOR=QSTATUS PROBET=QSTATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=Q@STATUS CENTROID_X1=QSTATUS CENTROID_Y1=Q@STATUS CENTROID_X2=Q@STATUS CE\
NTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT
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Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S4

Exec OBS CONVSECRADEC RASEC=(-1.0 * $DITH * !STATOBS.SIN ) DECSEC=(-1.0 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.D\
EC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=(-1.0 * $DITH * !STATOBS.SIN ) DEC_REL=(-1.0 * $DITH * !STATOBS.COS ) AZ=@STATUS EL=Q@STAT\
US ROTATOR=Q@STATUS PROBET=Q@STATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=Q@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS \
CENTROID_Y2=QSTATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0N Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=OFF ;

#P0SO

Exec OBS CONVSECRADEC RASEC=(0.6 * $DITH * !STATOBS.SIN ) DECSEC=(0.6 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.6 * $DITH * !STATOBS.SIN ) DEC_REL=(0.6 * $DITH * !STATOBS.COS ) AZ=Q@STATUS EL=@STATUS\
ROTATOR=Q@STATUS PROBET=QSTATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=Q@STATUS CENTROID_Y1=Q@STATUS CENTROID_X2=@STATUS CE\
NTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=ON Cacl_Region=1 ;

:MAIN_END

:END
</Command>

GETSTANDARD.sk

<Header>

OBE_ID=0HS
OBE_MODE=CS_SPECTROSCOPY4
COMMAND=GetStandard
SCRIPT_ID=GETSTANDARD.sk
SCRIPT_AUTHOR=MOTOHARA, IWAMURO
SCRIPT_UPDATE=1999.05.28
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=10.0

PA=(-90.0 - !TSCL.INSROTPA )
OBJECT="STANDARD"
EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=4GET_F_NO[OHS A 6]
FRAMEID2=4GET_F_NO[OHS A 6]
FRAMEID3=4GET_F_NO[OHS A 6]
FRAMEID4=4GET_F_NO[OHS A 6]
I_BOTTOM=2800

#dummy

RA=NOP

DEC=NOP

EQUINOX=NOP

INSROT=NOP
</Default_Parameter>

<Command>

:START

Exec OBS CALC SIN_ARG=$PA COS_ARG=$PA TAN_ARG=$PA ;

{

Exec OHS FILTER SELECT=$FILTER ;

Exec OHS SLIT X=$SLITX ;

Exec OHS SLIT Y=$SLITY ;

Exec OHS HAWAII OBJECT=$0BJECT DATTYPE=STANDARD_STAR PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DAT\
ASET_ID ;

{
Exec TSC AG_TRACKING MOTOR=OFF ;
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#P0S1
Exec OBS CONVSECRADEC RASEC=(0.6 * $DITH * !STATOBS.SIN ) DECSEC=(0.6 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.6 * $DITH * !STATOBS.SIN ) DEC_REL=(0.6 * $DITH * !STATOBS.COS ) AZ=@STATUS EL=Q@STATUS\
ROTATOR=Q@STATUS PROBET=QSTATUS ORIGIN_X1=@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=Q@STATUS CENTROID_Y1=Q@STATUS CENTROID_X2=@STATUS CE\
NTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT ;

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

}

:MAIN_START

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S2

Exec OBS CONVSECRADEC RASEC=(-1.0 * $DITH * !STATOBS.SIN ) DECSEC=(-1.0 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.D\
EC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=(-1.0 * $DITH * !STATOBS.SIN ) DEC_REL=(-1.0 * $DITH * !STATOBS.COS ) AZ=Q@STATUS EL=Q@STAT\
US ROTATOR=Q@STATUS PROBET=Q@STATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=QSTATUS \
CENTROID_Y2=@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG]

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S3

Exec OBS CONVSECRADEC RASEC=(0.8 * $DITH * !STATOBS.SIN ) DECSEC=(0.8 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.8 * $DITH * !STATOBS.SIN ) DEC_REL=(0.8 * $DITH * !STATOBS.COS ) AZ=Q@STATUS EL=@STATUS\
ROTATOR=Q@STATUS PROBET=QSTATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=Q@STATUS CENTROID_Y1=Q@STATUS CENTROID_X2=@STATUS CE\
NTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#P0S4

Exec OBS CONVSECRADEC RASEC=(-1.0 * $DITH = !STATOBS.SIN ) DECSEC=(-1.0 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.D\
EC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=(-1.0 * $DITH * !STATOBS.SIN ) DEC_REL=(-1.0 * $DITH * !STATOBS.COS ) AZ=QSTATUS EL=@STAT\
US ROTATOR=@STATUS PROBET=QSTATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=@STATUS CENTROID_Y1=Q@STATUS CENTROID_X2=@STATUS \
CENTROID_Y2=QSTATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=OFF ;

#P0SO

Exec OBS CONVSECRADEC RASEC=(0.6 * $DITH * !STATOBS.SIN ) DECSEC=(0.6 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.6 * $DITH * !STATOBS.SIN ) DEC_REL=(0.6 * $DITH * !STATOBS.COS ) AZ=QSTATUS EL=Q@STATUS\
ROTATOR: TATUS PROBET=Q@STATUS ORIGIN_X1=@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CE\
NTROID_Y2=@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0N Cacl_Region=1 ;

:MAIN_END

:END
</Command>
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<Header>

OBE_ID=0HS
OBE_MODE=CS_SPECTROSCOPY4SKY4
COMMAND=GetObject
SCRIPT_ID=GETOBJECT.sk
SCRIPT_AUTHOR=IWAMURO
SCRIPT_UPDATE=1999.06.08
DISPATCHER_VERSION=1.0
</Header>

<Default_Parameter>
DATASET_ID="DS0000"
DITH=10.0

PA=(-90.0 - !TSCL.INSROTPA )
OBJECT="OBJECT"
EXPTIME=NOP

FILTER=NOP

SLITX=NOP

SLITY=NOP

NSAMPLE=NOP

NFRAME=6
FRAMEID1=&GET_F_NO[OHS
FRAMEID2=¢GET_F _NO [OHS
FRAMEID3=4GET_F _NO[OHS
FRAMEID4=&GET_F_NO [OHS
FRAMEID5=4GET_F _NO[OHS
FRAMEID6=&GET_F_NO [OHS
FRAMEID7=&GET_F _NO [OHS
FRAMEID8=4GET_F _NO[OHS

LR
[
=

E.2.13 CS_ SPECTROSCOPY4SKY4
GETOBJECT.sk

1_BOTTOM=2800
DRA_SKY=180.0;
DDEC_SKY=180.0;

#dummy
RA=NOP
DEC=NOP

EQUINOX=NOP
INSROT=NOP
</Default_Parameter>

<Command>

: START
Exec OBS

Exec OHS
Exec OHS
Exec OHS
Exec OHS
¥,

{

Exec TSC
#POS1
Exec 0BS

Exec 0BS

ROTATOR=

CALC SIN_ARG=$PA COS_ARG=$PA TAN_ARG=$PA ;
FILTER SELECT=$FILTER ;
SLIT X=$SLITX ;

SLIT Y=$SLITY ;
HAWAII OBJECT=$0BJECT DATTYPE=OBJECT PREFIX="cisco." EXPTIME=$EXPTIME EXPMODE=NORMAL NSAMPLE=$NSAMPLE DATASET=$DATASET_ID\

AG_TRACKING MOTOR=OFF ;
CONVSECRADEC RASEC=(0.6 * $DITH * !STATOBS.SIN ) DECSEC=(0.6 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

AG_GetOffset F_Select=CS RA_REL=(0.6 * $DITH * !STATOBS.SIN ) DEC_REL=(0.6 * $DITH * !STATOBS.COS ) AZ=@STATUS EL=Q@STATUS\
@STATUS PROBET=Q@STATUS ORIGIN_X1=@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=Q@STATUS CENTROID_Y1=@STATUS CENTROID_X2=QSTATUS CE\

NTROID_Y2=Q@STATUS ;

Exec TSC
Exec TSC

TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT
AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\

ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec 0BS
Exec TSC
Exec TSC

Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1
AG_Tracking Motor=0ON Cacl_Region=1 ;

#Exec 0BS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

}

:MAIN_START

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID1 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=OFF ;

#SKY1

Exec OBS CONVSECRADEC RASEC=($DRA_SKY + $DITH * 0.5 ) DECSEC=($DDEC_SKY + $DITH * 0.5 ) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID2 INTEG=GO ;

Exec TSC TELDRIVE COORD=REL RA=(!STATOBS.RARELOUT * -1.0) DEC=(!STATOBS.DECRELOUT * -1.0) ;

#P0S2

Exec OBS CONVSECRADEC RASEC=(-1.0 * $DITH * !STATOBS.SIN ) DECSEC=(-1.0 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.D\
EC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=(-1.0 * $DITH * !STATOBS.SIN ) DEC_REL=(-1.0 * $DITH * !STATOBS.COS ) AZ=Q@STATUS EL=QSTAT\
US ROTATOR=Q@STATUS PROBET=QSTATUS ORIGIN_X1=QSTATUS ORIGIN_Y1=@STATUS CENTROID_X1=QSTATUS CENTROID_Y1=QSTATUS CENTROID_X2=QSTATUS \
CENTROID_Y2=@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC

AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\

ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec 0BS
Exec TSC
Exec TSC

Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;
AG_Tracking Motor=0N Cacl_Region=1 ;

#Exec 0BS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;
#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;
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#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID3 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#SKY2

Exec OBS CONVSECRADEC RASEC=($DRA_SKY - $DITH * 0.5 ) DECSEC=($DDEC_SKY - $DITH * 0.5 ) RABASE=$RA DECBASE=$DEC

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID4 INTEG=GO ;

Exec TSC TELDRIVE COORD=REL RA=(!STATOBS.RARELOUT * -1.0) DEC=(!STATOBS.DECRELOUT * -1.0) ;

#P0S3

Exec OBS CONVSECRADEC RASEC=(0.8 * $DITH * !STATOBS.SIN ) DECSEC=(0.8 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.8 * $DITH * !STATOBS.SIN ) DEC_REL=(0.8 * $DITH * !STATOBS.COS ) AZ=QSTATUS EL=@STATUS\
ROTATOR=@STATUS PROBET=@STATUS ORIGIN_X1=@STATUS ORIGIN_Y1=Q@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CE\
NTROID_Y2=@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0N CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec 0BS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID5 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=0FF ;

#SKY3

Exec OBS CONVSECRADEC RASEC=($DRA_SKY + $DITH * 0.25 ) DECSEC=($DDEC_SKY + $DITH * 0.25 ) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID6 INTEG=GO ;

Exec TSC TELDRIVE COORD=REL RA=(!STATOBS.RARELOUT * -1.0) DEC=(!STATOBS.DECRELOUT * -1.0) ;

#P0S4

Exec OBS CONVSECRADEC RASEC=(-1.0 * $DITH * !STATOBS.SIN ) DECSEC=(-1.0 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.D\
EC ;

Exec OBS AG_GetOffset F_Select=CS RA_REL=(-1.0 * $DITH * !STATOBS.SIN ) DEC_REL=(-1.0 * $DITH * !STATOBS.COS ) AZ=Q@STATUS EL=Q@STAT\
US ROTATOR=Q@STATUS PROBET=Q@STATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS \
CENTROID_Y2=QSTATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=0ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0N Cacl_Region=1 ;

#Exec OBS Check_Status Mode=AND Timeout=0090 N1=[AG.AG1DX -500.0 +500.0] N2=[AG.AG1DY -300.0 +300.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -350.0 +350.0] N2=[AG.AG1DY -200.0 +200.0] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

#Exec OBS Check_Status Mode=AND Timeout=0060 N1=[AG.AG1DX -250.0 +250.0] N2=[AG.AG1DY -150.0 +150.0] ;

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID7 INTEG=GO ;

Exec TSC AG_TRACKING MOTOR=OFF ;

#SKY4

Exec OBS CONVSECRADEC RASEC=($DRA_SKY - $DITH * 0.25 ) DECSEC=($DDEC_SKY - $DITH * 0.25 ) RABASE=$RA DECBASE=$DEC ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec OHS HAWAII NFRAME=$NFRAME FRAMEID=$FRAMEID8 INTEG=GO ;

Exec TSC TELDRIVE COORD=REL RA=(!STATOBS.RARELOUT * -1.0) DEC=(!STATOBS.DECRELOUT * -1.0) ;

#P0SO

Exec OBS CONVSECRADEC RASEC=(0.6 * $DITH * !STATOBS.SIN ) DECSEC=(0.6 * $DITH * !STATOBS.COS ) RABASE=!STATS.RA DECBASE=!STATS.DEC\

Exec OBS AG_GetOffset F_Select=CS RA_REL=(0.6 * $DITH * !STATOBS.SIN ) DEC_REL=(0.6 * $DITH * !STATOBS.COS ) AZ=QSTATUS EL=Q@STATUS\
ROTATOR=QSTATUS PROBET=@STATUS ORIGIN_X1=Q@STATUS ORIGIN_Y1=Q@STATUS CENTROID_X1=@STATUS CENTROID_Y1=@STATUS CENTROID_X2=@STATUS CE\
NTROID_Y2=Q@STATUS ;

Exec TSC TELDRIVE COORD=REL RA=!STATOBS.RARELOUT DEC=!STATOBS.DECRELOUT

Exec TSC AG_Centroid Readout=ON CALC_Mode=CTR Calc_Region=1 X1=!STATOBS.NEWCENTROID_X1 Y1=!STATOBS.NEWCENTROID_Y1 X2=!STATOBS.NEWC\
ENTROID_X2 Y2=!STATOBS.NEWCENTROID_Y2 I_SEIL=65535 I_BOTTOM=$I_BOTTOM ;

Exec OBS Check_Status Mode=AND Timeout=0060 C1=[VGWD.DISP.AG NE !VGWD.DISP.AG] ;

Exec TSC AG_Origin Mode=Any Calc_Region=1 X=!STATOBS.NEWORIGIN_X1 Y=!STATOBS.NEWORIGIN_Y1 ;

Exec TSC AG_Tracking Motor=0ON Cacl_Region=1 ;

:MAIN_END

:END
</Command>
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